The details of the Locations where IOCL proposes to appoint dealers for Regular and Rural retail outlets in the State of Haryana

Location SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	1	m Dimens of site (in S		Finance to be arran	ged by the applicant	Mode of selection	Fixed Fee / Min bid amount (Rs in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9Ь	10	11	12
			Regular/Ru ral	MS+HSD in Kls	Category	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs in Lakhs)	Draw of Lots/Bidding		
1	VILLAGE BAMNAULI ON MDR 138,BLOCK-BAHADURGARH	JHAJJAR	Rural	62	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
2	VILLAGE PINAGWA , ON PINAGWA TO AKBARPUR ROAD,BLOCK-PUNHANA	NUH	Rural	76	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
3	VILL JANACHOLI ON HATHIN-MANDKOLA ROAD,BLOCK-HATHIN	PALWAL	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
4	VILL GARHI BAZIDPUR, ON BHONSDI TO SILANI ROAD,BLOCK - SOHNA	GURUGRAM	Rural	75	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
5	VILL KONDAL ON AURANGABAD TO HATHIN ROAD,BLOCK-HATHIN	PALWAL	Rural	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
6	VILLAGE MANGAR,(EXCLUDING FARIDABAD- GURGAON ROAD),BLOCK-FARIDABAD	FARIDABAD	Rural	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
7	VILL KAKRALA, BLOCK-KANINA	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
8	VILLAGE BHAGDANA,BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
9	VILL BHAGTHALA ,BLOCK-BAWAL	REWARI	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
10	VILLAGE-KALBA,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
11	VILLAGE INDRI, ON SOHNA-MINDKOLA ROAD,BLOCK-INDRI	NUH	Rural	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
12	VILLAGE ATTA ON SOHNA MINDKOLA ROAD,BLOCK-INDRI	NUH	Rural	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
13	VILLAGE CHANDPUR OML,BLOCK-BALABHGARH	FARIDABAD	Rural	52	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
14	VILLAGE TUMBAHERI (SUBANA GUDIYANI ROAD),BLOCK-SALHAWAS	JHAJJAR	Rural	56	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
15	VILL JATWAS ON MAHENDERGARH DULOTH AHIR ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
16	VILLAGE: NANGAL PATHANI BLOCK-JATUSANA	REWARI	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
17	VILLAGE-ATERNA, ON MDR 131, BLOCK-BADKALI	NUH	Rural	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
18	VILL MEGHOT HALLA, BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	54	SC SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	VILL RAMGARH,BLOCK-HASSANPUR	PALWAL	Rural	60 58		CFS	35	35	1225	0		DRAW OF LOTS		
20	VILL FEROZEPUR RAJPUT, BLOCK-HATHIN	PALWAL	Rural		SC	CFS	35	35	1225	-	0	DRAW OF LOTS	0	2
21	VILLAGE PHULERA OMI.,BLOCK-FARIDABAD	FARIDABAD	Rural	60	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
22	VILL SALAMBA ON NUH- PALWAL ROAD. BLOCK-NUH	NUH	Kurai	85	SC	LFS	35	35	1225	0	0	DRAW OF LOTS	U	
23	VILLAGE GEHLAB ON HATHIN GAHLAB ROAD,BLOCK-HATHIN	PALWAL	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
24	VILLAGE AMBOLI, AMBOLI BITHLA ROAD,BLOCK-SALHAWAS	JHAJJAR	Rural	57	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
25	VILLAGE-TAIPUR ON MDR 132 (HODAL-NUH ROAD),BLOCK-NUH	NUH	Rural	90	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
26	VILL. BHUSAN KALAN, BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
27	VILL KHERA MURAR,BLOCK-BAWAL	REWARI	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
28	VILLAGE MAJRI ON MDR 136,BLOCK-BADLI	JHAJJAR	Rural	56	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
29	VILL LOHANI ON KALUWALA RAJGARH ROAD, BLOCK - KAIRU	BHIWANI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
30	BETWEEN NEW RAILWAY FATAK BAWANI KHERA AND BALIYALI MOD ON BAWANI KHERA - TOSHAM ROAD, BLOCK - BAWANI KHERA	BHIWANI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
31	BIGOWA ON MAJRA-DUBALDHAN ROAD , BLOCK - DADRI-I	CHARKHI DADRI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
32	VILLAGE NEEMRI, BLOCK - DADRI-I	CHARKHI DADRI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
33	VILLAGE CHARKHI, BLOCK - CHARKHI DADRI	CHARKHI DADRI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
34	VILLAGE BAMLA, BLOCK - BHIWANI	BHIWANI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
35	VILL. HAROLI ON RATIA - SARDULGARH ROAD (MDR 101), BLOCK - NAGPUR	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2

36	VILL. KHAJURI JATTI ON GORAKHPUR - KHAJURI ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
37	VILL BIGHAR ON DHAND ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
38	VILLAGE AHLISADAR ON KARNOLI ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
39	VILLAGE KHARAR ON MAYAR ROAD, BLOCK - HISAR-I	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
40	VILLAGE JUGIAN ON JUGIAN-MARVEL CITY ROAD , BLOCK - BARWALA	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
41	VILLAGE SULCHANI ON SULCHANI-NARNAUND ROAD, BLOCK - NARNAUND	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
42	VILLAGE BUDHAKHERA ON MDR-112, BLOCK - UKLANA	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
43	VILLAGE SUNDAWAS ON BALSAMAND SUNDAWAS ROAD, BLOCK - HISAR-II	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
44	VILLAGE BALAWAS ON HISAR TOSHAM ROAD (MDR-108), BLOCK - ADAMPUR	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
45	VILLAGE DABRA ON HISAR TOSHAM ROAD (MDR-108), BLOCK - HISAR-I	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
46	VILLAGE DAROLI ON MODAKHERA- DAROLI ROAD, BLOCK - ADAMPUR	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
47	VILLAGE JULANA ON JULANA DESHKHERA ROAD, BLOCK - JULANA	JIND	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
48	VILLAGE DOHANA KHERA NARWANA-KAKROD ROAD , BLOCK - UCHANA	JIND	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
49	VILLAGE LODHAR ON KITHANAHATHO ROAD, BLOCK - UCHANA	JIND	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
50	VILLAGE SANGHI , BLOCK - ROHTAK	ROHTAK	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
51	VILLAGE LADHOT ON KILOI ROAD, BLOCK - ROHTAK	ROHTAK	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
52	VILLAGE BAHU JAMALPUR, BLOCK - ROHTAK	ROHTAK	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
53	VILLAGE BAHU AKBARPUR, BLOCK - ROHTAK	ROHTAK	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
54	VILLAGE PANNIWALA MOTA WITHIN 3 KM FROM NH 09 JUNCTION, BLOCK - ODHAN	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
55	VILLAGE DAMDAMA ON KARIWALA ROAD, BLOCK - ELLENABAD	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
56	VILLAGE BHAWDEEN ON SANGAR ROAD, BLOCK - SIRSA	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
57	VILLAGE BAHIYA ON DUDIANWALI-SENPAL ROAD, BLOCK - RANIA	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
58	VILLAGE AMUPUR, BLOCK NISSING	KARNAL	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
59	VILLAGE BRASS, BLOCK NISSING	KARNAL	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
60	BHOJPUR (ON SAMBHLI - NISSING ROAD), BLOCK- NISSING AT CHIRAO	KARNAL	RURAL	72	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
61	VILLAGE GARHI KALAN, BLOCK GANNAUR	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
62	VILLAGE MOHAMMADPUR MAJRA, BLOCK GANNAUR	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
63	VILLAGE SARDHANA, BLOCK GANNAUR	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
64	VILLAGE JALALABAD, BLOCK GANNAUR	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
65	VILLAGE RABHRA, BLOCK GOHANA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
66	VILLAGE KHURAMPUR, BLOCK KHARKHODA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
67	VILLAGE SANDAL KALAN, BLOCK SONIPAT	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
68	VILLAGE SANPERA, BLOCK MURTHAL	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
69	VILLAGE GOPALPUR, BLOCK KHARKHODA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
70	VILLAGE MANDAURA, BLOCK KHARKHODA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
71	NASIRPUR CHOLKA, BLOCK KHARKHODA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
72	VILLAGE FATEHPUR, BLOCK KHARKHUADA	SONIPAT	RURAL	48	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
73	VILLAGE KHAMBHERA, BLOCK GUHLA	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
74	VILLAGE TARAWALI ON KHARKI GUHLA ROAD, BLOCK GUHLA	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
75	VILLAGE BAROT, BLOCK KAITHAL	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	I .	1			1	1	1	L	l	L				

76	VILLAGE GAGRARPUR, BLOCK GUHLA	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
77	VILLAGE KANGTHALI, BLOCK GUHLA	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
78	VILLAGE GEONG, BLOCK KAITHAL	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
79	VILLAGE NARAR, BLOCK KAITHAL	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
80	VILLAGE CHAHARWALA (JAGADHARI TO SADHAURA VIA PABNI),BLOCK BILASPUR	YAMUNANAGAR	RURAL	115	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
81	VILL. GATVASAN ON BORIKOTHI- PUNHANA ROAD, BLOCK-FIROZPURIHIRKA	NUH	Rural	76	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
82	VILLAGE AMIPUR,BLOCK-FARIDABAD	FARIDABAD	Rural	52	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
83	KM STONE NO. 43 TO 46 ON MDR 132 (NUH-TAURU ROAD.) ,BLOCK-NUH	NUH	Rural	125	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
84	VILLAGE NOGAON (MATENHAIL JHADLI ROAD),BLOCK-MATENHAIL	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
85	VILLAGE PATLI, LHS ON GURGAON PATAUDI ROAD, FARUKHNAGAR	GURUGRAM	Rural	147	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
86	VILLAGE DONDAL ON PUNHANA BIWAN ROAD,BLOCK-PUNHANA	NUH	Rural	190	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
87	VILLAGE MOHAMMADPUR ON WAZIRPUR FARUKHNAGAR ROAD , GURGAON	GURUGRAM	Rural	69	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
88	ON FARIDABAD - GURGAON ROAD, BETWEEN PALI POLICE CHOWKI TO MANGER POLICE POST (OML.),BLOCK-FARIDABAD	FARIDABAD	Rural	105	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
89	VILLAGE GANGOLI ON SOHNA MINDKOLA ROAD,BLOCK-INDRI	NUH	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
90	VILLAGE JAMALGARH ON PUNHANA BIWAN ROAD,BLOCK-PUNHANA	NUH	Rural	65	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
91	VILL. RAJPURA, ON HALLEY MANDEY- PALAWAS ROAD ,BLOCK-PATAUDI	GURUGRAM	Rural	90	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
92	VILLAGE JUNEHERA OML, BLOCK-BALABHGARH	FARIDABAD	Rural	52	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
93	VILLAGE: KANHARWAS, REWARI-KOSLI LINK ROAD,BLOCK-NAHAR	REWARI	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
94	VILL TIHARA, BLOCK-BAWAL	REWARI	Rural	50	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
95	VILL. BHANDOR UNCHI, ON MAHENDERGARH-ATELI ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
96	VILLAGE ASAUDHA (NH9 TO JASORKHEDI ROAD),BLOCK-BAHADURGARH	JHAJJAR	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
97	VILLAGE: GUMINA ,BLOCK-KHOL	REWARI	Rural	52	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
98	VILL ABHEYPUR ,ON DAMDAMA LAKE ROAD,BLOCK - SOHNA	GURUGRAM	Rural	120	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
99	VILLAGE MACHHGAR WITHIN 1 KM FROM NAVYUG PUBLIC SCHOOL,BLOCK-BALABHGARH	FARIDABAD	Rural	110	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
100	VILL GOELA ,BLOCK-TAURU	NUH	Rural	55	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
101	VILL PINGORE ON BAMNIKHERA TO HASSANPUR ROAD,BLOCK-HASSANPUR	PALWAL	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
102	VILL SIHA, BLOCK-HODAL	PALWAL	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
103	VILLAGE NAGINA ON BADKHALI NAGINA ROAD, BLOCK-BADKALI	NUH	Rural	105	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
104	VILL MAROLI,BLOCK-HODAL	PALWAL	Rural	62	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
105	VILL. NEEMKA ON PUNHANA - HODAL ROAD, BLOCK-PUNHANA	NUH	Rural	85	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
106	VILLAGE GULAWAD,BLOCK-HASSANPUR	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
107	VILLAGE-AJAMAD MOKUTA,BLOCK-NIZAMPUR	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
108	VILLAGE SAHUPURA,BLOCK-BALABHGARH	FARIDABAD	Rural	52	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
109	VILLAGE GULALTA ,PUNHANA SIKRAWA ROAD,BLOCK-PUNHANA	NUH	Rural	85	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
110	VILLAGE BADLI ON JHAJJAR NAJAFGARH BYPASS ROAD,BLOCK-BADLI	JHAJJAR	Rural	70	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
111	VILLAGE PIYALA, BLOCK-BALABHGARH	FARIDABAD	Rural	115	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
112	VILL BHIMSIKA,BLOCK-HATHIN	PALWAL	Rural	72	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
113	VILLAGE SHAHABAD OML,BLOCK-FARIDABAD	FARIDABAD	Rural	52	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
114	VILL REHRANA,BLOCK-PALWAL	PALWAL	Rural	55	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
115	BETWEEN 2 KM TO 10 KM FROM NH- 248 AT BHONDSI TOWARDS DAMDAM LAKE ,BLOCK - SOHNA	GURUGRAM	Rural	140	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	•								-					

_														
116	VILL ALLIKA,BLOCK-PALWAL	PALWAL	Rural	58	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
117	VILLAGE-CHHAPRA BIBIPUR,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	54	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
118	VILL RATIPUR,BLOCK-PALWAL	PALWAL	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
119	VILL ATALI, , ON NARNAUL-KANINA ROAD,BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
120	VILLAGE DEWERKHANA ON MDR-136,BLOCK-BADLI	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
121	VILLAGE YAKUBPUR ON YAKUBPUR SONDHI ROAD,BLOCK-BADLI	JHAJJAR	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
122	VILLAGE-LOHINGAKALAN,ON PUNHANA TO BODI KOTHI ROAD,BLOCK-PUNHANA	NUH	Rural	72	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
123	VILLAGE: LULA AHIR,BLOCK-NAHAR	REWARI	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
124	VILLAGE SOHDI SATNALI-DADRI ROAD,BLOCK-SATNALI	MAHENDRAGARH	Rural	80	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
125	VILLAGE CHELLAWAS , ON KANINA- ATELI ROAD, BLOCK-KANINA	MAHENDRAGARH	Rural	95	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
126	VILLAGE:BERLI KALAN, ON BERLI KALAN TO JATUSANA ROAD, BLOCK-JATUSANA	REWARI	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
127	VILLAGE-SEKA,BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
128	VILLAGE-NOLAIJA,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
129	VILL JHARLI ON MDR 130 (MATANHEIL JHARLI ROAD),BLOCK-MATENHAIL	JHAJJAR	Rural	168	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
130	VILL PARTAL ON KANINA ATELI ROAD, BLOCK-KANINA	MAHENDRAGARH	Rural	50	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
131	VILL PACHANKA, BLOCK-HATHIN	PALWAL	Rural	52	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
132	VILL. KANONDA ON MDR 138,BLOCK-BAHADURGARH	JHAJJAR	Rural	54	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
133	VILLAGE UJJIANA ON MDR 132 (NUH -HODAL ROAD) , BLOCK-UJJINA	NUH	Rural	135	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
134	VILLAGE MOZMABAD MAJRA,BLOCK-FARIDABAD	FARIDABAD	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
135	VILLAGE TATARPUR,BLOCK-PALWAL	PALWAL	Rural	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
136	VILLAGE LALWA, BLOCK-PALWAL	PALWAL	Rural	72	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
137	VILL. DHAUR, BERI - JHAJHAR ROAD,BLOCK-BERI	JHAJJAR	Rural	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
138	VILLAGE BISRU,PUNHANA - KOT ROAD ,BLOCK-PUNHANA	NUH	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
139	VILLAGE ROHAD , ON ROHAD TO JASOR KHERI ROAD, BLOCK-BAHADURGARH	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
140	VILL. KALWARI, ON MAHENDERGARH- ATELI ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
141	VILL SILARPUR, ON MAHENDERGARH-ATELI ROAD, BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
142	VILLAGE-RIWASA, MAHENDERGARH TO KURAHWATA ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
143	VILL MOHANPUR, BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
144	VILLAGE: KAUNSIWAS,BLOCK-REWARI	REWARI	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
145	VILL KHAMPURA, ON NARNAUL-KANINA ROAD, BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
146	ON HAZIPUR-SHARAHPUR ROAD BETWEEN NIWAZ NAGAR AND NH148B,BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
147	VILLAGE SEEHMA, ON NARNAUL- KANINA ROAD, BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
148	VILL PRITHVI PURA, BLOCK-ATELI	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
149	VILLAGE: JHAKHALA,BLOCK-NAHAR	REWARI	Rural	80	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
150	VILLAGE: BETWEEN KM STONE 6 TO 8 ON ASALWAS TO JHABUA ROAD, BLOCK-BAWAL	REWARI	Rural	75	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
151	VILLAGE-AKBARPUR SIROHI,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
152	VILL. SHYAMPURA , ON SATNALI- BADHRA RAOD,BLOCK-SATNALI	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
153	VILLAGE: KHARKHARA,BLOCK-DHARUHERA	REWARI	Rural	50	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
154	VILLAGE BAMDOLA,BLOCK-BADLI	JHAJJAR	Rural	56	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
155	VILL MALAI ON UTTAWAR-NUH ROAD,BLOCK-HATHIN	PALWAL	Rural	70	Open PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
_						_							_	

	T	1			1		1			1				_
156	VILL LUTAPUR,BLOCK-NARNAUL	MAHENDRAGARH	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
157	WITHIN 2 KM FROM BILASPUR CHOWK TOWARDS TAURU,ON BILASPUR TO TAURU ROAD EXCLUDING VILLAGE PATHRERI BLOCK-PATAUDI	GURUGRAM	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
158	VILL. NIMBI, ON MAHENDERGARH-DULOTH AHIR ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
159	VILLAGE PALI	FARIDABAD	Rural	107	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
160	VILL. WAZIRPUR , JHAJGARH -BERI ROAD,BLOCK-BERI	JHAJJAR	Rural	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
161	VILLAGE: KALUWAS ON NEW REWARI BY-PASS ROAD CONNECTING REWARI-NARNAUL ROAD WITH NH-71 (NEW NH-352),BLOCK-REWARI	REWARI	Rural	110	OPEN	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
162	VILLAGE GOCHHI (BERI DIGHAL ROAD),BLOCK-BERI	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
163	VILLAGE AKHERI MADANPUR (KOSLI MATENHAIL ROAD),BLOCK-MATENHAIL	JHAJJAR	Rural	63	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
164	VILLAGE MOHANPUR, ON KANINA- ATELI ROAD, BLOCK-KANINA	MAHENDRAGARH	Rural	85	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
165	VILLAGE BAJITPUR ON MDR 123 (JHAJJAR TO BADLI SIDE), BLOCK-JHAJHAR	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
166	VILLAGE LALPUR,BLOCK-FARIDABAD	FARIDABAD	Rural	55	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
167	VILL BADHRANA ,BLOCK-BAWAL	REWARI	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
168	VILLAGE BADSHAHPUR,BLOCK-FARIDABAD	FARIDABAD	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
169	VILLAGE-BASAI MEO , ON FIROZPURJHIRKA TO PAHARI ROAD,BLOCK-FIROZPURJHIRKA	NUH	Rural	165	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
170	VILL FAIZABAD, ON NARNAUL-KANINA ROAD, BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
171	VILL. NALHAR, ON NUH TO MEDICAL COLLEGE ROAD.BLOCK-NUH	NUH	Rural	85	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
172	VILL. BHAKHROLI, ON SHOLPUR-KOLGAON ROAD.BLOCK-FIROZPURJHIRKA	NUH	Rural	54	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
173	VILLAGE BADSHA ON MDR-136,BLOCK-BADLI	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
174	VILL KHERLA, ON DAMDAMA LAKE ROAD,BLOCK - SOHNA	GURUGRAM	Rural	75	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
175	VILLAGE BIRAR (KOSLI MATENHAIL ROAD),BLOCK-SALHAWAS	JHAJJAR	Rural	62	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
176	VILL. SHOBHAPUR, BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
177	VILLAGE DESALPUR,BLOCK-BAHADURGARH	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
178	VILLAGE SOLDHA ON MDR 136,BLOCK-BAHADURGARH	JHAJJAR	Rural	70	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
179	VILL KHUDANA , BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
180	VILL MALOKHRA ,BLOCK-HATHIN	PALWAL	Rural	51	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
181	VILL. BHIWAN, ON FIROZPURJHIRKA- PAHARI ROAD.BLOCK-FIROZPURJHIRKA	NUH	Rural	125	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
182	VILLAGE RURIAWAS (MATENHAIL JHADLI ROAD),BLOCK-MATENHAIL	JHAJJAR	Rural	56	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
183	VILLAGE DHAUJ,BLOCK-FARIDABAD	FARIDABAD	Rural	107	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
184	VILLAGE-DHANONDA, DADRI - KANINA ROAD, BLOCK-KANINA	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
185	VILLAGE HIRAPUR OML, BLOCK-BALABHGARH	FARIDABAD	Rural	52	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
186	VILL ISLAMPURA, BLOCK-NIZAMPUR	MAHENDRAGARH	Rural	65	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
187	VILL HAZIPUR, BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
188	VILLAGE DUBELDHAN (BERI - DADRI ROAD) ,BLOCK-BERI	JHAJJAR	Rural	70	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
189	VILL JHOOK, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
190	VILL KHIRBI ON HODAL HASSANPUR ROAD,BLOCK-HASSANPUR	PALWAL	Rural	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
191	NEW KOSLI BY PASS ROAD CONECTING KOSLI-MATENHAIL ROAD WITH KOSLI-SUBANA ROAD, BLOCK-KOSLI	REWARI	Rural	105	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
192	VILL MITARPUR, ON NARNAUL-KANINA ROAD, BLOCK-SEEHMA	MAHENDRAGARH	Rural	50	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
193	VILL GAILPUR, BLOCK-PALWAL	PALWAL	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
194	VILLAGE MANDOTHI, MANDOTHI-DABODHA ROAD,BLOCK-BAHADURGARH	JHAJJAR	Rural	56	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
195	VILLAGE: JHABUA,BLOCK-BAWAL	REWARI	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	I .	-	1		l		ı			L			L	1

196	VILL- SATAKPURI, ON PINAGAWA-SIKRAWA ROAD,BLOCK-PUNHANA	NUH	Rural	76	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
197	VILL BHALKHI ON DONGRA AHIR-MAHENDERGARH ROAD, BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
198	VILLAGE: AKERA, ON AKERA - KAPRIWAS ROAD,BLOCK-DHARUHERA	REWARI	Rural	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
199	VILLAGE GOKALGARH,ON OLD REWARI- JHAJHAR ROAD,BLOCK-REWARI	REWARI	Rural	100	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
200	VILL LIKHI ON HASSANPUR - BAMNIKHERA ROAD, BLOCK-HASSANPUR	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
201	VILLAGE CHUCHAKWAS ON TALAV ROAD,BLOCK-MATENHAIL	JHAJJAR	Rural	62	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
202	VILLAGE KABULPUR BANGAR OML,BLOCK-BALABHGARH	FARIDABAD	Rural	75	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
203	VILLAGE SARMATHLA, ON SOHNA-BALABHGARH ROAD,BLOCK - SOHNA	GURUGRAM	Rural	75	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
204	VILLAGE BERHANA (ON DIGHAL TO SAMPLA ROAD),BLOCK-BERI	JHAJJAR	Rural	50	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
205	VILL GOROTA ON HODAL KHAMBI ROAD,BLOCK-HODAL	PALWAL	Rural	60	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
206	VILL. MAHESHPUR,BLOCK-PALWAL	PALWAL	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
207	VILL CHHIRAWATA,BLOCK-PALWAL	PALWAL	Rural	57	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
208	VILL - BIROHAR, BIROHAR TO KALIAWAS ROAD,BLOCK-MATENHAIL	JHAJJAR	Rural	56	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
209	LHS ON REWARI TO KOTKASIM ROAD IN VILLAGE: KASOLA, BLOCK-REWARI	REWARI	Rural	75	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
210	WITHIN 4 KM FROM AMBEDKAR CHOWK[FIROZPURIHIRKA] TOWARDS BHIWAN ON FIROZPURIHIRKA TO PAHARI ROAD(OML FIROZPURIHIRKA), BLOCK-FIROZPURIHIRKA	NUH	Rural	125	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
211	VILL MANDKOLA ON JAINDAPUR- MANDKOLA ROAD, BLOCK-MANDKOLA	PALWAL	Rural	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
212	VILL KHAIRA ON MAHENDERGARH-BUDEEN ROAD,BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
213	VILL. BHOGIPUR, ON BHOGIPUR TO TAURU ROAD. BLOCK-TAURU	NUH	Rural	85	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
214	VILLAGE MOHNA,BLOCK-BALABHGARH	FARIDABAD	Rural	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
215	VILLAGE- JOGIPUR ON MDR 132 (HODAL-NUH ROAD.) ,BLOCK-NUH	NUH	Rural	90	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
216	VILLAGE: NATHERA,BLOCK-NAHAR	REWARI	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
217	VILLAGE: CHITAPURI , ON NH-71 TO BUDANA ROAD,BLOCK-REWARI	REWARI	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
218	VILLAGE KHAJURAKA ON PALWAL AMARPUR ROAD,BLOCK-PALWAL	PALWAL	Rural	60	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
219	VILLAGE-MARAMPUR,BLOCK-NARNAUL	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
220	VILL GWARKA,BLOCK-TAURU	NUH	Rural	85	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
221	VILL KHIJURI,BLOCK-DHARUHERA	REWARI	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
222	VILLAGE-DHOLERA, MAHENDERGARH, BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	54	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
223	VILL BHANGURI ,BLOCK-PALWAL	PALWAL	Rural	62	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
224	ON SOHNA TO DAMDAMA LAKE ROAD BETWEEN 2KM TO 4KM STONE,BLOCK - SOHNA	GURUGRAM	Rural	120	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
225	VILLAGE: ALAWALPUR,BLOCK-BAWAL	REWARI	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
226	VILLAGE-NAPLA, MAHENDERGARH,BLOCK-NIZAMPUR	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
227	VILL DULOT JAT ON NARNAUL-KANINA ROAD,BLOCK-MAHENDERGARH	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
228	VILL DUDHOLA,BLOCK-PALWAL	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
229	VILLAGE SHERPUR KHADAR OML, BLOCK-FARIDABAD	FARIDABAD	Rural	52	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
230	VILLAGE BORAKA ON HODAL PUNHANA ROAD,BLOCK-HODAL	PALWAL	Rural	60	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
231	VILLAGE NANGLA JOGIAN,BLOCK-BALABHGARH	FARIDABAD	Rural	52	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
232	VILLAGE TANDAHERI ON BERI BAHADURGARH ROAD,BLOCK-BAHADURGARH	JHAJJAR	Rural	56	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
233	VILL. NUNI KALAN, BLOCK-SEEHMA	MAHENDRAGARH	Rural	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
234	VILLAGE-AKOLI,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
235	VILLAGE BHOPANI,BLOCK-FARIDABAD	FARIDABAD	Rural	52	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	I.	-			l	L	I			L			L	

236	VILLAGE PHOPHUNDA,BLOCK-BALABHGARH	FARIDABAD	Rural	52	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
237	VILL LOHINA,BLOCK-HODAL	PALWAL	Rural	52	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
238	VILLAGE MAUJPUR OML,BLOCK-BALABHGARH	FARIDABAD	Rural	52	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
239	VILLAGE BADOLI ON PALWAL HASSANPUR ROAD,BLOCK-PALWAL	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
240	VILLAGE DEHLAKA,BLOCK-PALWAL	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
241	VILL. NAICHANA ,BLOCK-BAWAL	REWARI	Rural	80	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
242	VILL JARTHAL ,BLOCK-BAWAL	REWARI	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
243	VILLAGE-BIHARIPUR,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
244	VILLAGE LANDOLA,BLOCK-BALABHGARH	FARIDABAD	Rural	55	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
245	VILL. DOKHERA, BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
246	BETWEEN TIJARA MORE, FIROZPUR JHIRKA AND SHIV MANDIR FIROZPUR JHIRKA ON TIJARA ROAD, BLOCK-FIROZPURJHIRKA	NUH	Rural	125	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
247	VILL KHANPUR,BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
248	VILLAGE-PATHRERI, WITHIN 5 KM FROM BILASPUR CHOWK TOWARDS TAURU ON BILASPUR TO TAURU ROAD ,BLOCK-PATAUDI	GURUGRAM	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
249	VILL. NIAMATPUR, BLOCK-NAGAL CHOUDHARY	MAHENDRAGARH	Rural	53	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
250	VILLAGE: SUTHANA, REWARI BAWAL ROAD,BLOCK-BAWAL	REWARI	Rural	140	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
251	VILLAGE-CHHILRO,BLOCK-NIZAMPUR	MAHENDRAGARH	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
252	VILL DAKORA,BLOCK-HODAL	PALWAL	Rural	60	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
253	VILLAGE AULI,BLOCK-BALABHGARH	FARIDABAD	Rural	55	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
254	VILL. KULTAIPUR , ON GEHLI ROAD, BLOCK-NARNAUL	MAHENDRAGARH	Rural	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
255	VILL JAINPUR ON HATHIN-MANDKOLA ROAD, BLOCK-HATHIN	PALWAL	Rural	50	Open PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
256	VILL PHULWARI,BLOCK-HODAL	PALWAL	Rural	50	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
257	VILL. AGON, ON SHOLPUR-KOLGAON ROAD,BLOCK-FIROZPURJHIRKA	NUH	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
258	VILLAGE CHANDPUR, ON JAINDAPUR TO SEHRALA ROAD,BLOCK-PALWAL	PALWAL	Rural	70	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
259	VIILAGE SADPURA,BLOCK-FARIDABAD	FARIDABAD	Rural	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
260	VILLAGE ALAMPUR,BLOCK-FARIDABAD	FARIDABAD	Rural	52	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
261	VILL SEHRALA, BLOCK-PALWAL	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
262	VILL CHAIJU NAGAR ON PALWAL HASSANPUR ROAD ,BLOCK-PALWAL	PALWAL	Rural	49	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
263	VILL KULTAIPUR ON NARNAUL ROAD,BLOCK-NARNAUL	MAHENDRAGARH	Rural	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
264	VILL. KAPRIWAS, BLOCK-DHARUHERA	REWARI	Rural	52	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
265	VILL DEHLAWAS, BLOCK-JATUSANA	REWARI	Rural	52	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
266	VILLAGE BEDAPATTI,BLOCK-HODAL	PALWAL	Rural	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
267	VILL FEROZEPUR,BLOCK-PALWAL	PALWAL	Rural	62	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
268	VILLAGE CHADWANA (CHADWANA-KOSLI ROAD),BLOCK-MATENHAIL	JHAJJAR	Rural	56	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
269	VILL KAPOORI, BLOCK-KANINA	MAHENDRAGARH	Rural	50	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
270	VILLAGE CHHAPROLA, ON PRITHLA TO SEHRALA ROAD,BLOCK-PALWAL	PALWAL	Rural	65	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
271	VILLAGE SHAMPURA, BLOCK-ATELI	MAHENDRAGARH	Rural	50	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
272	VILL JANAULI,BLOCK-PALWAL	PALWAL	Rural	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
273	VILLAGE: NANGLI PARSAPUR ,BLOCK-BAWAL	REWARI	Rural	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
274	VILLAGE RAMALWAS, BLOCK - CHARKHI DADRI	CHARKHI DADRI	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
275	BETWEEN BHUNA INDANE GAS GODOWN & KM STONE NO. 39 ON MDR 102, RHS ON CHAINAGE, BLOCK - BHUNA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
		1					1			L	1			1

276	BETWEEN KM STONE 1 TO 3 ON MITATHAL KALUWALA RAOD, GUJRANI, BLOCK - BHIWANI	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
277	WITHIN 2 KM OF CO OPERATIVE SOCIETY BANK, DINOD ON DEVSAR - DHANI MAHU ROAD, BLOCK - BHIWANI	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
278	BETWEEN 33 KV SUB- STATION AND KM STONE NO. 8 ON BHUNA-RATIA ROAD, LHS FROM BHUNA TO RATIA, BLOCK - BHUNA	FATEHABAD	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
279	VILL. NADHORI ON NADHORI - BHUNA ROAD, BLOCK - BHUNA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
280	WITHIN 2 KM OF VILL BHAINI JATAN WATER WORKS ON BHAINI - KUNGAD ROAD, BLOCK - BAWANI KHERA	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
281	WITHIN 2KM OF MDR 124 ON SANJARWAS - RANILA ROAD, VILLAGE SANJARWAS , BLOCK - BOND	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
282	VILLAGE NATHWAN, ON RATIA TO KULLAN ROAD, BLOCK - RATIA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
283	ON FATEHABAD - NAGPUR ROAD BETWEEN KM STONE NOS. 7 & 9 (LHS) FROM FATEHABAD TO NAGPUR, BLOCK - FATEHABAD	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
284	VILLAGE BAUND KALAN ON CHARKHI DADRI - KHERRI MOD ROAD, BLOCK - BAUND KALAN	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
285	VILL KARI RUPA ON BADHRA DIGHAWA ROAD, BLOCK - BADHRA	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
286	VILLAGE PARBHUWALA ON UKLANA ROAD (MDR 112), BLOCK - UKLANA	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
287	VILL JANDWALA SOTTER ON AYALKI ROAD TOWARDS SH-21, BLOCK - NAGPUR	FATEHABAD	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
288	VILLAGE KALINGA ON KHARAK TO KALINGA ROAD , BLOCK - BHIWANI	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
289	VILLAGE NANDHA ON BADHRA TO SATNALI ROAD , BLOCK - BADHRA	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
290	VILLAGE KAPRO ON UCHANA ROAD, BLOCK - NARNAUND	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
291	VILL JHOJHUKALAN ON JHOJHUKALAN-MADHA ROAD, BLOCK - CHARKHI DADRI	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
292	VILLAGE DHARSUL KALAN , BLOCK - TOHANA	FATEHABAD	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
293	VILLAGE KUMBHA ON HANSI ROAD, BLOCK - HANSI-I	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
294	VILLAGE RAKHI SHAHPUR ON NARNAUND ROAD, BLOCK - NARNAUND	HISAR	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
295	WITHIN 2KM OF LAFARGE CEMENT FACTORY ON CHIRIYA - JHADLI ROAD, BLOCK - CHARKHI DADRI	CHARKHI DADRI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
296	VILL. BHUTHAN KALAN ON BHUTHAN - HASANGA ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
297	VILLAGE UCHANA KALAN ON UCHANA- NARNAUND ROAD, BLOCK - UCHANA	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
298	VILL. MEYOND KALAN ON MDR 102, BLOCK - JAKHAL	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
299	VILLAGE MALWALA ON MALWALA TO ALIKA ROAD (LHS FROM MALWALA TO ALIKA), BLOCK - NAGPUR	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
300	VILLAGE KUMHARIA ON GORAKHPUR- KUMHARIA ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
301	VILLAGE JALALPUR KALAN ON LINK ROAD CONNECTING JIND RAILWAY STATION ROAD AND JIND BARWALA ROAD, BLOCK - JIND	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
302	BETWEEN UNION BANK, DEWANA & K.M. STONE NO. 17 ON MDR NO. 102 (LHS ON CHAINAGE), BLOCK - JAKHAL	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
303	VILL PILANA, BLOCK - KALANAUR	ROHTAK	Rural	46	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
304	VILLAGE KHOKHA ON MIRZAPUR-CHANOT ROAD, BLOCK - HISAR-I	HISAR	Rural	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
305	VILLAGE MANGALIA ON RANIA-KHARIAN ROAD, BLOCK - RANIA	SIRSA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
306	VILLAGE LALI ON MDR NO. 101, BLOCK - RATIA	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
307	ON KHARA KHERI TO BHATTU KALAN ROAD, UPTO 2 KM FROM KHARA KHERI BUS STAND TOWARDS BHATTU, BLOCK - FATEHABAD	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
308	VILLAGE BADANPUR ON NARWANA KAKROD ROAD, BLOCK - NARWANA	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
309	VILLAGE KULLAN ON JAKHAL ROAD, BLOCK - TOHANA	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
310	VILLAGE KHUNDAN ON RATIA TO SARDULGARH ROAD, MDR-101, BLOCK - NAGPUR	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
311	VILLAGE PEGAN ON LINK ROAD TO KATWAL, BLOCK - ALEWA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
312	VILL SUNDANA, BLOCK - KALANAUR	ROHTAK	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
313	BETWEEN KM STONE 12 & 14 ON LALAUDA TO PARTAN ROAD , BLOCK - TOHANA	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
314	VILLAGE BALIANWALA ON MDR-111, BLOCK - TOHANA	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
315	ON BHATTU - CHOPTA ROAD WITHIN 3 KMS FROM RAILWAY OVER BRIDGE END POINT TOWARDS NATHUSARI CHOPTA, BLOCK - BHATTU KALAN	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2						·							

Part	316	VILLAGE BHAGSAR ON SAHUWALA-KEHARWALA ROAD, BLOCK - BADAGUDHA	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
1.00 1.00	317	VILLAGE LAKARWALI ON BADAGUDHA-KALANWALI ROAD, BLOCK - ODHAN	SIRSA	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
Part	318	VILLAGE BADALGARH, BLOCK - RATIA	FATEHABAD	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
March Marc	319	VILLAGE BHAROKHAN ON BARUWALI ROAD, BLOCK - SIRSA	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
Mathematical and all	320	VILLAGE KHARBIA ON PARBHUWALA ROAD, BLOCK - HANSI-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
1.	321		HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
Machine Mach	322		SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
No. Part P	323	VILLAGE -BHATOL RANGRAN ON HANSI-BASS ROAD, BLOCK - HANSI-II	HISAR	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
Marie Supplementation (Marie Supplementatio	324	VILLAGE KHANDA KHERI ON PETWAR ROAD, BLOCK - HANSI-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
Marie Mari	325	VILLAGE SISAR ON MUNDHAL ROAD, BLOCK - HANSI-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
Machine Mach	326	VILLAGE KUTIANA WITHIN 2 KM ON JAMAL GOGAMEDI ROAD FROM RAJSTHAN BORDER, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
MACE COUNTY OF THE PROPERTY	327	VILLAGE -JAMAWARI ON HANSI-PETWAR ROAD, BLOCK - HANSI-I	HISAR	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
No. Part P	328	VILLAGE MALAPUR ON MALAPUR- JAKHOD KHERA ROAD, BLOCK - HISAR-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
MILAGE MANAGANIAN ON MANAGAN	329	VILLAGE DOBHI ON BALSAMAND- KABREL ROAD, BLOCK - HISAR-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
Part	330	VILLAGE GORCHHI ON CHAUDHRIWAS-GORCHHI ROAD, BLOCK - HISAR-II	HISAR	Rural	46	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
MARIE RESIDENT PRIMARY RECORD RECOVER AND PRIMARY RECORD RECOVER AND PRIMARY RECORD RECOVER AND PRIMARY RECOVER RECOVER RECOVER AND PRIMARY RECOVER RECOVER AND PRIMARY RECOVER RECOVER RECOVER AND PRIMARY RECOVER RECOVER RECOVER AND PRIMARY RECOVER RECO	331	VILLAGE JAGMALWALI ON KALANWALI-DABWALI ROAD, BLOCK - ODHAN	SIRSA	Rural	46	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
Part	332	VILLAGE KHARIA ON SUNDAWAS ROAD, BLOCK - HISAR-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
SEAR REGIST SAMPLINE SAMPLINE BANDAMENTER BRIDGE, ELOCY - ADRIVED SEAR REGIST 46 Open OC 15 55 1225 12 30 DRAWOF LOTS 5 4	333	VILLAGE LUDAS ON HAU FARM ROAD, BLOCK - HISAR-II	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
15 15 15 15 15 15 15 15	334	VILLAGE SUDKAIN KHURD ON HATHO KITHANA LINK ROAD, BLOCK - NARWANA	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
## STATE STATES MAY STONE 29 AND 310 MADRE 28 PISSEN - TOSHAM ROAD, BLOCK - LOCHANA BROWN BRIGH 46 OBC 0 15 15 12 10 DRAW OF LOTS 5 4 ***STATE 138 VILLAGE RANGOL MALAN ON RETHANA RALANAT LURK RNO. BLOCK - LOCHANA BROWN BROWN BRIGH 46 OBC 0 0 0 0 0 0 0 0 0	335	VILLAGE SADALPUR ON ADAMPUR ROAD, BLOCK - ADAMPUR	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
NEW OFFICE 1800 1	336	VILLAGE KULERI ON AGROHA ROAD, BLOCK - AGROHA	HISAR	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
339 VILLAGE PRALTITA ON DIAGRITES SINGH-TO-MANA ROAD, RICKY - MARWANA RAW 46 SC CF 35 35 1225 12 30 DRAW OF LOTS 5 4	337	BETWEEN KM STONE 29 AND 33 ON MDR-108 (HISAR - TOSHAM ROAD), BLOCK - TOSHAM	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
NULGE PRILAM BUILD ON CERN JAMB ON DERN JAMB ANARMAN BOOD, RIGOX - NARMAN BUCK - NAR	338	VILLAGE MANDI KALAN ON KITHANA KALAYAT LINK ROAD, BLOCK - UCHANA	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
141 MILAGE PRIJLAN KENJERO ON KANNAKAN, BLOCK - NARWANIA BLOCK -	339	VILLAGE PIPALTHA ON DHABI TEK SINGH-TOHANA ROAD, BLOCK - NARWANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
342 VILLAGE GHOGHIAYAN ON BARDON-NAGURAH ROAD, BLOCK - KATEMANA SASA Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4	340	VILLAGE KHERI JALAB ON KHERI JALAB-NARNAUND ROAD, BLOCK - NARNAUND	HISAR	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
343 VILLAGE VAIDWALA ON SIXANDERPUR ROAD, BLOCK - SRESA SRESA RURI 46 OPEN CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 4 344 VILLAGE SANDANA ON BARWALA ROAD, BLOCK - SAFDON IND RURI 46 OBC DC 35 35 1225 12 30 DRAW OF LOTS 5 3 35 VILLAGE SANDANA ON BARWALA ROAD, BLOCK - BARWALA HSAR RURI 46 SC CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2 346 VILLAGE DURANA ON ALEWA KRULKSHETAR ROAD, BLOCK - ALEWA IND RURI 47 TEHABAD RURI 48 OPEN DC 35 35 1225 12 30 DRAW OF LOTS 5 4 37 VILLAGE WANSPUR, BLOCK - MAGPUR BETWEEN KM STONE 3 TO 7 ON KARSHNOHU TO GOU ROAD, BLOCK - SAFDON IND RURI 48 OPEN DC 35 35 1225 12 30 DRAW OF LOTS 5 4 38 ETWEEN KM STONE 3 TO 7 ON KARSHNOHU TO GOU ROAD, BLOCK - SAFDON IND RURI 48 SC CFS 35 35 1225 12 30 DRAW OF LOTS 5 4 38 DRAW OF LOTS 5 4 39 VILLAGE WANSPUR AND ROAD, MAD SUCK, MAGPUR FATEHABAD RURI 48 SC CFS 35 35 1225 12 30 DRAW OF LOTS 5 3 30 DRAW OF LOTS 5 3 31 DRAW OF LOTS 5 3 32 DRAW OF LOTS 5 3 33 DRAW OF LOTS 5 3 34 DRAW OF LOTS 5 3 35 DRAW OF LOTS 5 3 36 DRAW OF LOTS 5 3 37 DRAW OF LOTS 5 3 38 DRAW OF LOTS 5 3 39 VILL TALWARA ON KULLAN - JAKKHA ROAD, MAD SUCK, - KARRU FATEHABAD RURI 46 OPEN DC 35 35 35 1225 12 30 DRAW OF LOTS 5 4 40 DRAW OF LOTS 5 4 41 DRAW OF LOTS 5 4 41 DRAW OF LOTS 5 5 4 42 DRAW OF LOTS 5 5 4 43 DRAW OF LOTS 5 5 4 44 DRAW OF LOTS 5 5 4 45 DRAW OF LOTS 5 5 4 46 OPEN DC 35 35 35 1225 12 30 DRAW OF LOTS 5 5 4 46 OPEN DC 35 35 35 1225 12 30 DRAW OF LOTS 5 5 4 47 DRAW OF LOTS 5 5 4 48 DRAW OF LOTS 5 5 4 49 DRAW OF LOTS 5 5 4 40 DRAW OF LOTS 5 5 6	341	VILLAGE PHULIAN KHURD ON KAHNAKHERA ROAD, NARWANA, BLOCK - NARWANA	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
344 VILAGE ANCHAR KALAN ON GOHANA SAFIDON ROAD, BLOCK - SAFIDON BROWN OF LOTS 5 3 3 3 5 1225 12 30 DRAW OF LOTS 5 3 3 3 5 1225 12 30 DRAW OF LOTS 5 3 3 3 5 1225 12 30 DRAW OF LOTS 5 3 3 3 5 1225 12 30 DRAW OF LOTS 5 5 3 3 5 1225 12 30 DRAW OF LOTS 5 5 3 3 5 1225 12 30 DRAW OF LOTS 5 5 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	342	VILLAGE GHOGRIAYAN ON BARODA-NAGURAN ROAD, BLOCK - UCHANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
345 VILLAGE SANDIANA ON BARWALA BOAD, BLOCK - BARWALA 346 VILLAGE DURANA ON ALEWA-KURUKSHETRA ROAD, BLOCK - ALEWA 347 VILLAGE DURANA ON ALEWA-KURUKSHETRA ROAD, BLOCK - ALEWA 348 BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLI ROAD, BLOCK - SAFIDON 349 VILLAGE DURANA ON BARWALA BOAD, BLOCK - SAFIDON 310 DRAW OF LOTS 5 4 348 BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLI ROAD, BLOCK - SAFIDON 310 DRAW OF LOTS 5 4 349 VILLAGE DURANAWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-II 349 HISAR 340 VILLAGE DURANAWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-II 340 HISAR 341 HISAR 340 Rural 440 OBC 440 OPEN 4	343	VILLAGE VAIDWALA ON SIKANDERPUR ROAD, BLOCK - SIRSA	SIRSA	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
346 VILLAGE DURANA ON ALEWA-KURUKSHETRA ROAD, BLOCK - ALEWA IND Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 347 VILLAGE HANSPUR, BLOCK - NAGPUR 348 BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLU ROAD, BLOCK - SAFIDON IND Rural 46 OBC DC 35 35 15 1225 12 30 DRAW OF LOTS 5 3 349 VILLAGE DHIRANWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-HI HISAR Rural 46 SC CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2 350 VILL TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 351 VILL MOHAMADPUR ROHI ON BADOPAL - JHALANIA ROAD, BLOCK - FATEHABAD Rural 46 Open DC 35 35 15 1225 12 30 DRAW OF LOTS 5 4 352 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 353 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 15 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 15 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - MATHUSARI CHOPTA SRSA Rural 46 OBC CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - MATHUSARI CHOPTA SRSA Rural 46 OBC CC 1 DC 35 35 15 1225 12 30 DRAW OF LOTS 5 3	344	VILLAGE ANCHAR KALAN ON GOHANA SAFIDON ROAD, BLOCK - SAFIDON	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
347 VILLAGE HANSPUR, BLOCK - NAGPUR FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 348 BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLI ROAD, BLOCK - SAFIDON JIND Rural 46 OBC DC 35 35 1225 12 30 DRAW OF LOTS 5 3 349 VILLAGE DHIRANWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-II HISAR Rural 46 SC CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2 350 VILL TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 4 Open 35 35 1225 12 30 DRAW OF LOTS 5 3	345	VILLAGE SANDLANA ON BARWALA ROAD, BLOCK - BARWALA	HISAR	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
348 BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLI ROAD, BLOCK - SAFIDON JIND Rural 46 OBC DC 35 35 1225 12 30 DRAW OF LOTS 5 3 349 VILLAGE DHIRANWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-III HISAR Rural 46 SC CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2 350 VILL TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 351 VILL MOHAMADPUR ROHI ON BADOPAL - HALANIA ROAD, BLOCK - FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 352 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 353 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA SIRSA Rural 46 SC CC 1 CFS 35 35 1225 0 0 0 DRAW OF LOTS 5 3	346	VILLAGE DURANA ON ALEWA-KURUKSHETRA ROAD, BLOCK - ALEWA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
349 VILLAGE DHIRANWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-II HISAR Rural 46 SC CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2 350 VILL TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL 551 VILL MOHAMADPUR ROHI ON BADOPAL - HIALANIA ROAD, BLOCK - FATEHABAD 552 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 553 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 554 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 555 ABHIWANI 556 ABHIWANI 557 BHIWANI 558 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU 558 BUSHA OF LOTS 558 BUSHA OF LOTS 569 BUSHA OF LOTS 579 BUSHA OF LOTS 589 BUSHA OF LOTS 599 BUSHA OF LOTS 590 BUSHA OF LOTS 5	347	VILLAGE HANSPUR , BLOCK - NAGPUR	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
350 VILL TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL 51 VILL MOHAMADPUR ROHI ON BADOPAL - JHALANIA ROAD, BLOCK - FATEHABAD 52 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 53 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 54 Open 55 4 56 Open 57 Open 58 Open 59 Open 50 Open	348	BETWEEN KM STONE 3 TO 7 ON KARSINDHU TO GOLI ROAD, BLOCK - SAFIDON	JIND	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
351 VILL MOHAMADPUR ROHI ON BADOPAL - IHALANIA ROAD, BLOCK - FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 352 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL FATEHABAD Rural 46 Open DC 35 35 1225 12 30 DRAW OF LOTS 5 4 353 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA SIRSA Rural 46 SC CC 1 CFS 35 35 1225 0 0 DRAW OF LOTS 0 2	349	VILLAGE DHIRANWAS ON HISAR- BALSAMAND ROAD (MDR-107), BLOCK - HISAR-II	HISAR	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
352 VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL 54 OPen DC 35 35 1225 12 30 DRAW OF LOTS 5 4 353 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA SIRSA Rural 46 SC CC 1 CFS 35 35 1225 0 0 0 DRAW OF LOTS 0 2	350	VILL. TALWARA ON KULLAN - JAKHAL ROAD, MDR-102, BLOCK - JAKHAL	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
353 BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU BHIWANI Rural 46 OBC CC 1 DC 35 35 1225 12 30 DRAW OF LOTS 5 3 354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA SIRSA Rural 46 SC CC 1 CFS 35 35 1225 0 0 DRAW OF LOTS 0 2	351	VILL. MOHAMADPUR ROHI ON BADOPAL - JHALANIA ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
354 VILL SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA SIRSA Rural 46 SC CC 1 CFS 35 35 1225 0 0 DRAW OF LOTS 0 2	352	VILLAGE SHAKKARPURA ON MDR-102, BLOCK - JAKHAL	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	353	BETWEEN KM STONE 22 & 24 ON MDR 125 (KAIRU - JUI ROAD), BLOCK - KAIRU	BHIWANI	Rural	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
355 VILL RITHAL PHOGAT, BLOCK - ROHTAK Rural 46 Open PH DC 35 35 1225 12 30 DRAW OF LOTS 5 4	354	VILL. SHAHPURIA ON TARKANWALI ROAD, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
	355	VILL RITHAL PHOGAT, BLOCK - ROHTAK	ROHTAK	Rural	46	Open PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4

356	WITHIN 1 KM FROM RAJASTHAN BORDER IN VILLAGE CHILKANI DHAB , BLOCK - ELLENABAD	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
357	VILLAGE SATROD KALAN ON LADWA ROAD, BLOCK - HISAR-I	HISAR	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
358	VILLAGE MANDHAN ON SEHERWA - ISHARWAL ROAD, BLOCK - TOSHAM	BHIWANI	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
359	VIILLAGE BOHATWALA ON JIND ROAD, BLOCK - ALEWA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
360	VILL. BEHARWALA KHURD ON BEHARWALA KHURD-TALWARA KHURD ROAD, BLOCK - ELLENABAD	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
361	VILLAGE DEORAR ON JULANA-MEHAM ROAD, BLOCK - JULANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
362	VILLAGE GURTHALI, NARWANA, BLOCK - NARWANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
363	VILLAGE- KIKRAAL, KIKRAAL/SIWANI -GURERA ROAD, BLOCK - SIWANI	BHIWANI	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
364	VILLAGE JANDWALA BISHNOIAN ON JANDWALA BISHNOIAN-BHARU KHERA ROAD, BLOCK - DABWALI	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
365	VILLAGE NEHRA ON NARWANA-SAMAIN-TOHANA ROAD, BLOCK - NARWANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
366	VILLAGE BANIYANI, BLOCK - KALANAUR	ROHTAK	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
367	VILLAGE NIGANA KALAN ON TOSHAM-JUI ROAD, BLOCK - TOSHAM	BHIWANI	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
368	WITHIN 2 KM FROM ELLENABAD BYPASS TOWARDS MAMERA KALAN ROAD , BLOCK - ELLENABAD	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
369	VILLAGE UCHANA KHURD ON DHAROLI KHERA ROAD, BLOCK - UCHANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
370	VILLAGE LALIT KHERA ON JULANA-PILLUKHERA ROAD, BLOCK - JIND	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
371	WITHIN 3 KM FROM NH-9 ON SARDULGARH-DING ROAD TOWARDS DING MANDI, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
372	VILLAGE MOHANGARH ON JHANJH KALAN TO KASOON RD, BLOCK - UCHANA	JIND	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
373	VILLAGE SHAMLO KALAN ON NIDANI –GATAULLI ROAD, BLOCK - JULANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
374	VILLAGE TITOLI ON SUNDERPUR ROAD, BLOCK - ROHTAK	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
375	VILLAGE KARIDASS ON DIGHAWA BADHRA ROAD, BLOCK - BADHRA	CHARKHI DADRI	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
376	VILLAGE BAGRU KALAN ON HATT ROAD, BLOCK - SAFIDON	JIND	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
377	BETWEEN KM STONE 44 TO 46 ON MEHAM TO JHAJJAR ROAD , ON RHS, BLOCK - MEHAM	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
378	ON AJAIB TO BAINSI ROAD, BLOCK - MEHAM	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
379	VILL DARIYAPUR ON MDR-109 (TOSHAM-SIWANI ROAD), BLOCK - SIWANI	BHIWANI	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
380	VILLAGE MALVI ON JULANA -FARMANA KHAS-JULANA ROAD, BLOCK - JULANA	JIND	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
381	WITHIN4 KM OF VILL BHARAN BUS STAND ON MEHAM ROAD, BLOCK - MEHAM	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
382	VILL HAMJAPUR ON SEHNAL ROAD, BLOCK - RATIA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
383	VILLAGE RITOLI, BLOCK - ROHTAK	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
384	VILLAGE ATAIL, BLOCK - SAMPLA	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
385	ON VILL BHALOT TO RURKI ROAD, BLOCK - ROHTAK	ROHTAK	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
386	VILL. MATANA ON BIGHAR-FATEHABAD ROAD, BLOCK - FATEHABAD	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
387	VILLAGE KARONTHA, BLOCK - ROHTAK	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
388	RANIA(OML) ON BALASAR ROAD, BLOCK - RANIA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
389	VILLAGE BALAND, BLOCK - ROHTAK	ROHTAK	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
390	BETWEEN GRAM SACHIVALAYA CHINDER AND SARANGPUR MINOR ON KHARA KHERI -BHATTU KALAN ROAD, LHS FROM KHARA KHERI TO BHATTU, BLOCK - FATEHABAD	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
391	VILLAGE RAJPURA ON PANIWALA MOTA-CHAUTALA ROAD, BLOCK - DABWALI	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
392	VILLAGE KAMANA ON KAMANA- RATIA ROAD, BLOCK - RATIA	FATEHABAD	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
393	VILL. NAGPUR ON RATIA ROAD UPTO 2 KMS FROM FATEHABAD MOR TOWARDS RATIA, LHS FROM FATEHABAD MOR TO RATIA, BLOCK - NAGPUR	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
394	VILLAGE JASSIA, BLOCK - ROHTAK	ROHTAK	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
395	VILLAGE KHARIAN ON PANJUANA-KUSSAR ROAD, BLOCK - RANIA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	I .	1			1		1			L				

396	VILLAGE JHORARNALI ON KELENIA-KHARIAN ROAD, BLOCK - SIRSA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
397	VILLAGE SADHANWAS, BLOCK - JAKHAL	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
398	VILLAGE KANSALA ON KANSALA TO SAMCHANA ROAD, BLOCK - ROHTAK	ROHTAK	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
399	VILLAGE BACHER ON KEHARWALA ROAD, BLOCK - RANIA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
400	VILL. THIRAJ ON THIRAJ-DESU KHURD ROAD, BLOCK - BADAGUDHA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
401	VILLAGE RATTA KHERA ON RATIA TO SARDULGARH ROAD (MDR 101), BLOCK - RATIA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
402	VILLAGE RORI ON KALANWALI-RORI ROAD, BLOCK - BADAGUDHA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
403	VILLAGE RAMPURA DHILLON WITHIN 2 KM FROM RAJASTHAN BORDER, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
404	VILLAGE DHUDIANWALI ON SAINPAL ROAD, BLOCK - RANIA	SIRSA	Rural	46	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
405	VILLAGE BASRA ON BASRA BALSAMAND ROAD, BLOCK - HISAR-II	HISAR	Rural	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
406	VILLAGE SULTANPURIA ON RANIA-DHOTTAR ROAD, BLOCK - RANIA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
407	VILLAGE BARUWALI , BLOCK - SIRSA	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
408	VILLAGE ALAWALWAS ON ALIKA TO RATIA ROAD (MDR 101), BLOCK - NAGPUR	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
409	VILL BAKRIANWALI ON SIRSA-JAMAL ROAD, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
410	VILL. MAUJGARH ON MAUJGARH-LAKHUANA ROAD, BLOCK - DABWALI	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
411	VILL. MEHUWALA ON BHATTU KALAN-DING ROAD, BLOCK - BHATTU KALAN	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
412	VILLAGE SHAHPUR BEGU ON BAJEKAN ROAD, BLOCK - SIRSA	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
413	WITHIN 3 KM FROM ELLENABAD BYPASS-JIWAN NAGAR ROAD JUNCTION ON ELLENABAD-JIWAN NAGAR ROAD, , BLOCK - ELLENABAD	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
414	VILL. MAKHOSARANI ON MDR 103, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
415	VILL. PALSAR ON BHUTHAN-SAHNAL ROAD, BLOCK - RATIA	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
416	VILLAGE MODIAKHERA ON GUDIA KHERA ROAD, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
417	WITHIN 2 KM FROM ELLENABAD BYPASS TOWARDS MAMERA KHURD ROAD, BLOCK - ELLENABAD	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
418	VILLAGE MAKROLI KALAN, BLOCK - ROHTAK	ROHTAK	Rural	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
419	VILL. KHABRAN KALAN ON BHATTU MANDI TO ADAMPUR ROAD, BLOCK - BHATTU KALAN	FATEHABAD	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
420	VILLAGE JODHPURIA ON SIRSA-KEHARWALA ROAD, BLOCK - RANIA	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
421	VILL KAHANAUR ON KAHANAUR BERI ROAD, BLOCK - KALANAUR	ROHTAK	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
422	VILL DHANI BHAKRAN ON JHUMPA KHURD-BIDHWAN ROAD, BLOCK - SIWANI	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
423	VILLAGE PUTHI SAMAIN , BLOCK - HANSI-II	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
424	VILL MIRAN WITH IN 2 KM FROM MIRAN BUS STAND ON TOSHAM-SIWANI ROAD, BLOCK - TOSHAM	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
425	VILL. SHERPURA, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
426	WITH IN 2 KM FORM JAL GHAR SUI ,ON SUI - KHAKARI ROAD, BLOCK - BAWANI KHERA	BHIWANI	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
427	VILLAGE PANGHAL ON DHANI KHAN BAHADUR ROAD , BLOCK - BARWALA	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
428	VILL. KISHAN PURA ON ELLENABAD-NOHAR ROAD, BLOCK - ELLENABAD	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
429	VILLAGE MIRPUR ON AGROHA-GORAKHPUR ROAD, BLOCK - AGROHA	HISAR	Rural	46	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
430	VILLAGE BELARKHA ON RASIDA ROAD, BLOCK - NARWANA	JIND	Rural	46	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
431	VILL. RUPAWAS ON JAMAL-CHOPTA ROAD, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
432	VILL. DING ON DING BHATTU KALAN ROAD, BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
433	VILLAGE KANOH ON BALAK ROAD, BLOCK - AGROHA	HISAR	Rural	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
434	VILLAGE LUDESAR ON MDR103 , BLOCK - NATHUSARI CHOPTA	SIRSA	Rural	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
435	VILLAGE NARAIL ON JAKHAL ROAD, BLOCK - JAKHAL	FATEHABAD	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	I .	1					1							

436	VILLAGE MANGALPUR, BLOCK - UCHANA	JIND	Rural	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
437	VILLAGE BHADANA, BLOCK SONIPAT	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
438	VILLAGE KAILANA, BLOCK GANNAUR	SONIPAT	RURAL	48	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
439	VILLAGE GALEDWA ON GALEDWA - PEHOWA COURT ROAD, BLOCK PEHOWA	KURUKSHETRA	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
440	VILLAGE MOHAMDABAD, BLOCK RAI	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
441	VILLAGE PILKHANI, BLOCK SAHA	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
442	VILLAGE SODHI ON UMRI - INDRI ROAD, BLOCK- PIPLI	KURUKSHETRA	RURAL	60	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
443	VILLAGE CHANDPUR, BLOCK AMBALA II	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
444	VILLAGE BUSANA, BLOCK MUNDLANA	SONIPAT	RURAL	48	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
445	VILLAGE SHAMRI SISAN, BLOCK MUNDLANA	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
446	VILLAGE BABYAL, BLOCK AMBALA II	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
447	VILLAGE LAKHNOUR, BLOCK AMBALA I	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
448	VILLAGE MALHAMAJRA, BLOCK RAI	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
449	VILLAGE PITAMPURA, BLOCK RAI	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
450	VILLAGE MULLANA, BLOCK BARARA	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
451	VILLAGE ASWARPUR (NOT ON NH) BLOCK RAI	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
452	VILLAGE ALAHAR, BLOCK RADAUR	YAMUNANAGAR	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
453	VILLAGE KOHRA BHURA (NOT ON SH) BLOCK NARAINGARH	AMBALA	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
454	VILLAGE RAI (NOT ON NH) BLOCK RAI	SONIPAT	RURAL	70	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
455	VILLAGE KHUDDA BLOCK AMBALA -II	AMBALA	RURAL	46	Open PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
456	VILLAGE RAM NAGAR, BLOCK MURTHAL	SONIPAT	RURAL	48	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
457	VILLAGE SHAHZADPUR(NOT ON NH) BLOCK SHAZADPUR	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
458	VILALGE HOLAHERI, BLOCK SONIPAT	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
459	BETWEEN RAIPUR RODAN AND BHADSON CHOWK, BLOCK NILOKHERI	KARNAL	RURAL	72	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
460	CHORA, BLOCK KUNIPURA	KARNAL	RURAL	73	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
461	MEHMADPUR FROM KUNJPURA TO MUGAL MAJRA ROAD, BLOCK KUNJPURA	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
462	VILLAGE DEEPALPUR, BLOCK MURTHAL	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
463	VILLAGE BHUSIA, BLOCK GUHLA	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
464	VILLAGE BALBEHRA, BLOCK GUHLA	KAITHAL	RURAL	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
465	VILLAGE PAKHANA (ON TARAORI - SOUNKRA ROAD), BLOCK- NILOKHERI	KARNAL	RURAL	90	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
466	VILLAGE BHAGAL, BLOCK GUHLA	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
467	VILLAGE GARHI PADLA, BLOCK KAITHAL	KAITHAL	RURAL	55	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
468	VILLAGE RANWAR, BLOCK KARNAL	KARNAL	RURAL	155	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
469	VILLAGE DABARKI (ON NAGLA CHOWK TO KUNIPURA ROAD), BLOCK KARNAL	KARNAL	RURAL	72	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
470	VILLAGE BHUNNA, BLOCK GUHLA	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
471	NANGLA MEGHA (LHS, WITHIN 2 KM ON NANGLA MEGHA CHOWK- NEW AMRITPUR ROAD) , BLOCK KARNAL	KARNAL	RURAL	78	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
472	VILLAGE MAHMUDPUR, BLOCK GUHLA	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
473	VILLAGE MUNDRI, BLOCK KAITHAL	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
474	VILLAGE NAWACH, BLOCK KAITHAL	KAITHAL	RURAL	55	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
475	VILLAGE DEOBAN, BLOCK KAITHAL	KAITHAL	RURAL	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
		1	\bot			ı	l			L				

		_												
476	VILLAGE AMARGARH (ON NILOKHERI - INDRI ROAD), BLOCK- NILOKHERI	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
477	VILLAGE BEGUMPUR, BLOCK GHARAUNDA	KARNAL	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
478	VILLAGE- KHIZRABAD, BLOCK- KHIZRABAD	YAMUNANAGAR	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
479	VILLAGE ATERNA, BLOCK RAI	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
480	VILLAGE RAMANA RAMANI, BLOCK NILOKHERI	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
481	VILLAGE GAMRI, BLOCK GOHANA	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
482	VILLAGE PABNERA, BLOCK MURTHAL	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
483	VILLAGE NAHRI, BLOCK RAI	SONIPAT	RURAL	70	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
484	VILLAGE ASHRAFPUR MATINDU, BLOCK KHARKHODA	SONIPAT	RURAL	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
485	VILLAGE DATAULI, BLOCK GANNAUR	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
486	VILLAGE NATHUPUR, BLOCK RAI	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
487	VILLAGE PATAN, BLOCK PINJORE	PANCHKULA	RURAL	54	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
488	VILLAGE NAHARA, BLOCK RAI	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
489	VILLAGE- BADAULI ON PANIPAT REFINERY ROAD, BLOCK-PANIPAT	PANIPAT	RURAL	100	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
490	VILLAGE BHAINSWAL KALAN, BLOCK GOHANA	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
491	VILLAGE LANDORA, BLOCK KUNJPURA	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
492	FARMANA, BLOCK KHARKHODA	SONIPAT	RURAL	72	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
493	VILLAGE DHATURI (NOT ON NH), BLOCK MURTHAL	SONIPAT	RURAL	48	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
494	VILLAGE BIBIPUR JATTAN, BLOCK INDRI	KARNAL	RURAL	72	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
495	VILLAGE SAGRI (FROM KHERI LAKHA SINGH TO YAMUNANAGAR) BLOCK RADAUR	YAMUNANAGAR	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
496	VILLAGE PEODA, BLOCK KAITHAL	KAITHAL	RURAL	55	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
497	VILLAGE RANIPUR KHURD, BLOCK BILASPUR	YAMUNANAGAR	RURAL	125	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
498	VILLAGE MANAS, BLOCK KAITHAL	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
499	VILLAGE ISMAILABAD, ON ISMAILABAD - THASKA MIRAJI ROAD BLOCK ISMAILABAD	KURUKSHETRA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
500	VILLAGE AJRANA KALAN ON JHANSA SHAHBAD ROAD, BLOCK THANESAR	KURUKSHETRA	RURAL	53	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
501	VILLAGE KAIT, BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
502	VILLAGE DOHAR, BLOCK SIWAN	KAITHAL	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
503	VILLAGE JATWAL, BLOCK SHAZADPUR	AMBALA	RURAL	46	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
504	VILLAGE KARALI (NOT ON SH) BLOCK PEHOWA	KURUKSHETRA	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
505	VILLAGE SERTA, BLOCK KAITHAL	KAITHAL	RURAL	55	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
506	VILLAGE ROHTI, BLOCK PEHOWA	KURUKSHETRA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
507	VILLAGE MIRJAPUR, BLOCK - THANESAR	KURUKSHETRA	RURAL	53	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
508	VILALGE BODHANI, BLOCK PEHOWA	KURUKSHETRA	RURAL	53	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
509	VILLAGE BAGTHALA, BLOCK THANESAR	KURUKSHETRA	RURAL	49	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
510	VILLAGE DHANIPURA, BLOCK PEHOWA	KURUKSHETRA	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
511	VILLAGE HANSALA, BLOCK THANESAR	KURUKSHETRA	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
512	VILLAGE MAGHO MAJRI, BLOCK KAITHAL	KAITHAL	RURAL	55	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
513	VILLAGE SARSA, BLOCK PEHOWA	KURUKSHETRA	RURAL	54	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
514	VILLAGE RAPDI ON MAIN ROAD CONNECTING RADAUR AND RAPDI, BLOCK RADAUR	YAMUNANAGAR	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
515	SEONSAR VILLAGE ON BHAGAL GUMTHALA ROAD, BLOCK PEHOWA	KURUKSHETRA	RURAL	55	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
						-			-					

					-								
516	WITHIN 1KM LHS ON MAIN ROAD FROM RADAUR CANAL BRIDGE TO VILL NACHRON, BLOCK RADAUR (OML)	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
517	VILLAGE - TAPU MANDAULI BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	Open CC 1	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
518	VILLAGE MANAK TABRA, BLOCK BARWALA	PANCHKULA	RURAL	50	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
519	VILLAGE- HARAULI, BLOCK CHACHHRAULI	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
520	VILLAGE KHARWAN, BLOCK CHHACHHRAULI	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
521	VILLAGE JAIDHAR, BLOCK KHIZRABAD	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
522	VILL- MANBHARWALA, BLOCK- KHIZRABAD	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
523	VILLAGE- RADAURI ON CHAMRORI ROAD , BLOCK- RADAUR (OML)	YAMUNANAGAR	RURAL	46	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
524	MORNI, BLOCK MORNI	PANCHKULA	RURAL	70	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
525	VILLAGE - MANDI BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
526	VILLAGE- BHAGWANPUR ON DADUPUR LINK ROAD, BLOCK- CHHACHHRAULI	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
527	VILLAGE- MANDAULI BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
528	VILLAGE BAQIPUR, BLOCK NILOKHERI	KARNAL	RURAL	72	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
529	VILLAGE BHUD MAJRA ON BUDIYA ROAD (LHS FROM DEVDHAR TO KHIZRABAD), BLOCK- KHIZRABAD	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
530	VILLAGE GONDHER, BLOCK NISSING	KARNAL	RURAL	46	OBC PH	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
531	VILLAGE TIKHANA, BLOCK NILOKHERI	KARNAL	RURAL	72	SC PH	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
532	VILLAGE SEENK, SAFIDO TO GOHANA ROAD, BLOCK ISRANA	PANIPAT	RURAL	60	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
533	VILLAGE BARWALA (ON BARWALA TO DERABASI ROAD), BLOCK BARWALA	PANCHKULA	RURAL	115	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
534	VILLAGE- LEDI, BLOCK CHACHHRAULI	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
535	VILLAGE- SANDHALA ON GUMTHALA ROAD, BLOCK- RADAUR	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
536	VILLAGE PACCA KHERA BLOCK ASSANDH	KARNAL	RURAL	46	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
537	VILLAGE- FATEHPUR ON JHOTA ROAD, BLOCK JAGADHARI	YAMUNANAGAR	RURAL	46	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
538	VILLAGE- LAPRA , BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
539	VILLAGE DADLANA, BLOCK PANIPAT	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
540	VILLAGE UJHA (OUTSIDE MUNICIPAL LIMIT), BLOCK PANIPAT	PANIPAT	RURAL	67	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
541	VILLAGE RISALU (OUTSIDE MUNICIPAL LIMIT), BLOCK PANIPAT	PANIPAT	RURAL	67	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
542	VILLAGE HATHWALA, BLOCK SAMALKHA	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
543	VILLAGE NIMBRI (OUTSIDE MUNICIPAL LIMIT), BLOCK PANIPAT	PANIPAT	RURAL	67	Open CC 1	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
544	VILLAGE UGRA KHERI (OUTSIDE MUNICIPAL LIMIT), BLOCK PANIPAT	PANIPAT	RURAL	67	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
545	VILLAGE KHOTPURA, BLOCK PANIPAT	PANIPAT	RURAL	67	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
546	VILLAGE ALUPURA, BLOCK MADLAUDA	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
547	VILLAGE JAL PAHAR, BLOCK BAPOLI	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
548	VILLAGE BABAIL, BLOCK PANIPAT	PANIPAT	RURAL	67	OBC	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
549	VILLAGE ADIYANA, MADLAUDA-KURANA ROAD, BLOCK MADLAUDA	PANIPAT	RURAL	67	sc	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
550	VILLAGE SAIDPURA, BLOCK PANIPAT	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
551	VILLAGE ADHMI, BLOCK SANOLI	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
552	VILLAGE DADOLA, BLOCK BAPOLI	PANIPAT	RURAL	67	Open	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
553	VILLAGE JALMANA, BLOCK BAPOLI	PANIPAT	RURAL	67	OBC CC 1	DC	35	35 1225	12	30	DRAW OF LOTS	5	3
554	VILLAGE BEHRAMPUR, BLOCK BAPOLI	PANIPAT	RURAL	67	SC CC 1	CFS	35	35 1225	0	0	DRAW OF LOTS	0	2
555	VILLAGE NANHERA, BLOCK SANOLI (OML)	PANIPAT	RURAL	67	Open PH	DC	35	35 1225	12	30	DRAW OF LOTS	5	4
	I .	1	1	1			ı	L		l			

556	VILLAGE KARHANS (OML), BLOCK SAMALKHA	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
557	VILLAGE AKBARPUR BAROTA, BLOCK RAI	SONIPAT	RURAL	48	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
558	VILLAGE DEHRA, BLOCK SAMALKHA	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
559	VILLAGE BURSHAM (OML), BLOCK ISRANA	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
560	VILLAGE GWALRA, BLOCK ISRANA	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
561	VILLAGE SHAHARMALPUR, BLOCK SAMALKHA	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
562	VILLAGE SANJOLI, BLOCK BAPOLI	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
563	VILLAGE KHOJKIPUR, BLOCK BAPOLI	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
564	VILLAGE BAPURA, BLOCK SAMALKHA (OML)	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
565	VILLAGE JHATTIPUR (OML), BLOCK PANIPAT	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
566	VILLAGE BILASPUR, BLOCK SAMALKHA	PANIPAT	RURAL	67	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
567	VILLAGE MAHAWATI, BLOCK SAMALKHA	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
568	VILLAGE BHANAULI, BLOCK SAMALKHA	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
569	VILLAGE MATNAULI, BLOCK BAPOLI	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
570	VILLAGE DIDWARI, BLOCK ISRANA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
571	VILLAGE ASSAN KALAN, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
572	VILLAGE PARDHANA, BLOCK ISRANA (OML)	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
573	VILLAGE NOHRA, BLOCK MADLAUDA	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
574	VILLAGE ATAWALA, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
575	VILLAGE JAWAHRA, BLOCK MUDIANA (OML)	SONIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
576	VILLAGE URLANA KHURD, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
577	VILLAGE KALAKHA, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
578	VILLAGE SUTANA, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
579	VILLAGE URLANA KALAN, BLOCK MADLAUDA (OML)	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
580	VILLAGE BIJAWA, BLOCK ISRANA (OML)	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
581	VILLAGE KURANA, BLOCK ISRANA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
582	VILLAGE DHURANA, BLOCK MUDLANA (OML)	SONIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
583	VILLAGE JAGSI, BLOCK MUDLANA (OML)	SONIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
584	VILLAGE GANGANA, BLOCK MUDLANA (OML)	SONIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
585	VILLAGE CHULKANA, BLOCK SAMALKHA (OML)	PANIPAT	RURAL	67	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
586	VILLAGE CHANDOLI, BLOCK PANIPAT (OML)	PANIPAT	RURAL	67	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
587	VILLAGE AHAR, BLOCK ISRANA (OML)	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
588	VILLAGE KIWANA, BLOCK SAMALKHA	PANIPAT	RURAL	67	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
589	VILLAGE JANETPURA, BLOCK AMBALA II	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
590	VILLAGE JHARUMAJARA, BLOCK SAHA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
591	VILLAGE GADOULI, BLOCK NARAYANGARH	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
592	VILLAGE FATEHPUR, BLOCK SHAZADPUR	AMBALA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
593	VILLAGE BARIKHORI, BLOCK SHAZADPUR	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
594	VILLAGE KODWA KALAN, BLOCK SHAZADPUR	AMBALA	RURAL	46	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
595	VILLAGE KAPOORI, BLOCK AMBALA II	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
	I .						I			L			L	

596	VILLAGE JEOLJ, BLOCK NARAYANGARH	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
597	VILLAGE MATHERI JATTAN, BLOCK AMBALA I	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
598	VILLAGE BARNAL, AMBALA II	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
599	VILLAGE DHANANA, BLOCK SHAZADPUR	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
600	VILLAGE BARA, BLOCK AMBALA I	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
601	VILLAGE KHANPUR, BLOCK SAHA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
602	VILLAGE PANJLASA, BLOCK NARAYANGARH	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
603	VILLAGE JOGI MAJRA BLOCK SHAHBAD	KURUKSHETRA	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
604	VILLAGE BARSALU, BLOCK NILOKHERI	KARNAL	RURAL	72	Open CC 2	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
605	VILLAGE BORAKHERA, BLOCK SHAZADPUR	AMBALA	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
606	VILLAGE LALPUR BLOCK NARAINGARH	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
607	VILLAGE TANDWALI BLOCK BARARA	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
608	VILLAGE BUDIAN BLOCK BARARA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
609	VILLAGE NIHARSA BLOCK AMBALA-I	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
610	VILLAGE SAHA BLOCK SAHA	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
611	VILLAGE MEHTABGARG BLOCK SAHA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
612	VILLAGE DAUDPUR BLOCK AMBALA -I	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
613	VILLAGE RAMPUR BLOCK SAHA	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
614	VILLAGE HUSSANI BLOCK NARAINGARH	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
615	VILLAGE SAKARPURA BLOCK NARAINGARH	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
616	VILLAGE TALHERI GUJRAN BLOCK SAHA	AMBALA	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
617	VILLAGE KALERAN BLOCK AMBALA-I	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
618	VILLAGE SAMBHALKHA BLOCK SAHA	AMBALA	RURAL	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
619	VILLAGE TALHERI RANGRAN BLOCK BARARA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
620	TRILOKPUR (NOT ON SH/NH), BLOCK BARWALA	PANCHKULA	RURAL	54	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
621	VILLAGE RAIPURA BLOCK SHAZADPUR	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
622	VILLAGE SADIKPUR BLOCK SHAZADPUR	AMBALA	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
623	VILLAGE AKALGARH BLOCK BARARA	AMBALA	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
624	VILLAGE GANGAR, BLOCK NILOKHERI	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
625	VILLAGE JASPUR, BLOCK RAIPUR RANI	PANCHKULA	RURAL	61	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
626	VILLAGE KHERANWALI, BLOCK PINJORE	PANCHKULA	RURAL	74	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
627	VILLAGE MALLAH, BLOCK PINJORE	PANCHKULA	RURAL	54	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
628	VILLAGE TIKKARI, BLOCK MORNI	PANCHKULA	RURAL	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
629	VILLAGE NACHRON ON MAIN ROAD BLOCK- RADAUR	YAMUNANAGAR	RURAL	46	SC PH	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
630	VILLAGE BELI BHUD, BLOCK KHIZRABAD	YAMUNANAGAR	RURAL	46	OBC PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
631	VILLAGE CHARNIA, BLOCK PINJORE (NOT ON NH/SH)	PANCHKULA	RURAL	50	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
632	VILLAGE RATTEWALI, BLOCK BARWALA	PANCHKULA	RURAL	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
633	VILLAGE SERDHA, BLOCK RAJOUND	KAITHAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
634	VILLAGE KARORA, BLOCK RAJOUND	KAITHAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
635	VILLAGE SEGA, BLOCK KAITHAL	KAITHAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
				_									_	

636	VILLAGE PHARAL, BLOCK PUNDRI	KAITHAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
637	VILLAGE DUSSAIN, BLOCK PUNDRI	KAITHAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
638	VILLAGE KURAR BLOCK KALAYAT	KAITHAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
639	VILLAGE HAIWANA, BLOCK PUNDRI	KAITHAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
640	VILLAGE KAILRAM BLOCK KALAYAT	KAITHAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
641	VILLAGE RUKSANA BLOCK ASSANDH	KAITHAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
642	VILLAGE PILNI BLOCK PUNDRI	KAITHAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
643	VILLAGE GUHNA BLOCK KAITHAL	KAITHAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
644	VILLAGE KHERI RAOWALI BLOCK KAITHAL	KAITHAL	RURAL	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
645	VILLAGE SAJOOMA BLOCK KAITHAL	KAITHAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
646	VILLAGE KEHARWALI, BLOCK GHARAUNDA	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
647	VILLAGE POPRAN, BLOCK ASSANDH	KARNAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
648	VILLAGE PHURLAK, BLOCK GHARAUNDA	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
649	VILLAGE DACHER, BLOCK NISSING	KARNAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
650	VILLAGE GOGDIPUR, BLOCK KARNAL	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
651	VILLAGE RATANPUR (BETWEEN THERMAL POWER PLANT AND JHOTA ROAD) BLOCK- JAGADHARI	YAMUNANAGAR	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
652	VILLAGE KHORAKHERI, BLOCK GHARAUNDA	KARNAL	RURAL	46	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
653	VILLAGE DUPEDI BLOCK ASSANDH	KARNAL	RURAL	46	OBC CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
654	VILLAGE BILASPUR (NOT ON SH), BLOCK BILASPUR	YAMUNANAGAR	RURAL	115	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
655	VILLAGE GUDHA, BLOCK GHARAUNDA	KARNAL	RURAL	46	Open PH	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
656	VILAGE HAIBATPUR, BLOCK- NILOKHERI	KARNAL	RURAL	72	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
657	VILLAGE ANDHERA, BLOCK KARNAL	KARNAL	RURAL	131	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
658	VILLAGE BHAINI KALAN, BLOCK - NILOKHERI	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
659	VILLAGE KALSORA (ON NEWAL - GARHI BIRBAL ROAD), BLOCK-KUNIPURA	KARNAL	RURAL	58	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
660	VILLAGE- SHERGARH (ON INDRI - GARHI BIRBAL ROAD), BLOCK- INDRI	KARNAL	RURAL	72	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
661	VILLAGE BUTANKHERI (ON INDRI - KURUKSHETRA ROAD), BLOCK-INDRI	KARNAL	RURAL	72	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
662	VILLAGE MANGLORA (NOT ON NH), BLOCK-KARNAL	KARNAL	RURAL	60	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
663	VILLAGE SHEIKHAN PUR (ON TARAORI - NADANA ROAD), BLOCK NILOKHERI	KARNAL	RURAL	64	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
664	VILLAGE MUNAK BLOCK ASSANDH	KARNAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
665	VILLAGE BANSA BLOCK KARNAL	KARNAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
666	VILLAGE GAGSINA BLOCK GHARAUNDA	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
667	VILLAGE RAIPUR JATTAN BLOCK GHARAUNDA	KARNAL	RURAL	46	Open CC 1	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
668	VILLAGE CHAUGAWAN BLOCK ASSANDH	KARNAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
669	VILLAGE UPLANA BLOCK ASSANDH	KARNAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
670	VILLAGE KABOOLPUR BLOCK ASSANDH	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
671	VILLAGE NAGLI ON GUMTHAL ROAD, BLOCK RADAUR	YAMUNANAGAR	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
672	VILLAGE KURLAN BLOCK ASSANDH	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
673	VILLAGE MUNDH BLOCK ASSANDH	KARNAL	RURAL	46	Open	DC	35	35	1225	12	30	DRAW OF LOTS	5	4
674	VILLAGE GOLLI BLOCK ASSANDH	KARNAL	RURAL	46	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	2
675	VILLAGE KATLAHERI BLOCK NISSING	KARNAL	RURAL	46	OBC	DC	35	35	1225	12	30	DRAW OF LOTS	5	3
	I	-	1				l			l				

677 VILLAGE KAILASH (ON KARNAL TO TIKRI KALAN ROAD.), BLOCK KARNAL KARNAL RURAL 72 OPEN DC 35 35 1225 12 30 D D DC 35 35 1225 12 30 D DC 35 35 35 1225 12 3	DRAW OF LOTS DRAW OF LOTS	5 0 5 5 5 5	4 2 3 4
678 VILLAGE NARAINA, BLOCK NILOKHERI KARNAL RURAL 72 SC CFS 35 35 1225 0 0 0 D D D D D D D D D D	DRAW OF LOTS	5 5 5	3
679 VILLAGE BAIRSAL, BLOCK NILOKHERI KARNAL RURAL 72 OBC DC 35 35 1225 12 30 DD 680 VILLAGE BADAGAON (ON KARNAL - BIANA ROAD), BLOCK KUNJPURA KARNAL RURAL 72 OPEN DC 35 35 1225 12 30 DD 681 VILLAGE MODIPUR, BLOCK KUNJPURA KARNAL RURAL 72 OPEN DC 35 35 1225 12 30 DD 682 VILLAGE SUBHRI, BLOCK KARNAL RURAL 72 OBC DC 35 35 1225 12 30 DD 683 BETWEEN VILLAGE GUMTON & VILLAGE SHEKHPURA (ON INDRI- NILOKHERI ROAD), BLOCK-INDRI KARNAL RURAL 72 SC CFS 35 35 1225 0 0 D	DRAW OF LOTS	5 5 5	3
680 VILLAGE BADAGAON (ON KARNAL - BIANA ROAD), BLOCK KUNIPURA KARNAL RURAL 72 Open DC 35 35 1225 12 30 D 681 VILLAGE MODIPUR, BLOCK KUNIPURA KARNAL RURAL 72 Open DC 35 35 1225 12 30 D 682 VILLAGE SUBHRI, BLOCK KARNAL KARNAL RURAL 72 OBC DC 35 35 1225 12 30 D 683 BETWEEN VILLAGE GUMTON & VILLAGE SHEIKHPURA (ON INDRI- NILOKHERI ROAD), BLOCK- INDRI	DRAW OF LOTS DRAW OF LOTS DRAW OF LOTS	5	4
681 VILLAGE MODIPUR, BLOCK KUNIPURA KARNAL RURAL 72 OPEN DC 35 35 1225 12 30 D 682 VILLAGE SUBHRI, BLOCK KARNAL RURAL 72 OBC DC 35 35 1225 12 30 D 683 BETWEEN VILLAGE GUMTON & VILLAGE SHEIKHPURA (ON INDRI-NILOKHERI ROAD), BLOCK-INDRI KARNAL RURAL 72 SC CFS 35 35 1225 0 D D	DRAW OF LOTS	5	4
682 VILLAGE SUBHRI, BLOCK KARNAL KARNAL RURAL 72 OBC DC 35 35 1225 12 30 D 683 BETWEEN VILLAGE GUMTON & VILLAGE SHEIKHPURA (ON INDRI- NILOKHERI ROAD), BLOCK- INDRI KARNAL RURAL 72 SC CFS 35 35 1225 0 0 D	DRAW OF LOTS		
683 BETWEEN VILLAGE GUMTON & VILLAGE SHEIKHPURA (ON INDRI- NILOKHERI ROAD), BLOCK- INDRI KARNAL RURAL 72 SC CFS 35 35 1225 0 0 D	DRAW OF LOTS		3
	DRAW OF LOTS	0	2
684 VILLAGE NABIPUR ON GARHIBIRBAL - NABIPUR ROAD, BLOCK- KUNIPURA KARNAL RURAL 72 Open DC 35 35 1225 12 30 D		5	4
	DRAW OF LOTS	5	4
	DRAW OF LOTS	5	3
687 VILLAGE KOER, BLOCK NILOKHERI KARNAL RURAL 72 SC CFS 35 35 1225 0 0 D	DRAW OF LOTS	0	2
	DRAW OF LOTS	5	4
689 VILLAGE BIR BADALWA, BLOCK NILOKHERI KARNAL RURAL 72 Open DC 35 35 1225 12 30 D	DRAW OF LOTS	5	4
	DRAW OF LOTS	5	3
	Draw of Lots	0	3
692 VILLAGE- SHIKARPUR ON SOHNA-TAURU ROAD (NH71B) NUH Regular 170 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
693 B/W KM STONE 431 TO 435 ON NH-71 (NEW NH 352) FROM JHAJHAR TO NH-8 (LHS) REWARI Regular 155 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
694 BETWEEN 7-10 KM FROM RAO TULA RAM CHOWK ON MAHENDERGARH-NARNAUL ROAD (NH148B) MAHENDRAGARH Regular 150 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
695 BETWEEN DELHI BORDER TO KM STONE 40 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (RHS) JHAJJAR Regular 150 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
696 RHS FROM MODERN PUBLIC SCHOOL TO BHIWADI MODE, NH-718 (NEW NH-919) REWARI Regular 250 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
697 ON RAO TULARAM CHOWK TO BUS STAND ROAD-WITHIN 2KM FROM RAO TULARAM CHOWK (LHS) MAHENDRAGARH Regular 140 SC CFS 20 20 400 0 0 D	DRAW OF LOTS	0	3
698 REWARI-2 (WML) ON CIRCULAR ROAD REWARI Regular 150 SC CFS 20 20 400 0 0 D	DRAW OF LOTS	0	3
699 IFFCO CHAWK TO 33 KM STONE(RHS) ON NH-8 GURUGRAM Regular 278 SC CFS 20 20 400 0 0	Draw of Lots	0	3
700 KM STONE 35 TO 38 ON NH8 (RHS) GURUGRAM Regular 278 SC CFS 20 20 400 0 0	Draw of Lots	0	3
701 KM STONE 72-75, LHS ON NH-8 REWARI Regular 212 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
702 VILLAGE-RAGHUNATHPURA, NARNAUL-SINGHANA ROAD, NH 11 MAHENDRAGARH Regular 150 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
703 BETWEEN DELHI GURGAON BORDER TO IIFCO CHOWK(LHS) ON NH-8 GURUGRAM Regular 300 SC CFS 20 20 400 0 0	Draw of Lots	0	3
704 JHAJJAR CITY (WML) EXCLUDING GURGAON ROAD, TALAW RD, OLD JHAJHAR-ROHTAK RD, BERI ROAD AND NH/SH. JHAJJAR Regular 100 SC CFS 20 20 400 0 0 D	DRAW OF LOTS	0	3
705 BETWEEN KM STONE NO 442 TO KM STONE NO 442 ON NH-71 (NEW NH 352), RHS FROM JHAJJAR TO REWARI REWARI REGular 155 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
706 VILLAGE MEWALA MAHARAJPUR ON NH-2 FARIDABAD REGULAR 165 SC CFS 20 20 400 0 0	Draw of Lots	0	3
707 KM STONE 78 TO 81, NH-2, LHS DELHI MATHURA ROAD PALWAL Regular 150 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
708 BETWEEN 2KM TO 4KM FROM HERO HONDA CHOWK ON NARNAUL SINGHANA ROAD MAHENDRAGARH Regular 150 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
709 BETWEEN KM S8 TO 62,0N NH-2 RHS DELHI MATHURA ROAD PALWAL Regular 160 SC CFS 35 45 1575 0 0	Draw of Lots	0	3
710 FARIDABAD CITY-3, (WML& NOT ON NH) FARIDABAD REGULAR 180 SC CFS 20 20 400 0 0	Draw of Lots	0	3
711 BETWEEN GAWAL PAHARI POLICE CHONKI TO TOLL PLAZA, ON GURGAON FARIDABAD ROAD RHS (WML GURGAON) GURUGRAM Regular 150 SC CFS 20 20 400 0 0	Draw of Lots	0	3
712 SEC 100, GURGAON GURGAON GURUGRAM Regular 150 SC CFS 20 20 400 0 0	Draw of Lots	0	3
713 BETWEEN SANIK COLONY TO PALL POLICE CHOWKI ON FARIDABAD-GURGAON ROAD RHS FARIDABAD REGULAR 175 SC CFS 20 20 400 0 0	Draw of Lots	0	3
714 SEC 60, GURGAON GURUGRAM Regular 150 SC CFS 20 20 400 0 0	Draw of Lots	0	3
715 SEC 68, GURGAON GURUGRAM Regular 150 SC CFS 20 20 400 0 0	Draw of Lots	0	3

716	SECTOR 66 , ON SECTO 66-67 DIVIDING ROAD,	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
717	B/W KM STONE 60 TO 62 (RHS), ON NH-8	GURUGRAM	Regular	266	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
718	KM STONE 82 TO 85 ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	178	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
719	VILLAGE: DUNGERWAS, ON NH71B (NEW NH 919)	REWARI	Regular	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
720	VILLAGE CHIMANPARA ON NH 71 (NEW NH 352)	JHAJJAR	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
721	B/W KM STONE NO. 34 TO 38 (RHS WHILE GOING FROM SOHNA TO NUH) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD)	NUH	Regular	230	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
722	KM STONE 39 TO 42 (RHS WHILE GOING FROM SOHNA TO NUH) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	175	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
723	JHAJJAR CITY WML ON TALAW ROAD	JHAJJAR	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
724	BETWEEN IIFCO CHOWK TO RAJIV CHAWK (LHS) ON NH-8	GURUGRAM	Regular	300	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
725	ATELI -NARNAUL ROAD, VILLAGE-GOKALPUR,	MAHENDRAGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
726	BAHADURGARH CITY WML ON NAHRA NAHRI ROAD	JHAJJAR	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
727	ATELL TO NARNAUL ROAD, FROM KM STONE 98-102	MAHENDRAGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
728	BETWEEN 0-3KM FROM RAO TULA RAM CHOWK ON MAHENDERGARH-NARNAUL ROAD (NH148B)	MAHENDRAGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
729	WMLGURGAON	GURUGRAM	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
730	FROM BATA CHOWK TO NEELAM CHOWK LHS	FARIDABAD	REGULAR	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
731	WITHIN 2 KM FROM CIVIL HOSPITAL, PALWAL TOWARDS SOHNA ON NH-718(NEW NH-919)	PALWAL	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
732	ON DIVIDING ROAD OF SECTOR 63-64	FARIDABAD	REGULAR	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
733	BETWEEN MILESTONE 72 TO 74 (RHS) ON NH 8.	REWARI	Regular	266	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
734	BETWEEN DELHI GURGAON BORDER TO IIFCO CHOWK(RHS) ON NH-8	GURUGRAM	Regular	278	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
735	VILLAGE SUBANA ON SH-22	JHAJJAR	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
736	ON RAO TULARAM CHOWK TO BUS STAND ROAD- WITHIN 2KM FROM RAO TULARAM CHOWK (RHS)	MAHENDRAGARH	Regular	140	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
737	BAHADURGARH CITY WML ON NAJAFGARH ROAD	JHAJJAR	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
738	FROM AGARSAIN CHOWK TO BANSI LAL PARK ON CIRCULAR ROAD ON LHS, BHIWANI CITY	BHIWANI	Regular	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
739	WITHIN 4 KM OF RAJASTHAN BORDER ON LOHARU TO PILANI ROAD	BHIWANI	Regular	166	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
740	FROM NEW BUS STAND TOWARDS ROHTAK WITHIN MUNICIPAL LIMITS, BHIWANI CITY	BHIWANI	Regular	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
741	VILLAGE LOHANI ON BHIWANI-LOHARU ROAD	BHIWANI	Regular	158	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
742	FROM MITTAL CHOWK TO PRASHURAM CHOWK ON RHS , CHARKHI DADRI CITY	CHARKHI DADRI	Regular	115	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
743	VILLAGE PAINTAWAS ON BHIWANI TO CHARKHI DADRI ROAD, NH 148 B	CHARKHI DADRI	Regular	164	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
744	FROM KISHANGARH BRANCH CANAL UP TO 2 KM ON NH-9 TOWARDS FATEHABAD	FATEHABAD	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
745	TOHANA CITY (WML)	FATEHABAD	Regular	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
746	BETWEEN KM STONE 121 AND 125, LHS ON NH-9 (FROM DELHI TO HISAR)	HISAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
747	HISAR CITY, BETWEEN CAMP CHOWK AND DABRA CHOWK	HISAR	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
748	VILLAGE GAIBIPUR, ON NH-52 RHS TOWARDS SUREWALA CHOWK	HISAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
749	BETWEEN CAMP CHOWK AND SABJI MANDI CHOWK, HISAR CITY	HISAR	Regular	110	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
750	VILLAGE LUDAS ON NEW HISAR BYPASS, NEW NH 52 (LHS TOWARDS RAJGARH)	HISAR	Regular	155	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
751	VILLAGE ARYA NAGAR ON NEW HISAR BYPASS, NEW NH 52 (RHS TOWARDS RAJGARH)	HISAR	Regular	152	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
752	VILLAGE BHERIA ON NH-52 (LHS TOWARDS RAJGARH)	HISAR	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
753	VILLAGE BUDHSHELI ON NH-52 (LHS TOWARDS RAJGARH)	BHIWANI	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
754	WML OF JIND CITY ON KAITHAL ROAD	JIND	Regular	165	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
755	VILLAGE RADHANA ON NH 352 A (JIND-GOHANA ROAD)	JIND	Regular	165	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
	I .				1		ı			L	1			

756	LOCATION BETWEEN VILLAGE ANOOPGARH TO PINDARA ON NEW BYEPASS (RING ROAD)-RHS	JIND	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
757	JULANA BUS STAND TO JULANA ANAJ MANDI ON NH 352 LHS MOVING TOWARDS JIND	JIND	Regular	154	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
758	VILLAGE BHAMBEWA ON NH 352 A (JIND GOHANA ROAD)	JIND	Regular	158	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
759	BETWEEN ALEWA AND NAGURA ON NH-709A	JIND	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
760	BETWEEN KM STONE 67 & 70 ON ROHTAK TO DELHI ROAD ON LHS	ROHTAK	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
761	FROM IMT CHOWK TOWARDS DELHI , WHITIN MUNICIPAL LIMITS ROHTAK	ROHTAK	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
762	BETWEEN KM STONE 370 TO 373 ON ROHTAK TO JHAJJAR ROAD	ROHTAK	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
763	KALANAUR BY PASS ON NH 709. ON RHS TOWARDS BHIWANI	ROHTAK	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
764		ROHTAK	-	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
	AMBEDKAR CHOWK TO GOHANA STAND (WITHIN ROHTAK MUNICIPAL LIMITS)		Regular											
765	ON EITHER SIDE BETWEEN DARYAPUR TO DING CHOWK ON NH-09	SIRSA	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
766	NEW BYE PASS ON DABWALI TO SIRSA ROAD (BETWEEN SIKANDARPUR AND KHAREKAN) RHS	SIRSA	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
767	WML SIRSA ON EITHER SIDE ON SIRSA-RANIA ROAD BETWEEN SANGWAN CHOWK AND BALMIKI CHOWK	SIRSA	Regular	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
768	ON VILLAGE KOTLI ON NH 09 HISAR SIRSA- ROAD RHS	SIRSA	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
769	VILLAGE GIGNAU ON BHIWANI-LOHARU ROAD (NH709E)	BHIWANI	Regular	158	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
770	BETWEEN KM STONE 200 AND 204 ON CHARKHI DADRI TO LOHARU ROAD (NH334 B)	CHARKHI DADRI	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
771	BUDHERI ON SH 1, LHS FROM JAGADHARI TO BILASPUR	YAMUNANAGAR	Regular	103	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
772	BETWEEN KM STONE 29 TO 34 ON SH-9 (LHS SITAMAI TO SAKRA)	KARNAL	Regular	126	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
773	BETWEEN KM STONE 30 TO 32 ON SH-8 (KARNAL TO KAITHAL)	KARNAL	Regular	107	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
774	BETWEEN MANNAT PALACE ASSANDH AND KHERI SHARFALI ON SH-11	KARNAL	Regular	105	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
775	BETWEEN KM STONE 23 TO 28 ON SH-18 (ROHTAK TO KHARKHODA)	SONIPAT	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
776	ROHTAK CHOWK TO SONIPAT CHOWK ON SH-18 (KHARKHODA BYPASS)	SONIPAT	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
777	KARNAL CITY ON KUNIPURA ROAD (BETWEEN ITI CHOWK AND NDRI MAIN GATE)	KARNAL	Regular	105	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
778	KARNAL CITY MAIN ROAD (BETWEEN PANDIT CHIRANJILAL COLLEGE MAIN GATE & SUBJI MANDI GATE)	KARNAL	Regular	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
779	BETWEEN KM STONE 46 TO 50 ON NH -709 (RHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
780	WITHIN 2 KMS FROM MURTHAL ADDA (SONIPAT TOWN) TOWARDS GANNAUR ON KAMI ROAD	SONIPAT	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
781	WITHIN 3 KMS FROM PURKHAS ADDA, SONIPAT ON SONIPAT PURKHAS ROAD	SONIPAT	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
782	SECTOR-13/17, PANIPAT	PANIPAT	Regular	103	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
783	YAMUNA ENCLAVE, PANIPAT	PANIPAT	Regular	103	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
784	SECTOR-18, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
785	SECTOR-40, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
786	SECTOR-7, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
787	SECTOR-6, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
788	SECTOR-8, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
789	SECTOR-11, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
790	SECTOR-12, PANIPAT	PANIPAT	Regular	107	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
791	MUGAL CANAL ROAD KARNAL CITY	KARNAL	Regular	105	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
792	BAGWALI, ON NEW NH-7 (OLD NH-73) (LHS YAMUNANAGAR TO BARWALA)	PANCHKULA	Regular	185	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
793	BETWEEN KM STONE 148 & 150 ON NH-7 (OLD NH 73) (LHS YAMUNANAGAR TO PANCHKULA)	PANCHKULA	Regular	170	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
794	MANKI TO GADAULI ON NH 344(LHS SAHA TO JAGADHARI)	YAMUNANAGAR	Regular	160	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
795	NILOKHERI TOWN ON NH-44 (OLD NH-1)	KARNAL	Regular	174	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
796	BETWEEN KM STONE 2 TO 7 ON NH-72 (AMBALA TO PANJOKHRA)	AMBALA	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
797	BETWEEN KM STONE 3 TO 5 (LHS FROM PANIPAT TO GOHANA), NH71 (NEW NH-709)	PANIPAT	Regular	175	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
798	ON GOVINDPURI ROAD, BETWEEN NH73 & MADHU HOTEL	YAMUNANAGAR	Regular	160	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
799	KM STONE 68 TO 71, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
	I	+					-						$\overline{}$	$\overline{}$

800	ON RAILWAY STATION ROAD BETWEEN BUS DEPOT AND SH24 INTERSECTION, SATNALI	MAHENDRAGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
801	PALWAL CITY WML BETWEEN HUDA CHOWK TO AGRA CHOWK EXCLUDING NH-2	PALWAL	Regular	210	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
802	VILL PATHARWA, SATNALI-LOHARU ROAD, SH 24	MAHENDRAGARH	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
803	BETWEEN KM STONE 46 - 52 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (RHS)	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
804	KM STONE 39 TO 42 (LHS WHILE GOING FROM SOHNA TO NUH) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	175	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
805	KM STORE 48 TO 50 (LHS) ON NH 8	GURUGRAM	Regular	360	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
806	VILLAGE: HANSAKA , ON NH71B (NEW NH 919)	REWARI	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
807	KM STORE 42 TO 44 (LHS) ON NH 8	GURUGRAM	Regular	360	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
808	VILLAGE-HAMIDPUR, NARNAUL-SINGHANA ROAD, NH 11	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
809	BETWEEN KM 62 TO 66,0N NH-2 RHS	PALWAL	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
810	JHAJJAR CITY BY PASS ROAD NH-71 (NEW NH 352) KM STONE 387 TO 396	JHAJJAR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
811	VILLAGE-RAI MALIKPUR, ON NAGAL CHOUDHARY TO KOTPUTALI ROAD	MAHENDRAGARH	Regular	152	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
812	LHS FROM TEHSIL OFFICE DHARUHERA TO MODERN PUBLIC SCHOOL, NH-71B (NEW NH 919),	REWARI	Regular	250	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
813	BETWEEN KM 66 TO 70,0N NH-2 RHS	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
814	KM STONE 38 TO 40 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	162	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
815	VILLAGE NAKANPUR, ON PUNHANA TO JURHERA ROAD (WML PUNHANA)	NUH	Regular	125	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
816	VILLAGE-GANGAULI, ON REWARI-NARNAUL ROAD NH-11	REWARI	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
817	KM STORE 44 TO 46 (LHS) ON NH 8	GURUGRAM	Regular	360	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
818	KM STONE 60 TO 63, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	190	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
819	SAINIPURA , MAHENDERGARH WML	MAHENDRAGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
820	ON OLD DELHI - GURGAON ROAD, BETWEEN FOUNTAIN CHOWK TO ATUL KATARIRA CHOWK	GURUGRAM	Regular	260	Open	DC	20	20	400	25	60	Draw of Lots	15	5
821	PALWAL ALIGARH ROAD, WITHIN PALWAL MC LIMIT)	PALWAL	Regular	100	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
822	BETWEEN RAJIV CHOWK TO HERO HONDA CHAWK (LHS) ON NH-8	GURUGRAM	Regular	235	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
823	WITHIN 6 KM FROM MAHAVEER CHOWK ON NARNAUL TO MAHENDERGARH ROAD(RHS)	MAHENDRAGARH	Regular	110	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
824	KM STORE 89 TO 91 ON NH8 (RHS)	REWARI	Regular	270	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
825	KM STONE 79 TO 81, RHS ON NH-8	REWARI	Regular	266	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
826	VILLAGE KHAJPUR ON SH- 22	JHAJJAR	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
827	KM STORE 46 TO 48 (LHS) ON NH 8	GURUGRAM	Regular	360	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
828	KM STONE 87 TO 89, RHS ON NH-8	REWARI	Regular	270	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
829	SECTOR-87, FARIDABAD	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
830	VILLAGE-KHATOTI KHURD, NARNAUL-SINGHANA ROAD, NH 11	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
831	AFTER 3 KM FROM VATIKA CHOWK TO TOWARDS NH-8, (SOUTHERN PERIPHERAL ROAD) LHS	GURUGRAM	Regular	190	Open	DC	20	20	400	25	60	Draw of Lots	15	5
832	NARNAUL BYPASS FROM NARNAUL- NIZAMPUR INTERSECTION TO NH11-NARNAUL BYPASS INTERSECTION (RH5)	MAHENDRAGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
833	KM STONE 74 TO 76, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
834	WITHIN 3 KM FROM VATIKA CHOWK TOWARDS NH-8 (SOUTHERN PERIPHERAL ROAD)RHS	GURUGRAM	Regular	190	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
835	BALLABGARH CITY -1, WITHIN MCF, NOT ON NATIONAL HIGHWAY	FARIDABAD	REGULAR	180	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
836	KM STONE 81 TO 84, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
837	SEC 54, GURGAON, ON GOLF COURSE ROAD	GURUGRAM	Regular	270	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
838	VILLAGE SIKRI ON NH-2	FARIDABAD	REGULAR	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
839	BETWEEN KM STONE 44 TO 50 (RHS) NH-2	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
840	ATELI WML, ON ATELI MAHENDERGARH ROAD	MAHENDRAGARH	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
841	WIHTIN 5 KM FROM BADARPUR BORDER ON FARIDABAD BYPASS ROAD	FARIDABAD	REGULAR	165	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
842	BETWEEN KM STONE 91 TO 94,0N NH-2 RHS	PALWAL	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
843	BETWEEN GAWAL PAHARI POLICE CHONKI TO TOLL PLAZA, ON GURGAON FARIDABAD ROAD LHS (WML GURGAON)	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
844	TOWN KANINA WML ON SH24	MAHENDRAGARH	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
845	NARNAUL CITY ON RAMBASS ROAD	MAHENDRAGARH	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	1	•												

846	ON PARVESH MARG RAILWAY ROAD BETWEEN OLD CHOWK TO RAILWAY UNDERPASS	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
847	LHS FROM MODERN PUBLIC SCHOOL TO BHIWADI MODE, NH-71B (NEW NH-919)	REWARI	Regular	250	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
848	JHAJJAR CITY WML ON BERI ROAD	JHAJJAR	Regular	100	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
849	AFTER 3 KM FROM VATIKA CHOWK TOWARDS NH-8, (SOUTHERN PERIPHERAL ROAD) RHS	GURUGRAM	Regular	190	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
850	BETWEEN DAYANAND GOSHALA TO GOPAL DEV CHOWK (WML REWARI)	REWARI	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
851	JHAJJAR CITY WML ON GURGAON ROAD (NOT ON SH)	JHAJJAR	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
852	VILLAGE CHAKARPUR, SEC 27, ON DIVIDING ROAD SEC 27-43 GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
853	B/W KM STONE 80 TO 83 (LHS), NH 8	REWARI	Regular	212	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
854	VILL. SHAHPUR, ON PATAUDI-REWARI ROAD	GURUGRAM	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
855	NARNAUL CITY (WML) ON NH	MAHENDRAGARH	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
856	SECTOR 75A, SEC 75A - 76 DIVIDING ROAD	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
857	WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (RHS)	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
858	KM STONE 87-90, LHS ON NH-8	REWARI	Regular	258	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
859	SEC 76, ON SEC 76-77 DIVIDING ROAD , WITHIN 1 KM FROM NH-8	GURUGRAM	Regular	210	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
860	SECTOR-77 GURGAON	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
861	B/W KM STONE 425 TO 429 ON NH-71(NEW NH 352) FROM JHAJHAR TO NH-8 (LHS)	REWARI	Regular	155	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
862	SEC 8, IMT MANESAR, GURGAON	GURUGRAM	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
863	VILL SARBISARPUR, ON SH-15A	GURUGRAM	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
864	SECTOR 69, ON SEC 68-69 DIVIDING ROAD	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
865	VILL DHUNELA, ON GURGAON TO SOHNA ROAD (LHS)	GURUGRAM	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
866	SECTOR 89, ON SEC 89-93 DIVIDING ROAD	GURUGRAM	Regular	123	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
867	VILL BHONDSI, GURGAON SOHNA ROAD	GURUGRAM	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
868	SEC 18, ON SEC 17-18 DIVIDING ROAD, GURGAON	GURUGRAM	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
869	HUDA CITY CENTER TO GOLF COURSE ROAD (VIA VYAPAR KENDRA) WITHIN 1 KM FROM HUDA CITY CENTER	GURUGRAM	Regular	350	Open	DC	20	20	400	25	60	Draw of Lots	15	5
870	SECTOR 85, GURGAON, IMT MANESAR TO DWARKA ROAD	GURUGRAM	Regular	210	Open	DC	20	20	400	25	45	Draw of Lots	15	5
871	KM STONE 26 TO 30 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	165	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
872	SEC-76, SEC 76-77 DIVIDING ROAD AFTER 1 KM FROM NH-8	GURUGRAM	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
873	SECTOR-51, GURGAON	GURUGRAM	Regular	180	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
874	VILL SULTANPUR, ON GURGAON TO JHAJJAR ROAD	GURUGRAM	Regular	120	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
875	KM STONE 51 TO 57, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	155	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
876	KM 53-56, RHS, NH-8,	GURUGRAM	Regular	350	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
877	KM STONE 84 TO 87, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
878	SECTOR 82A, ON SECTOR 82A -82 DIVIDING ROAD	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
879	WITHIN 4 KM FROM SOHNA CHOWK ON SOHNA PALWAL ROAD TOWARDS PALWAL	GURUGRAM	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
880	JAKODHA, ON OLD NH-10 (CITY),BAHADURGARH ROHTAK ROAD	JHAJJAR	Regular	230	Open	DC	20	20	400	25	45	Draw of Lots	15	5
881	BETWEEN DELHI BORDER TO KM STONE 40 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (LHS)	JHAJJAR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
882	VILLAGE: MASANI , ON NH71B (NEW NH 919)	REWARI	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
883	VILLAGE NURPUR JHARSA, ON BADSAHPUR -TIKLI ROAD	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
884	SH-15A BETWEEN KM STONE 11 TO 14 (LHS)	JHAJJAR	Regular	100	Open CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
885	VILLAGE DUNDAHERA ON OLD DELHI- GURGAON ROAD	GURUGRAM	Regular	180	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
886	VILLAGE PAYGA ON MAHENDERGARH-DADRI ROAD(NH148B)	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
887	ON SH22 , BETWEEN SUBANA CHOWK AND GAWALISION CHOWK , JHAJHAR	JHAJJAR	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
888	REWARI TO DELHI ROAD, NH71B (NEW NH 919) FROM RAO ABHEY SINGH CHOWK TO NH 71 (NEW NH 352) FLYOVER CUT	REWARI	Regular	180	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
889	VILLAGE: GOVINDPURI ON REWARI-NARNAUL ROAD, NH-11	REWARI	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
890	ATELI WML (EXCUDING ATALI-KANIA & ATELI -MAHENDERGARD ROAD)	MAHENDRAGARH	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
891	BETWEEN KM STONE 46 - 52 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (LHS)	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5

892	WITHIN 2 KM FROM KULANA CHOWK ON NH 71 (NEW NH 352) LHS	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
893	WITHIN 1 KM DISTANCE FROM RAO TULA RAM CHOWK TOWARDS DADRI ON MAHENDERGARH-DADRI ROAD (LHS FROM MAHENDERGARH TO DADRI ROAD-NH148B)	MAHENDRAGARH	Regular	190	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
894	VILLAGE-JHAJGARH ON NH334 B	JHAJJAR	Regular	154	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
895	CIRCULAR ROAD-1, WML REWARI	REWARI	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
896	TAURU(WML), ON TAURU TO SOHNA ROAD, NOT ON NH	NUH	Regular	155	Open	DC	20	20	400	25	45	Draw of Lots	15	5
897	VILLAGE NAKANPUR, ON PUNHANA TO KOT ROAD (WML PUNHANA)	NUH	Regular	125	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
898	JHAJJAR CITY WML ON KOSLI ROAD VIA SUBANA (NOT ON SH)	JHAJJAR	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
899	KM STONE 85-87, LHS ON NH-8	REWARI	Regular	258	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
900	VILLAGE:- MANETHI ON REWARI - NARNAUL ROAD	REWARI	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
901	B/W KM STONE 78 TO 80 (LHS), NH 8	REWARI	Regular	212	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
902	VILL KHERKI DHAULA	GURUGRAM	Regular	210	Open	DC	20	20	400	25	60	Draw of Lots	15	5
903	ON SH-22 BETWEEN KM STONE 9 TO 12	JHAJJAR	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
904	VILLAGE SIHI, ,SECTOR-84	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
905	SECTOR 110, ON DWARKA EXPRESSWAY	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
906	KM STONE 100 TO 102, LHS ON NH-8	REWARI	Regular	312	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
907	VILLAGE NANGAL SIROHI, MAHENDERGARH-DADRI ROAD-NH148B	MAHENDRAGARH	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
908	KM STONE 88 TO 94, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
909	KM STONE 41-43, RHS ON NH-8	GURUGRAM	Regular	278	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
910	KM STONE 81 TO 83, RHS ON NH-8	REWARI	Regular	266	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
911	VILLAGE GOAD ON NARNAUL SINGHANA ROAD	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
912	HUDINA ON MAHENDERGARH-DADRI ROAD(NH148B)	MAHENDRAGARH	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
913	KM STONE 77 TO 79, RHS ON NH-8	REWARI	Regular	266	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
914	BETWEEN KM STONE 0 TO 03 ON SH 22(RHS) ,BAHADURGARH -JHAJHAR ROAD	JHAJJAR	Regular	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
915	SECTOR 82, ON SECTOR 82-85 DIVIDING ROAD	GURUGRAM	Regular	200	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
916	ATELL TO NARNAUL ROAD, FROM KM STONE 94-98	MAHENDRAGARH	Regular	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
917	SECTOR-88, FARIDABAD	FARIDABAD	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
918	OLD DELHI GURGAON ROAD, SEC 18, BETWEEN ATUL KATARIA CHOWK TO KAPASHERA BORDER	GURUGRAM	Regular	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
919	SECTOR 86, ON SEC 86-90 DIVIDING RAOD,	GURUGRAM	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
920	B/W KM STONE NO. 34 TO 38 (LHS WHILE GOING FROM SOHNA TO NUH) ON SH 13 (GURGAON-ALWAR ROAD)	NUH	Regular	230	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
921	NARNAUL BYPASS FROM NH11-NARNAUL BYPASS INTERSECTION TO NARNAUL-MAHEDENDERGARH INTERSECTION (RHS)	MAHENDRAGARH	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
922	TAURU(WML), ON TAURU TO BILASPUR ROAD	NUH	Regular	155	Open CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
923	VILL SILANI , ON SOHNA TO PALWAL ROAD	GURUGRAM	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
924	DHARUHERA (WML) NOT ON NH	REWARI	Regular	250	Open	DC	20	20	400	25	45	Draw of Lots	15	5
925	VILLAGE-SEHSAULA ON NH71B WHILE GOING FROM SOHNA TO TAURU	NUH	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
926	VILLAGE HARSARU, GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
927	KM STONE 71 TO 74, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
928	SECTOR 66, ON GURGAON-SOHNA ROAD	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
929	SEC-10 IMT MANESAR , GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
930	VILLAGE THANWAS,NH148B	MAHENDRAGARH	Regular	170	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
931	SECTOR 62, ON SECTO 62-63 DIVIDING ROAD	GURUGRAM	Regular	120	Open	DC	20	20	400	25	45	Draw of Lots	15	5
932	VILL DHUNELA, ON GURGAON TO SOHNA ROAD (RHS)	GURUGRAM	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
933	REWARI (WML) ON REWARI TO BERLI ROAD	REWARI	Regular	125	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
934	SEC 58, GURGAON	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
935	KM STONE 59 TO 61 LHS (DELHI - JAIPUR HIGHWAY)	GURUGRAM	Regular	360	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
936	VILL TIGRA, GURGAON CITY WML	GURUGRAM	Regular	150	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
937	BETWEEN KM STONE 54 TO 58 (RHS) NH-2	PALWAL	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	1				1									

938	SECTOR 70, GURGAON	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
939	SOHNA WML ,ON NH	GURUGRAM	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
940	BETWEEN HERO HONDA CHAWK TO 42 KM STONE, LHS ON NH-8	GURUGRAM	Regular	235	Open	DC	20	20	400	25	60	Draw of Lots	15	5
941	BETWEEN KM STONE 40 - 46 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (LHS)	JHAJJAR	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
942	VILLAGE BASELWA, FARIDABAD	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
943	B/W KM STONE 88 TO 92 ON SH26 (NOW NH11)	MAHENDRAGARH	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
944	BETWEEN KM STONE 50 TO 54 (RHS) NH-2	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
945	KM STONE 38-41, RHS ON NH-8	GURUGRAM	Regular	278	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
946	VILLAGE NANGLI VIRAN, ON SH-22(IHAJHAR-BAHADURGARH ROAD)	JHAJJAR	Regular	150	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
947	WITHIN 2 KM FROM AL-AFIA GENERAL HOSPITAL MANDIKHERA TOWARDS BADKALI	NUH	Regular	170	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
948	VILL KHIRKI MAJRA,	GURUGRAM	Regular	110	OBC PH	DC	20	20	400	25	45	Draw of Lots	15	4
949	KM STORE 397 TO 405 ON NH71, JHAJJAR TO REWARI ROAD (LHS)	JHAJJAR	REGULAR	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
950	RHS FOM TEHSIL OFFICE DHARUHERA TO MODERN PUBLIC SCHOOL, NH-71B (NEW NH 919)	REWARI	Regular	250	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
951	MENDLA, ON SOHNA-TAURU ROAD-NH-919(LHS)	NUH	Regular	135	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
952	ON NH8 KM STORE 92 TO 95,LHS	REWARI	Regular	258	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
953	KM STONE 64 TO 67, RHS ON NH-8	GURUGRAM	Regular	266	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
954	WITHIN 3 KM FROM VATIKA CHOWK TOWARDS NH-8 (SOUTHERN PERIPHERAL ROAD)LHS	GURUGRAM	Regular	190	Open	DC	20	20	400	25	60	Draw of Lots	15	5
955	FARIDABAD CITY -2, (WML & NOT ON NH)	FARIDABAD	REGULAR	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
956	KM STONE 43-45, RHS ON NH-8	GURUGRAM	Regular	350	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
957	VILLAGE PALI,MAHENDERGARH-DADRI ROAD-ON NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
958	KM STONE 67 TO 70 LHS (DELHI - JAIPUR HIGHWAY)	REWARI	Regular	268	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
959	VILLAGE JOHNAWAS,MAHENDERGARH-DADRI ROAD-NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
960	VILLAGE KHETIWAS, ON PATAUDI TO REWARI ROAD	GURUGRAM	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
961	WITHIN 2 KM FROM KULANA CHOWK ON NH 71 (NEW NH 352) (RHS)	JHAJJAR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
962	KM STONE 69 TO 72, RHS ON NH-8	REWARI	Regular	266	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
963	B/W KM STONE 421 TO 425 ON NH-71(NEW NH 352) FROM JHAJHAR TO NH-8 (RHS)	REWARI	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
964	NH 71 (NEW NH 352), KM STONE 409 TO 411 LHS (JHAJJAR REWARI ROAD)	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
965	BETWEEN 14KM TO 16KM FROM NARNAUL ON NARNAUL-NANGAL CHAUDHARY ROAD	MAHENDRAGARH	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
966	KM STONE 48 TO 52 (LHS WHILE GOING FROM NUH TO FIROZPURJHIRKA) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	178	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
967	KM STONE 97-100, LHS ON NH-8	REWARI	Regular	312	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
968	KM STONE 75 TO 78 (LHS) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	215	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
969	NIZAMPUR TO NARNAUL ROAD, UPTO 5 KM FROM DEVI LAL CHOWK TOWARDS NARNAUL.	MAHENDRAGARH	Regular	165	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
970	BETWEEN KM 76 TO 80,0N NH-2 RHS DELHI MATHURA ROAD	PALWAL	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
971	VILLAGE- KHATIWAS ON NH334B	JHAJJAR	Regular	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
972	ON KHERI ROAD, WITHIN 2 KM FROM K.R.MANGLAM SCHOOL,FARIDABAD	FARIDABAD	REGULAR	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
973	KM STORE 91 TO 93 ON NH8 (RHS)	REWARI	Regular	270	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
974	KM STONE 84 TO 89 RHS NH-2	PALWAL	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
975	BALLABGARH CITY -2, WITHIN MCF,NOT ON NATIONAL HIGHWAY	FARIDABAD	REGULAR	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
976	SECTOR 86, FARIDABAD ON MASTER ROAD	FARIDABAD	REGULAR	175	Open	DC	20	20	400	25	60	Draw of Lots	15	5
977	NARNAUL BYPASS FROM NH11-NARNAUL BYPASS INTERSECTION TO NARNAUL-MAHEDENDERGARH INTERSECTION (LHS)	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
978	BETWEEN KM 70 TO 76,0N NH-2 RHS	PALWAL	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
979	VILL MOKALWAS,GURGAON ON JAMALPUR PANCHGAON ROAD	GURUGRAM	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
980	BETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GURGAON FARIDABAD ROAD LHS	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
981	SECTOR 66, ON SECTOR 65-66 DIVIDING ROAD	GURUGRAM	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
982	SEC 114, BAIGHERA, GURGAON	GURUGRAM	Regular	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
983	KM STONE 67 TO 69, RHS ON NH-8	REWARI	Regular	266	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3

984	B/W KM STONE NO. 29 TO 34 (LHS WHILE GOING FROM SOHNA TONUH) ON SH 13 (GURGAON-ALWAR ROAD)	NUH	Regular	165	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
985	BETWEEN 16KM TO 18KM FROM NARNAUL ON NARNAUL-NANGAL CHAUDHARY ROAD	MAHENDRAGARH	Regular	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
986	GURGAON ALWAR ROAD BETWEEN PATHKORI AND RAWLI (RHS)	NUH	Regular	235	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
987	KULTAJPUR ROAD WITHIN NARNAUL MUNICIPAL LIMIT	MAHENDRAGARH	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
988	SECTOR 44, ON BHAGWAN MAHAVIR MARG	GURUGRAM	Regular	240	Open	DC	20	20	400	25	60	Draw of Lots	15	5
989	VILLAGE: FIDERI , ON NH71B (NEW NH 919)	REWARI	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
990	SECTOR 88B, DWARKA EXPRESSWAY	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
991	VILLAGE-BALANA,MAHENDERGARH-SATNALI ROAD -SH24	MAHENDRAGARH	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
992	SECTOR 64-65, VILLAGE MADAWAS	GURUGRAM	Regular	120	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
993	JHAJJAR CITY WML ON OLD JHAJJAR ROHTAK ROAD (NEAR NEW BUS STAND BEFORE GUDHA NH 71 FLYOVER) (NOT ON SH/NH	JHAJJAR	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
994	VILLAGE SISOTH,MAHENDERGARH-DADRI ROAD-NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
995	VILLAGE JONDHI ON NH 334B	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
996	BETWEEN KM STONE 40 - 46 ON NH-10(NEW NH-09) DELHI- ROHTAK ROAD (RHS)	JHAJJAR	Regular	150	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
997	BETWEEN 3-7KM FROM NARNAUL ON MAHENDERGARH-NARNAUL ROAD (NH148B)	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
998	BHADURGARH CITY WML ON MDR 136 BAHDURGARH GURGAON ROAD	JHAJJAR	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
999	RHS ON REWARI TO DELHI ROAD, NH71B (NEW NH 919) FROM DHARUHERA CHUNGI TO RAO ABHEY SINGH CHOWK	REWARI	Regular	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1000	LHS ON REWARI TO DELHI ROAD, NH71B (NEW NH 919) FROM DHARUHERA CHUNGI TO RAO ABHEY SINGH CHOWK	REWARI	Regular	160	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1001	FARIDABAD CITY -1, (WML & NOT ON NH)	FARIDABAD	REGULAR	180	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1002	KM STONE 65 TO 67 LHS (DELHI - JAIPUR HIGHWAY)	GURUGRAM	Regular	268	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1003	BETWEEN 18KM TO 20KM FROM NARNAUL ON NARNAUL-NANGAL CHAUDHARY ROAD	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1004	LHS ON REWARI TO MAHENDERGARH ROAD,UPTO 3 KM FROM GOPAL DEV CHOWK	REWARI	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1005	SEC 63A, VILLAGE KADARPUR,SECTOR ROAD	GURUGRAM	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1006	VILLAGE ATITKA , LHS WHILE GOING FROM TAURU TO BHIWADI ON NH-71B	NUH	Regular	200	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1007	ATELI WML ON ATELI KANINA ROAD	MAHENDRAGARH	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1008	VILLAGE JADRA, REWARI-MAHENDERGARH ROAD	REWARI	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1009	BETWEEN HARDWARE CHOWK TO BATA CHOWK	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1010	SEC 83,GURGAON, ON SECTOR ROAD	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1011	KM STORE 50 TO 53 (LHS) ON NH 8	GURUGRAM	Regular	360	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1012	SECTOR 53, GURGAON	GURUGRAM	Regular	270	Open CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
1013	BETWEEN DABUA CHOWK TO HARDWARE CHOWK	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1014	SECTOR 87, GURGAON	GURUGRAM	Regular	123	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1015	VILLAGE: KAKORIYA ON REWARI-PATAUDI ROAD, SH-26.	REWARI	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1016	WITHIN 6 KM FROM MAHAVEER CHOWK ON NARNAUL TO MAHENDERGARH ROAD(LHS)	MAHENDRAGARH	Regular	110	open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1017	BETWEEN ARAVALI INTL. SCHOOL CHOWK TO PALI POLICE CHOWKI ON SURAIKUND TO GURUGRAM ROAD	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1018	SEC 92, GURGAON	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1019	SEC 59, GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1020	SEC 103, GURGAON	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1021	BETWEEN SANIK COLONY TO PALI POLICE CHOWKI ON FARIDABAD-GURGAON ROAD LHS	FARIDABAD	REGULAR	175	Open CC 2	DC	20	20	400	25	60	Draw of Lots	15	5
1022	KM STONE 40 TO 43 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	185	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1023	ATELI TO NARNAUL ROAD, FROM KM STONE 102-106	MAHENDRAGARH	Regular	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
1024	SEC 37 D, GURGAON	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1025	VILLAGE GUDHA ON NH 71 (NEW NH 352)	JHAJJAR	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1026	SEC 81, GURGAON, ON 81-86 DIVIDING ROAD	GURUGRAM	Regular	140	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1027	KM STONE 83 TO 85, RHS ON NH-8	REWARI	Regular	266	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
1028	SECTOR 90, GURGAON	GURUGRAM	Regular	123	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1029	VILLAGE AKODA,MAHENDERGARH-DADRI ROAD-ON NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
		1				l			l				I	

1030	I	FARIDARAD	REGULAR	165	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1030	ON DIVIDING ROAD OF SECTOR 17 AND 18	NUH		250		DC	35	45	1575	25 25			15	
	BETWEEN KM STONE 70 TO 75 (LHS) 248A	-	Regular		Open						75	Draw of Lots		5
1032	KM STONE 33 TO 35 ON NH8 (RHS)	GURUGRAM	Regular	278		CFS	20	20	400	0	-	Draw of Lots	0	
1033	VILLAGE BUCHAWAS,KANINA TO MAHENDERGARH ROAD-SH24	MAHENDRAGARH	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1034	REWARI BY-PASS ROAD FROM RAO ABHEY SINGH CHOWK TO PRAJAPATI CHOWK	REWARI	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1035	KM STONE 63 TO 65 LHS (DELHI - JAIPUR HIGHWAY)	GURUGRAM	Regular	268	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1036	SEC 93, GURGAON,ON SECTOR ROAD	GURUGRAM	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1037	KM STONE 30 TO 35 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	162	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1038	VILLAGE JATT, MAHENDERGARH-DADRI ROAD-ON NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1039	SH-15A KM STONE 15 TO 17 (RHS)	JHAJJAR	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1040	B/W KM STONE 72 TO 77 ON SH26 (NOW NH11)	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1041	BETWEEN 12KM TO 14KM FROM NARNAUL ON NARNAUL-NANGAL CHAUDHARY ROAD	MAHENDRAGARH	Regular	160	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1042	KM STONE 61 TO 63 LHS (DELHI - JAIPUR HIGHWAY)	GURUGRAM	Regular	268	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1043	VILLAGE-MADHOGARH,MAHENDERGARH-SATNALI ROAD -SH24	MAHENDRAGARH	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1044	VILLAGE KHERI KHUMAR ON NH 334 B	JHAJJAR	Regular	154	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1045	KM STONE 95-97, LHS ON NH-8	REWARI	Regular	258	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1046	KM STONE 75-78, LHS ON NH-8	REWARI	Regular	212	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1047	KM STONE 75 TO 78 (RHS) ON SH 13 (NEW NH 248A) (GURGAON-ALWAR ROAD).	NUH	Regular	215	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1048	KM STONE 45-48, RHS ON NH-8	GURUGRAM	Regular	350	OBC PH	DC	35	45	1575	25	75	Draw of Lots	15	4
1049	B/W KM STONE 58 TO 60 (RHS) ON NH-8	GURUGRAM	Regular	275	SC PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
1050	ON REWARI BY-PASS ROAD FROM RAO ABHEY SINGH CHOWK TO RAJESH PILOT CHOWK	REWARI	Regular	110	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1051	BETWEEN MILESTONE 56-58 (RHS) ON NH 8.	GURUGRAM	Regular	275	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1052	KAKROLA ON MULTI UTILITY CORRIDOR ROAD	GURUGRAM	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1053	WITHIN ATELI MUNICIPAL LIMITS ON NH 11	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1054	BETWEEN MILESTONE 74 TO 77 (RHS) ON NH 8.	REWARI	Regular	266	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1055	KM STONE 85 TO 87, RHS ON NH-8	REWARI	Regular	270	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1056	WITHIN WML PATAUDI , NOT ON SH-26	GURUGRAM	Regular	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1057	KM STONE 102 TO 104, LHS ON NH-8	REWARI	Regular	312	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1058	KM STONE 70 TO 72 LHS (DELHI - JAIPUR HIGHWAY)	REWARI	Regular	268	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1059	SECTOR-102, GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1060	KM STONE 104 TO RAJASTHAN -HARYANA BORDER LHS, NH-8	REWARI	Regular	312	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1061	KM STONE 83-85, LHS ON NH-8	REWARI	Regular	258	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1062	VILLAGE BADHWANA,MAHENDERGARH-DADRI ROAD-ON NH148B	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1063	B/W KM STONE 62 TO 64 (RHS) ON NH-8	GURUGRAM	Regular	266	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
1064	RAJIV CHOWK TO VATIKA CITY CHOWK, GURGAON,(LHS), ON NH-248A	GURUGRAM	Regular	200	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1065	VILLAGE NOLPUR,NH148B	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1066	KM STONE 56 TO 59 LHS (DELHI - JAIPUR HIGHWAY)	GURUGRAM	Regular	360	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1067	SEC 95, ON SECTOR 95 - 92 DIVIDEING ROAD.	GURUGRAM	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1068	NARNAUL BYPASS FROM NARNAUL- NIZAMPUR INTERSECTION TO NH11-NARNAUL BYPASS INTERSECTION (LHS)	MAHENDRAGARH	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1069	VILLAGE KAIL GAON, ON NH-2, DELHI-MATHURA ROAD	FARIDABAD	REGULAR	160	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1070	ON OLD TIGAON ROAD, WITHIN 2 KM FROM MODREN DPS	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1071	KM STORE 95 TO 97 ON NH8 (RHS)	REWARI	Regular	270	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
1072	ON EITHER SIDE FROM SAINIK COLONY MOR MASJID TO MATESHWARI CHOWK	FARIDABAD	REGULAR	160	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
1073	DLF INDUSTRIAL AREA, SECTOR 32	FARIDABAD	REGULAR	165	Open PH	DC	20	20	400	25	60	Draw of Lots	15	5
1074	KM STONE 63 TO 65, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1075	ON EITHER SIDE OF SECTOR 28 AND 29 ON DIVIDING ROAD	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
	1	1			l					L				

March Miller Mi	1076	IANGAL CHAUDHARY WML ON NH	MAHENDRAGARH	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
Miles Miles Train State Claude Miles	1077 5	ECTOR -50, FARIDABAD	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
Marche 1	1078	M STONE 23 TO 26 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	170	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
March Marc	1079	M STONE 99 TO101 RHS ON NH-8	REWARI	Regular	270	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Marche equal to Municipal Property of the Company	1080	M STONE 101 TO 105 RHS ON NH-8	REWARI	Regular	270	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
Description Control Market Control	1081 H	IODAL CITY (WML) EXCLUDING NH-2	PALWAL	Regular	160	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
Part	1082	ILLAGE KUKSI ON MAHENDERGARH-DADRI ROAD(NH148B)	MAHENDRAGARH	Regular	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1955 NAME STORE AND TO STORE ON THE STORE AND THE STOR	1083	HANTI NAGAR, BERIWALA BAGH ROAD, GURGAON	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
MASTONES SAS, LIS SAN 81 MASTONES S	1084	IN NH8 KM STORE 90 TO 92,LHS	REWARI	Regular	258	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
Marche as 750 as, Marche as 750 as, March as, March as 750 as, March as,	1085	/W KM STONE 442 TO 446 ON NH-71(NEW NH 352) FROM JHAJHAR TO NH-8 (LHS)	REWARI	Regular	155	sc	CFS	35	45	1575	0	0	Draw of Lots	0	3
Common C	1086	M STONE 53-56, LHS NH 8	GURUGRAM	Regular	360	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Marcia M	1087	M STONE 66 TO 68, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10000 10	1088	ILL. GARAULI KALAN ON GURGAON PATAUDI ROAD	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
PARCHARD	1089	M 51-53, RHS, NH-8,	GURUGRAM	Regular	350	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
Part	1090	ECTOR-109, GURGAON	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
MANIAN CITY (WALL) OF PALWAL NOT HOLDS	1091	IANGLA GUJRAN, ON BALLABGARH-SOHNA ROAD.	FARIDABAD	REGULAR	165	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1994 SEC 91, GURRADON GURLAGRAM Regular 130 SC CF5 20 20 400 0 0 Draw of Lets 0	1092 F	ARUKHNAGAR, WML	GURUGRAM	Regular	109	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1005 MA STORE AT DIS LING NAN ZORIGH MATHURA READA	1093	ALWAL CITY (WML) ON PALWAL- NUH ROAD	PALWAL	Regular	105	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1096 GABRI MARSARSI, GUIRGADN CIRRIGRAM Regular 150 Open OC 20 20 400 25 45 Draw of Lots 15	1094	EC 91, GURGAON	GURUGRAM	Regular	130	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1977 MASTONE \$5 TO \$8 ON NH-2 MATTHURA DELHE ROAD	1095	M STONE 44 TO 51 LHS NH-2 DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	35	45	1575	25	75	Draw of Lots	15	5
1098 SECTOR 89, ON SEC 89-88 DIVIDING BOAD OUND COMMAND OUND COMMAND COMMAND OUND COMMAND COMMAND OUND COMMAND COMMAND COMMAND OUND COMMAND COMMAND COMMAND COMMAND COMMAND COMMAND COMMAND OUND COMMAND CO	1096	arhi harsaru, gurgaon	GURUGRAM	Regular	150	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1099 M STONE \$7 TO \$9, NH-2, LIS DELHI MATHURA ROAD	1097	M STONE 35 TO 38 ON NH-2 MATHURA-DELHI ROAD	FARIDABAD	REGULAR	162	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
1100 MM STONE 48-\$1, RIS ON NI-8 GURIGRAM Regular 350 OBC DC 35 45 1575 25 75 Draw of Lots 15	1098	ECTOR 89, ON SEC 89-88 DIVIDING ROAD	GURUGRAM	Regular	200	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1101 ON SECTIOR 3-7 GUIRGAON MAHAR SINGH PALACE TO GUIRGAON CANAL BYPASS ROAD. FARIDABAD REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1102 SECTIOR 37 GUIRGAON MAHAR SINGH PALACE TO GUIRGAON CANAL BYPASS ROAD. GUIRGAAM Regular 180 Open DC 20 20 400 25 60 Draw of Lots 15 11103 VILLAGE MANWAI, FARIDABAD REGULAR 160 SC CFS 20 20 400 0 0 0 Draw of Lots 15 11104 MINITOR 97 TO 99 RHS ON NH-8 REVARI REGULAR 160 SC CFS 20 20 400 0 0 0 Draw of Lots 15 11105 DAULTABAD RYVOVER TO BALGHERA ROAD GUIRGAOM REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 11106 SECTIOR-12 INITI MANAESAR GUIRGAOM REGULAR REGULAR REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 11107 BETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GUIRGAOM FARIDABAD ROAD RIS GUIRGAAM REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 11106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 11106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 111106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 111106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1111106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR 160 OPEN DC 20 20 400 25 60 Draw of Lots 15 1111106 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GUIRGAOM REGULAR REGULAR 160 OPEN DC 20 20 400 25 60 Draw of Lots 15 111111 ROM BATA CHOWK TO NELAM CHOWK RIS REGULAR REGULAR REGULAR REGULAR 160 OPEN DC 20 20 400 25 60 Draw of Lots 15 111111 ROM BATA CHOWK TO NELAM CHOWK RIS REGULAR REGULAR REGULAR REGULAR 150 OPEN DC 20 20 400 25 45 00 Draw of Lots 15 111111 ROM BATA CHOWK TO NELAM CHOWK RIS REGULAR REGULAR REGULAR REGULAR REGULAR ROAD (LINS) 15 0 DRAW OF LOTS 15 15 00 DR	1099	M STONE 57 TO 59, NH-2, LHS DELHI MATHURA ROAD	PALWAL	Regular	150	Open	DC	20	20	400	25	75	Draw of Lots	15	5
1102 SECTOR 37 GURGAON SEGULAR SEGULAR SEGULAR SECTOR 37 GURGAON SEGULAR	1100	KM STONE 48-51, RHS ON NH-8	GURUGRAM	Regular	350	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1103 VILLAGE MAWAI, FARIDABAD REGULAR 160 SC CFS 20 20 400 0 0 0 0 Draw of Lots 0	1101	IN SECTOR 3-4 DIVIDING ROAD, FROM NAHAR SINGH PALACE TO GURGAON CANAL BYPASS ROAD.	FARIDABAD	REGULAR	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1104 KM STONE 97 TO 99 RHS ON NH-8 REWARI Regular 270 OBC DC 35 45 1575 25 75 Draw of Lots 15 1105 DAULTABAD ELYDVER TO BAJGHERA ROAD GURLIGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 1106 SECTOR-12 IMT MANESAR GURLIGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 1107 BETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GURGAON FARIDABAD ROAD RHS GURLIGRAM Regular 150 SC CFS 20 20 400 0 0 0 Draw of Lots 0 1108 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GURGAON FARIDABAD REGULAR 160 Open DC 20 20 400 25 45 Draw of Lots 15 1109 ON TILIPAT ROAD, FROM SECTOR-37 TO TILIPAT FARIDABAD REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1110 KM STONE 93 TO 95 ON NHS (RHS) REWARI REGULAR 165 OBC DC 20 20 400 25 60 Draw of Lots 15 1111 FROM BATA CHOWK TO NEELAM CHOWK TO SURGAON - BASAI ROAD (LHS) GURLIGRAM Regular 150 SC CFS 20 20 400 0 25 45 Draw of Lots 15 1111 WITHIN A KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS) GURLIGRAM Regular 150 SC CFS 20 20 400 0 25 45 Draw of Lots 15	1102	ECTOR 37 GURGAON	GURUGRAM	Regular	180	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1105 DAULTABAD FLYOVER TO BAIGHERA ROAD GURUGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 1106 SECTOR-12 IMT MANESAR GURUGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 Draw of Lots	1103	ILLAGE MAWAI, FARIDABAD	FARIDABAD	REGULAR	160	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1106 SECTOR-12 IMT MANESAR GURGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15 1107 BETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GURGAON FARIDABAD ROAD RHS 1108 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GURUGRAM Regular 150 OBC DC 20 400 25 45 Draw of Lots 15 1109 ON TILDAT ROAD, FROM SECTOR-37 TO TILDAT FARIDABAD REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1110 KM STORE 93 TO 95 ON NIB (RHS) REWARI REGULAR REGULAR 165 OBC DC 20 20 400 25 75 Draw of Lots 15 1111 FROM BATA CHOWK TO NELAM CHOWK RHS FARIDABAD REGULAR 165 OBC DC 20 20 400 25 60 Draw of Lots 15 1111 WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS) GURUGRAM Regular 150 SC CFS 20 20 400 0 0 0 Draw of Lots 15 1113 SECTOR 86, ON SEC 86-87 DIVIDING RADO, GURUGRAMO Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15	1104	M STONE 97 TO 99 RHS ON NH-8	REWARI	Regular	270	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
1107 BETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GURGAON FARIDABAD ROAD RHS GURUGRAM Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 15	1105	AULTABAD FLYOVER TO BAJGHERA ROAD	GURUGRAM	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1108 WITHIN HALLEY MANDI MUNICIPAL LIMIT. GURUGRAM Regular 150 OBC DC 20 20 400 25 45 Draw of Lots 15 1109 ON TILPAT ROAD, FROM SECTOR-37 TO TILPAT FARIDABAD REGULAR REGULAR REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1110 KM STORE 93 TO 95 ON NHB (RHS) TO PROM DE CANADA TO NELAM CHOWK TO NELAM CHOWK RHS REWARI REGULAR REGULAR REGULAR 165 OBC DC 20 20 400 25 60 Draw of Lots 15 Draw of Lots 15 1111 FROM BATA CHOWK TO NELAM CHOWK TO NELAM CHOWK RHS REGULAR 150 SC CFS 20 20 400 0 0 Draw of Lots 15 Draw of Lots Draw of Lots Draw of Lots Draw	1106	ECTOR-12 IMT MANESAR	GURUGRAM	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1109 ON TILPAT ROAD,FROM SECTOR-37 TO TILPAT FARIDABAD REGULAR 160 Open DC 20 20 400 25 60 Draw of Lots 15 1110 KM STORE 93 TO 95 ON NHB (RHS) REWARI REGULAR 270 Open CC 1 DC 35 45 1575 25 75 Draw of Lots 15 1111 FROM BATA CHOWK TO NEELAM CHOWK RHS FARIDABAD REGULAR 165 OBC DC 20 20 400 25 60 Draw of Lots 15 1112 WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS) GURUGRAM REGULAR 150 SC CFS 20 20 400 0 0 0 Draw of Lots 0 1113 SECTOR 86, ON SEC 86-87 DIVIDING RAOD, GURUGRADO, GURUGRAM REGULAR 100 Open DC 20 20 400 25 45 Draw of Lots 15	1107 E	ETWEEN BRISTOL CHOWK TO GAWAL PAHARI POLICE CHOWKI, VILL GAWAL PAHARI ON GURGAON FARIDABAD ROAD RHS	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1110 KM STORE 93 TO 95 ON NH8 (RHS) REWARI REGULAR 165 OBC DC 20 400 25 60 Draw of Lots 15 1112 WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (IHS) GURGRAM Regular 150 SC CFS 20 20 400 0 0 0 0 0 0 0 0 0 0 0	1108	VITHIN HALLEY MANDI MUNICIPAL LIMIT.	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1111 FROM BATA CHOWK TO NEELAM CHOWK RHS FARIDABAD REGULAR 165 OBC DC 20 20 400 25 60 Draw of Lots 15 1112 WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS) GURUGRAM Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0 1113 SECTOR 86, ON SEC 86-87 DIVIDING RAOD, GURUGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15	1109	IN TILPAT ROAD, FROM SECTOR-37 TO TILPAT	FARIDABAD	REGULAR	160	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1112 WITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS) GURUGRAM Regular 150 SC CFS 20 20 400 0 0 Draw of Lots 0 1113 SECTOR 86, ON SEC 86-87 DIVIDING RAOD, GURUGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15	1110	M STORE 93 TO 95 ON NH8 (RHS)	REWARI	Regular	270	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
1113 SECTOR 86, ON SEC 86-87 DIVIDING RADD, GURUGRAM Regular 100 Open DC 20 20 400 25 45 Draw of Lots 15	1111	ROM BATA CHOWK TO NEELAM CHOWK RHS	FARIDABAD	REGULAR	165	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
	1112	VITHIN 4 KM FROM PATAUDI CHOWK ON GURGAON - BASAI ROAD (LHS)	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
1114 SECTOR 110A, GURGAON GURGAON GURGAON GURGAON GURGAON Regular 140 Open DC 20 20 400 25 45 Draw of Lots 15	1113	ECTOR 86, ON SEC 86-87 DIVIDING RAOD,	GURUGRAM	Regular	100	Open	DC	20	20	400	25	45	Draw of Lots	15	5
	1114	ECTOR 110A, GURGAON	GURUGRAM	Regular	140	Open	DC	20	20	400	25	45	Draw of Lots	15	5
1115 SEC 99, GURGAON GURUGRAM Regular 150 OBC DC 20 20 400 25 45 Draw of Lots 15	1115	EC 99, GURGAON	GURUGRAM	Regular	150	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1116 ON EITHER SIDE FROM SARAN CHOWK TO JAWAHAR COLONY DISPOSAL CHOWK FARIDABAD REGULAR 165 SC CFS 20 20 400 0 0 Draw of Lots 0	1116	IN EITHER SIDE FROM SARAN CHOWK TO JAWAHAR COLONY DISPOSAL CHOWK	FARIDABAD	REGULAR	165	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
1117 SECTOR-102A, GURGAON GURGAON Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15	1117	ECTOR-102A, GURGAON	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1118 ON CPR(CENTRAL PERIPHERI ROAD) CONNECTING SPR TO NPR GURUGRAM Regular 150 Open DC 20 20 400 25 60 Draw of Lots 15	1118	IN CPR(CENTRAL PERIPHERI ROAD) CONNECTING SPR TO NPR	GURUGRAM	Regular	150	Open	DC	20	20	400	25	60	Draw of Lots	15	5
1119 SECTOR-9 IMT MANESAR GURUGRAM Regular 100 OBC DC 20 20 400 25 45 Draw of Lots 15	1119	ECTOR-9 IMT MANESAR	GURUGRAM	Regular	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
1120 VILLAGE BUDHERA,ON SH-15A GURUGRAM Regular 105 Open DC 35 35 1225 25 60 DRAW OF LOTS 15	1120	ILLAGE BUDHERA,ON SH-15A	GURUGRAM	Regular	105	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1121 SECTOR-15 IMT MANESAR GURUGRAM Regular 100 SC CC 1 CFS 20 20 400 0 0 Draw of Lots 0	1121 9	ECTOR-15 IMT MANESAR	GURUGRAM	Regular	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3

1122	FROM GOHANA STAND TO SUKHPURA CHOWK , ON RHS, ROHTAK CITY	ROHTAK	Regular	110	Open CC 2	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1123	VILL. TALWARA KHURD ON SH-23	SIRSA	Regular	110	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1124	BETWEEN KM STONE 167 TO 169 ON NH 709E, BHIWANI LOHARU ROAD	BHIWANI	Regular	158	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1125	VILL TALU BETWEEN KM STONE 23 &26 ON BHIWANI TO JIND ROAD NH 709- A	BHIWANI	Regular	158	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1126	FROM AGARSAIN CHOWK TO BANSI LAL PARK ON CIRCULAR ROAD ON RHS, BHIWANI CITY	BHIWANI	Regular	160	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1127	WITHIN 2 KM FROM TIGRANA MOD TOWARDS JIND, ON BHIWANI - JIND ROAD	BHIWANI	Regular	158	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1128	VILL KUDAL ON BHIWANI TO LOHARU ROAD	BHIWANI	Regular	158	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1129	FROM AGARSAIN CHOWK TO NEW BUS STAND ON BHIWANI - ROHTAK ROAD , BHIWANI CITY	BHIWANI	Regular	160	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1130	FROM DEVILAL CHOWK TOWARDS LOHARU ON RHS WITHIN MUNICIPAL LIMIT OF BHIWANI CITY	BHIWANI	Regular	152	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1131	WITHIN 1 KM OF BHAGAT SINGH CHOWK TOWARDS CITY RAILWAY STATION, ON ROAD DIVIDING SECTOR 13 & SECTOR 23	BHIWANI	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1132	FROM DEVSAR MOD TO RAJGARH MOD ON BHIWANI LOHARU ROAD	BHIWANI	Regular	159	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1133	FROM AGARSAIN CHOWK TO HANSI GATE, BHIWANI CITY	BHIWANI	Regular	160	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1134	VILL MUNDHAL ON NH 09	BHIWANI	Regular	154	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1135	VILL. KHARAK KHURD ON BHIWANI-ROHTAK ROAD, NH709	BHIWANI	Regular	152	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1136	WITHIN 2 KM OF JHAJJAR CHUNGI TOWARDS JHAJJAR ON LHS(WITHIN MUNICIPAL LIMITS ROHTAK)	ROHTAK	Regular	110	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1137	VILLAGE KHERI BURA , BETWEEN KM STONE 183 TO 185 ON CHARKHI DADRI TO LOHARU ROAD, NH 334 B	CHARKHI DADRI	Regular	164	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1138	NEW SIWANI BY PASS ON NH-52	BHIWANI	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1139	VILLAGE IMLOTA ON NH 334 B	CHARKHI DADRI	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1140	ON NH-9, BETWEEN MOUNT LITERA Z SCHOOL & STARTING POINT OF FATEHABAD NEW BYEPASS	FATEHABAD	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1141	RHS ON NEW BYPASS ROAD CONNECTING NH-52 (HISAR-BARWALA ROAD) AND NH-9 (HISAR-SIRSA) ROAD	HISAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1142	ON FATEHABAD NEW BYEPASS ON NH 09 (LHS)	FATEHABAD	Regular	156	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1143	VILLAGE JHUMPA ON NH-52 (LHS TOWARDS RAJGARH)	BHIWANI	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1144	ON FATEHABAD NEW BYEPASS ON NH 09 (RHS)	FATEHABAD	Regular	156	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1145	LHS ON NEW BARWALA BYPASS (NH-52) TOWARDS HISAR	HISAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1146	FATEHABAD CITY (WML)	FATEHABAD	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1147	FROM MITTAL CHOWK TO PRASHURAM CHOWK ON LHS , CHARKHI DADRI CITY	CHARKHI DADRI	Regular	110	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1148	BETWEEN KM STONE 153 AND 158 ON LHS TOWARDS ROHTAK ON NEW HANSI BYPASS NH-9	HISAR	Regular	150	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1149	BETWEEN FATEHABAD BRANCH OF BHAKHRA CANAL & GOVT. HIGH SCHOOL, BADOPAL ON NH-9	FATEHABAD	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1150	SATROAD KHAS, RHS ON OP JINDAL MARG FROM HISAR TO DELHI, HISAR	HISAR	Regular	110	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1151	RHS ON NEW BARWALA BYPASS (NH-52) TOWARDS HISAR	HISAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1152	BETWEEN LAHORIA CHOWK TO MILL GATE, HISAR CITY	HISAR	Regular	105	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1153	WITHIN 1 KM FROM HANSI BUS STAND TOWARDS HISAR, HANSI CITY	HISAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1154	WITHIN MUNICIPAL LIMIT OF HISAR CITY ON HISAR - BALSAMAND ROAD	HISAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1155	VILLAGE MUKLAN ON NEW NH-52 (LHS TOWARDS RAIGARH)	HISAR	Regular	152	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1156	LOCATION BETWEEN VILLAGE ANOOPGARH TO PINDARA ON NEW BYEPASS (RING ROAD)-LHS	JIND	Regular	157	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1157	BETWEEN KM STONE 155 TO 157 ON NH-52, LHS TOWARDS JHUMPA	HISAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1158	VILLAGE BARODA ON NH-352 -LHS (JIND TO NARWANA)	JIND	Regular	182	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1159	VILLAGE BARODA ON NH-352 -RHS (JIND TO NARWANA)	JIND	Regular	182	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1160	WML OF JIND CITY ON NARWANA ROAD	JIND	Regular	162	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1161	VILLAGE BELARKHA ON NH-52 (OLD NH-352)-LHS	JIND	Regular	182	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1162	FROM KM STONE 58 TO 60 ON RHS , ON NH 09	ROHTAK	Regular	157	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1163	JIND CITY WML(AGARASEN CHOWK TO BATAK CHOWK)	JIND	Regular	170	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1164	DANODA KHURD FROM DANODA BYEPASS TO SUREWALA CHOWK NH-52-RHS	JIND	Regular	180	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1165	VILLAGE BELARKHA ON NH-52 (OLD NH-352)-RHS (NARWANA-PATIALA ROAD)	JIND	Regular	182	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1166	DANODA KALAN ON NH-52 LHS (NARWANA TO HISSAR ROAD)	JIND	Regular	180	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1167	JIND CITY WML (DEVI LAL CHOWK TO ROHTAK ROAD)	JIND	Regular	162	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
	1	•												

1168	WITIN 1KM OF JIND CHOWK TOWARDS SUKHPURA CHOWK ON RHS	ROHTAK	Regular	110	0	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1169		ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1170	NH09 , FROM DELHI TO ROHTAK BETWEEN KM STONE 64 & 66 , ON RHS RAIV CHOWK TO CROSSING OF HUDA ROAD & JHAJJAR ROAD ON HUDA ROAD ON LHS (WITHIN ROHTAK MUNICIPAL LIMITS).	ROHTAK	Regular	110	Open SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1170	,	SIRSA	Regular	110	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1172	BETWEEN KM STONE 72 AND 75 ON SH 32 MASITAN TO DABWALI ROAD FROM KM STONE 366 TO 369 ON LHS ON JHAJJAR TO ROHTAK ROAD.	ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1172	,	SIRSA		105	- '	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	WITHIN MUNICIPAL LIMIT OF ELLENABAD ON NOHAR ROAD		Regular		Open PH			-		-	0			-
1174	FROM JHAJJAR CHUNGI TO SUNARIYA CHOWK ON CIRCULAR ROAD(RHS), ROHTAK CITY	ROHTAK	Regular	110	SC	CFS DC	20	20 45	400 1575	25	75	DRAW OF LOTS	0	3
	NARWANA ON NEW NH-52 NARWANA BYEPASS (OLD NH-65)-RHS	<u> </u>	Regular				35	-		·		DRAW OF LOTS	15	-
1176	FROM KM STONE 365 TO 369 ON RHS ON JHAJJAR TO ROHTAK ROAD ,	ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1177	WITHIN 1 KM FROM SUKHPURA CHOWK TOWARDS JIND CHOWK ,ON LHS , ROHTAK CITY	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1178	ROHTAK OUTER BYEPASS , FROM CROSSING WITH NH09 (HISSAR ROAD) TO CROSSING WITH NH352 (JIND ROAD) ,RHS	ROHTAK	Regular	157	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1179	NH09, FROM DELHI TO HISAR ROAD ON LHS BETWEEN KM STONE 97 & 99	ROHTAK	Regular	153	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1180	KUTANA ON ROAD CONECTING HISAR ROAD AND BHIWANI ROAD	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1181	BETWEEN KM STONE 88 & 92 ON NH 09 , OLD NH 10	ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1182	VILL UMRAWAT ON NEW BHIWANI BY PASS	BHIWANI	Regular	165	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1183	GOASAINKHERA ON NH 352 JIND-ROHTAK ROAD LHS	JIND	Regular	158	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1184	SAMPLA , ON NH09	ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1185	RAJIV CHOWK TO CROSSING OF HUDA ROAD & JHAJJAR ROAD ON HUDA ROAD ON RHS (WITHIN ROHTAK MUNICIPAL LIMITS)	ROHTAK	Regular	110	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1186	FROM HUDA OFFICE ROHTAK TOWARDS SONIPAT WITHIN 1 KM OF HUDA OFFICE ,ROHTAK ON RHS	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1187	ON NEW BYE PASS ON SIRSA TO DABWALI ROAD (BETWEEN SIKANDARPUR AND KHAREKAN) LHS	SIRSA	Regular	152	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1188	NH09 (OLD NH 10), BETWEEN KM STONE NO. 115 TO 119	ROHTAK	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1189	WITHIN 1 KM FROM BHIWANI CHUNGI TOWARDS SUNARIA CHOWK ON CIRCULAR ROAD, ON RHS	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1190	VILLAGE BARSANA ON CHARKHI DADRI TO LOHARU ROAD (NH 334 B) ON LHS	CHARKHI DADRI	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1191	VILLAGE SAMASPUR ON CHARKHI DADRI TO DELHI ROAD (NH 334 B), RHS	CHARKHI DADRI	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1192	WITHIN MUNICIPAL LIMIT OF ELLENABAD ON SIRSA-ELLENABAD ROAD	SIRSA	Regular	101	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1193	ON HUDA ROAD FROM CROSSING WITH SUNARIA JAIL ROAD TO CROSSING WITH BHIWANI ROAD , ON RHS	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1194	VILLAGE IGRAH ON BHIWANI JIND ROAD	JIND	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1195	MOHAMMAD NAGAR ON SH-19	BHIWANI	Regular	109	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1196	VILLAGE HETAMPURA ON BHIWANI TO LOHARU ROAD	BHIWANI	Regular	154	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1197	MEDICAL MOR TO RAJIV CHOWK (WITHIN ROHTAK MUNICIPAL LIMITS)	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1198	FROM KM STONE 28 TO 32 ON SH 16A	ROHTAK	Regular	110	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1199	TOHANA WML , TOHANA TO HISSAR ROAD (TOHANA TOWARDS KANHERI VILLAGE)	FATEHABAD	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1200	VILLAGE JASSIA ON NH 709	ROHTAK	Regular	157	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1201	BETWEEN PRASHURAM CHOWK AND RAILWAY CROSSING ON CHARKHI DADRI ROHTAK ROAD , CHARAKHI DADRI CITY	CHARKHI DADRI	Regular	108	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1202	VILLAGE BIBIPUR ON NH-709A, JIND-BHIWANI ROAD	JIND	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1203	WITHIN 1 KM FROM VISHVAKARMA TEMPLE ON TOSHAM BYPASS ROAD , BHIWANI	BHIWANI	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1204	FROM OLD BUS STAND TOWARDS BHIWANI ROAD WITHIN MUNICIPAL CORPORATION LIMITS OF ROHTAK CITY)	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1205	FROM BASIA BHAWAN TO WOMEN POLICE STATION ON BHIWANI- HANSI ROAD, ON LHS , BHIWANI	BHIWANI	Regular	175	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1206	WITHIN 1 KM FROM JIND CHOWK TOWARDS SUKHPURA CHOWK ON LHS	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1207	VILLAGE PAHLADGARH ON CHARKHI DADRI - BHIWANI, ON LHS TOWARDS BHIWANI	CHARKHI DADRI	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1208	NARWANA ON NEW NH-52 NARWANA BYEPASS (OLD NH-65)-LHS	JIND	Regular	182	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1209	WITHIN 2 KM OF ZEE LITRA VALLEY SCHOOL ON BHIWANI HANSI ROAD , ON RHS TOWARDS HANSI	BHIWANI	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1210	RHS FROM HISAR TO SIRSA ON HISAR-DELHI BYPASS ROAD NH-9, HISAR	HISAR	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1211	VILL KONT ON NEW BHIWANI BY PASS	BHIWANI	Regular	162	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1212	ON HUDA ROAD FROM CROSSING WITH JHAJJAR ROAD TO CROSSING WITH SUNARIA JAIL ROAD , ON RHS	ROHTAK	Regular	110	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1213	WITHIN 4 KMS FROM RAJAGARH MOD TOWARDS LOHARU, ON BHIWANI LOHARU ROAD, (NH 709-E)	BHIWANI	Regular	158	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
		1			· · · · · · · · · · · · · · · · · · ·					l	1	I		

1214	WITHIN MUNICIPAL LIMIT OF HISSAR CITY	HISAR	Regular	135	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1215	VILL MANDOLA ON NH148B	CHARKHI DADRI	Regular	157	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1216	BETWEEN KM STONE 166 AND 169 ON TOSHAM - BEHAL ROAD(SH 12)	BHIWANI	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1217	BETWEEN KM STONE 134 TO 139 , ON NH 709E, BHIWANI LOHARU ROAD	BHIWANI	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1218	VILLAGE SORKHI ON LHS FROM DELHI TO HISAR ON NH-9	HISAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1219	FROM DEVILAL CHOWK TOWARDS LOHARU ON LHS WITHIN MUNICIPAL LIMIT OF BHIWANI CITY	BHIWANI	Regular	152	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1220	BETWEEN KM STONE 150 - 154 , VILL POKHARWAS ON NH709E, BHIWANI-LOHARU ROAD	BHIWANI	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1221	VILLAGE CHORMAR ON NH-9, LHS TOWARDS DABWALI	SIRSA	Regular	150	Open CC 2	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1222	IN AND AROUND 2 KM FROM VILLAGE POHARKAN ON SH 23	SIRSA	Regular	101	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1223	ON HUDA ROAD FROM CROSSING WITH JHAJJAR ROAD TO CROSSING WITH SUNARIA JAIL ROAD , ON LHS	ROHTAK	Regular	110	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1224	WITHIN 1KM OF HANUMAN GATE CHOWK ON HANUMAN GATE CHOWK TO PATRAM GATE ROAD, BHIWANI CITY	BHIWANI	Regular	120	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1225	FROM SADAR THANA BHIWANI TO SEC 13 MOD ON RHS ON BHIWANI TO HANSI ROAD	BHIWANI	Regular	160	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1226	ON SOUTHERN BYPASS CONNECTING MDR-108 AND OP JINDAL MARG,HISAR	HISAR	Regular	110	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1227	VILLAGE LUDAS ON NEW HISAR BYPASS, NEW NH 52 (RHS TOWARDS RAJGARH)	HISAR	Regular	152	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1228	VILLAGE NAURANGABAD ON BHIWANI- ROHTAK ROAD, NH709	BHIWANI	Regular	154	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1229	WITHIN 5 KM OF LOHARU BUS STAND ON LOHARU CHARKHI DADRI ROAD	BHIWANI	Regular	158	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1230	BARWA BY PASS ON NH-52	BHIWANI	Regular	152	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1231	WITHIN MUNICIPAL LIMITS OF CHARKHI DADRI , BETWEEN MITTAL CHOWK AND MAHENDERGARH CHOWK	CHARKHI DADRI	Regular	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1232	VILLAGE SHAHPUR ON NEW HISAR BYPASS, NEW NH 52 (LHS TOWARDS RAJGARH)	HISAR	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1233	FROM RAWALDHI CHOWK TO INTERSECTION WITH BHIWANI ROAD ON NEW BYPASS CHARKHI DADRI , WITHIN	CHARKHI DADRI	Regular	103	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1234	MUNICIPAL LIMITS OF CHARKHI DADRI CITY VILLAGE GAINDAWAS ON NH-52 (LHS TOWARDS RAJGARH)	BHIWANI	Regular	152	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1235	BETWEEN PARSHURAM CHOWK TO SHAH SATNAM SINGH CHOWK IN WML SIRSA	SIRSA	Regular	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1236	VILLAGE SHAHPUR ON NEW HISAR BYPASS, NEW NH 52 (RHS TOWARDS RAJGARH)	HISAR	Regular	152	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1237	ON HISAR SOUTHERN BYPASS CONNECTING RAJGARH ROAD AND TOSHAM ROAD	HISAR	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1238	VILL. DHANGAR ON NH-09 ON HISAR-SIRSA ROAD TOWARDS SIRSA LHS	FATEHABAD	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1239	BETWEEN JAAT DHARAMSHALA AND SD MAHAVIDYALA IN HANSI CITY	HISAR	Regular	123	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1240	VILLAGE BARWA ON NEW NH-52 (RHS TOWARDS RAJGARH)	BHIWANI	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1241	NH 709, BETWEEN KM STONE 52 & 55	ROHTAK	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1242	ON HISAR SOUTHERN BYPASS CONNECTING RAJGARH ROAD AND BAGLA ROAD	HISAR	Regular	101	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1243	LHS ON NEW BYPASS ROAD CONNECTING NH-52 (HISAR-BARWALA ROAD) AND NH-9 (HISAR-SIRSA) ROAD	HISAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1244	MEDICAL MOR TO ASHOKA CHOWK , ROHTAK CITY	ROHTAK	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1245	VILLAGE BHAINI MAHARAJPUR, ON NH09 (OLD NH 10)	ROHTAK	Regular	157	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1246	BETWEEN KM STONE 146 AND 152, LHS TOWARDS HISAR ON NH-9 (NEW HANSI BYPASS)	HISAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1247	BETWEEN DABRA CHOWK TO AADHAAR HOSPITAL ON TOSHAM ROAD, HISAR CITY	HISAR	Regular	100	Open	DC	35	35	1225	25	45	DRAW OF LOTS	15	5
1248	VILL KOHLI ON AGROHA TO ADAMPUR ROAD, LHS ON SH-10	HISAR	Regular	105	OBC PH	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1249	WML OF JIND CITY ON JIND-GOHANA ROAD	JIND	Regular	154	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1250	WITHIN 2 KM FROM SUREWALA CHOWK, LHS TOWARDS BARWALA ON NH-52	HISAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1251	VILLAGE ARYA NAGAR ON NEW HISAR BYPASS, NEW NH 52 (LHS TOWARDS RAJGARH)	HISAR	Regular	152	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1252	NH09 (OLD NH 10), BETWEEN KM STONE NO. 102 TO 106	ROHTAK	Regular	157	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1253	WITHIN MUNICIPAL LIMIT OF HISAR CITY ON OLD DELHI-SIRSA ROAD BETWEEN BUS STAND AND CIVIL HOSPITAL (RHS TOWARDS SIRSA)	HISAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1254	JIND CHOWK TO MATA DARWAJA CHOWK (WITHIN ROHTAK MUNICIPAL LIMITS)	ROHTAK	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1255	ON KAIMRI ROAD, WITHIN MUNICIPAL LIMITS OF HISAR CITY	HISAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1256	NH09 , FROM DELHI TO HISAR ROAD ON RHS BETWEEN KM STONE 74 & 76	ROHTAK	Regular	157	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1257	LOCATION BETWEEN PINDARA TO HAIBATPUR ON NEW BYEPASS (RING ROAD)-LHS	JIND	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1258	ON BHUNA - FATEHABAD ROAD (SH-2) 3 KMS FROM VITA PLANT TOWARDS FATEHABAD	FATEHABAD	Regular	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1259	ON MDR 104 BETWEEN SHAH SATNAM SINGH CHOWK TO OLD SACHA SOUDA DERA IN WML SIRSA ON EITHER	SIRSA	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
	DINE	L				L	l	l					L	ш

1260	LOCATION BETWEEN PINDARA TO HAIBATPUR ON NEW BYEPASS (RING ROAD)-RHS	JIND	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1261	BETWEEN JCD MEMORIAL COLLEGE AND FARWAI ON SIRSA BARNALA ROAD	SIRSA	Regular	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1262	WITHIN MUNICIPAL LIMITS OF KALANWALI ON KALANWALI-RORI ROAD	SIRSA	Regular	102	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1263	VILL. HAMJAPUR ON FATEHABAD TO RATIA ROAD	FATEHABAD	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1264	VILLAGE KHATKAR ON NH-352 JIND-NARWANA ROAD-LHS	JIND	Regular	180	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1265	VILLAGE KHATKAR ON NH-352 JIND-NARWANA ROAD-RHS	JIND	Regular	180	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1266	BETWEEN FATEHABAD DISTRIBUTORY CANAL & K.M. STONE NO. 38 ON SH-02	FATEHABAD	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1267	VILLAGE SANIANA ON SH-02	FATEHABAD	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1268	VILLAGE DHAKAL ON NH-152 (NEW) LHS FROM NARWANA TO KAITHAL	JIND	Regular	151	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1269	VILLAGE HATHO ON NH 152 (NEW) LHS FROM NARWANA TO KAITHAL	JIND	Regular	171	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1270	ASHOKA CHOWK TO JHAJJAR CHUNGI , ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1271	HISAR CITY, BETWEEN CAMP CHOWK AND PARIJAT CHOWK	HISAR	Regular	115	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1272	ON HUDA ROAD FROM CROSSING WITH SUNARIA JAIL ROAD TO CROSSING WITH BHIWANI ROAD , ON LHS	ROHTAK	Regular	110	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1273	WITHIN 2 KM FROM DABWALI GOL CHOWK ON SIRSA-DABWALI ROAD(RHS)	SIRSA	Regular	150	Open PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1274	BETWEEN KM STONE NO. 71 & 73 ON SH-21	FATEHABAD	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1275	MANSAROVER PARK LANE NEAR SONIPAT STAND (WITHIN ROHTAK MUNICIPAL LIMITS)	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1276	WITHIN 2 KM OF KHERI GAGAN BUS STAND TOWRDS JIND ON HANSI TO JIND ROAD (SH12)	HISAR	Regular	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1277	ROHTAK OUTER BYEPASS ,FROM CROSSING WITH NH09 (HISSAR ROAD) TO CROSSING WITH NH352 ,LHS	ROHTAK	Regular	157	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1278	VILLAGE DHINGSARA ON FATEHABAD - BHATTU ROAD ON SH-21	FATEHABAD	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1279	NH09 ,FROM DELHI TO HISAR ROAD ON LHS BETWEEN KM STONE 54 & 56	ROHTAK	Regular	152	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1280	NH09 ,FROM DELHI TO HISAR ROAD ON RHS BETWEEN KM STONE 62 & 64	ROHTAK	Regular	153	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1281	WITHIN 2 KM OF DHANI BRAHAMANAN BUS STAND TO WARDS HANSI ON JIND TO HANSI ROAD(SH12)	HISAR	Regular	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1282	BETWEEN RATIA BUS STAND & PUNJAB BORDER ON SH-21	FATEHABAD	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1283	WITHIN 2KM OF OLD BUS STAND ,FROM OLD BUS STAND TOWARDS HISAR ROAD, ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1284	VILLAGE PANJUANA ON NH-9, LHS TOWARDS DABWALI	SIRSA	Regular	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1285	BETWEEN KM STONE 156 - 160 ON TOSHAM BEHAL ROAD (SH -12)	BHIWANI	Regular	110	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1286	ON SH-10 BETWEEN KM STONE 102 AND 106 (BARWALA- AGROHA ROAD)	HISAR	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1287	WITHIN 1 KM FROM SHEELA BY PASS TOWARDS RAJIV CHOWK , ON LHS , ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1288	FROM NEW BUS STAND TO SHEELA BY PASS ON LHS, ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1289	VILLAGE KALIRAWAN ON AGROHA ADAMPUR ROAD, SH 10 (LHS TOWARDS AGROHA)	HISAR	Regular	109	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1290	B/W KM STONE 55 TO 58 ON JIND SAFIDON ROAD SH-14	JIND	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1291	FROM SUKHPURA CHOWK TO SHIELA BY PASS ON RHS, ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1292	SONIPAT STAND TO SHEELA BY PASS CHOWK, ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1293	BETWEEN KM STONE 130 - 133 ON HANSI TOSHAM ROAD, SH 12 (LHS TOWARDS HANSI)	HISAR	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1294	B/W KM STONE 45 TO 50 ON JIND SAFIDON ROAD SH-14	JIND	Regular	117	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1295	ON KACCHA CHAMARIA ROAD , WITHIN 1 KM OF ROAD CONNECTING JIND CHOWK TO GYMKHANA CLUB	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1296	FROM NEW BUS STAND TO RAJIV GANDHI SPORTS COMPLEX ON LHS , ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1297	VILLAGE SHAMDO ON SH-11A JIND-KAITHAL ROAD	JIND	Regular	111	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1298	B/W KM STONE 19 TO 22 ON SH-11A JIND-KAITHAL ROAD	JIND	Regular	111	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1299	VILL MYNA ON ROHTAK TO JHAJJAR ROAD ON LHS , TOWARDS JHAJJAR	ROHTAK	Regular	158	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1300	BETWEEN KM STONE 26 AND 29 ON SH 11 A KAITHAL JIND ROAD	JIND	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1301	RAJIV CHOWK TO IMT ROHTAK CHOWK, ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1302	FROM SUKHPURA CHOWK TO NEW BUS STAND (LHS) , ROHTAK CITY	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1303	ON SH-32 BETWEEN KM STONE 24 TO 26 RHS, RANIA- JEEVAN NAGAR ROAD	SIRSA	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1304	VILLAGE HUMAYUNPUR ON SH 18	ROHTAK	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1305	SONIPAT STAND TO SHEELA BYPASS (WITHIN ROHTAK MUNICIPAL LIMITS)	ROHTAK	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
· · · · · · · · · · · · · · · · · · ·					· · · · · · · · · · · · · · · · · · ·				· ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·		

1306	VILLAGE MIRCHPUR ON SH-10	HISAR	Regular	110	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1307	ON SH-32 BETWEEN OTTU HEAD AND ABHOLI ON EITHER SIDE ON SIRSA RANIA ROAD	SIRSA	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1308	ON SH-32 BETWEEN BHAMBHOOR AND OTTU HEAD ON EITHER SIDE OF SIRSA RANIA ROAD	SIRSA	Regular	110	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1309	VILL KHASA PATHANA ON SH-02	FATEHABAD	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1310	BETWEEN KM STONE 61 TO 65 ON SH-8 (RHS KAITHAL TO PUNDRI)	KAITHAL	Regular	115	Open CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1311	BETWEEN KM STONE 62 TO 66 ON SH-4 (SHAHABAD TO THOL)	KURUKSHETRA	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1312	BETWEEN KM STONE 60 TO 63 ON SH-9 (LHS PEHOWA TO PATIALA)	KURUKSHETRA	Regular	109	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1313	BETWEEN SURAJPUR AND SUKHOMAJRI (LHS ON NEW BAYPASS TOWARDS BADDI) NH21A	PANCHKULA	Regular	185	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1314	BETWEEN KM STONE 128 TO 135 ON SH-6 (PEHOWA TO GUHLA)	KAITHAL	Regular	112	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1315	BETWEEN KM STONE 85 TO 88 ON SH-6 (LHS KURUKSHETRA TO PEHOWA)	KURUKSHETRA	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1316	RAMGARH ON NH-7 (OLD NH 73) (RHS PANCHKULA TO BARWALA)	PANCHKULA	Regular	170	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1317	BETWEEN ASSANDH AND DANAULI ON SH-11	KARNAL	Regular	105	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1318	BETWEEN OLD BUS STAND AND AGGARSEN CHOWK ON SH6 (RHS ON PIPLI KURUKSHETRA ROAD)	KURUKSHETRA	Regular	133	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
1319	BETWEEN NEW TRANSPORT NAGAR AND TIMBER MARKET, KAITHAL ON SH11	KAITHAL	Regular	112	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1320	BETWEEN KM STONE 4 AND 7 ON NH21A (LHS PINJORE TO BADDI)	PANCHKULA	Regular	185	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1321	THARI ON NH709A (KARNAL-ASSANDH)	KARNAL	Regular	187	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1322	O.P.JINDAL PARK TO TAJAKPUR VIA BADIMAJRA (WML)	YAMUNANAGAR	Regular	140	Open CC 2	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1323	HARNAULI ON HARNAULI PAUNTI ROAD, WML JAGADHARI	YAMUNANAGAR	Regular	110	OBC CC 1	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1324	ON SH6 BETWEEN CHOTA BASS TO DAMALA	YAMIINANAGAR	Regular	110	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1325	BETWEEN JAGADHARI BUS STAND AND SH-1 ON NH73	YAMUNANAGAR	Regular	158	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1326	ON DADUPUR NALWI CANAL ROAD CONNECTING NH-73 & NH-73A	YAMUNANAGAR	Regular	110	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1327	PANCHKULA TO PINJORE ON NH 5 (LHS PANCHKULA TO PINJORE)	PANCHKULA	Regular	185	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1328	KHANGESRA (ON KOTBILLA CHOWK - RAIPUR RANI LINK ROAD)	PANCHKULA	Regular	170	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1329	VILLAGE BHAMBHOLI ON NH-344 (LHS FROM AMBALA TO YAMUNANAGAR)	YAMUNANAGAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1330	SECTOR 15 ON OLD SAHARANPUR ROAD	YAMUNANAGAR	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1331	ON SH 6 WML RADAUR (BETWEEN RADAUR BUS STAND TO BAKANA ROAD)	YAMUNANAGAR	Regular	110	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1332	AURANGABAD ON SH 6	YAMUNANAGAR	Regular	110	Open	DC DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1333	WITHIN 3 KM FROM GULABNAGAR CHOWK ON JAGADHARI PABNI ROAD (WML)	YAMUNANAGAR	Regular	140	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1334	WITHIN S NW PROW GOLDBRAGAR CHOWN ON JAGADHARI PABRI ROAD (WWIL) VILL-KALANAUR ON SAHARANPUR ROAD	YAMUNANAGAR	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1335	PAHARIPUR ON SH-1 (SADAURA TO NARAINGARH)	YAMUNANAGAR	Regular	115	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1336	NAVANAGAR ON NH21A (LHS PINJORE TO BADDI)	PANCHKULA	Regular	185	Open CC 1	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1337	BETWEEN MAIRI CHOWK AND RAMGARH CHOWK ON NEW NH-7 (OLD NH 73), PANCHKULA TO BARWALA LHS	PANCHKULA	Regular	190	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1338	BETWEEN WARRI CHOWN AND ARMIDARH CHOWN ON NEW WITH (OLD NO 75), PANCHROLA TO BARWADA LES	YAMUNANAGAR	Regular	165	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1339	KOT TO BARWALA ON NH-7 (OLD NH-73) (LHS PANCHKULA TO BARWALA)	PANCHKULA	Regular	170	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1340	FATEHGARH TUMBI ON SH-1 (BILASPUR TO SADAURA)	YAMUNANAGAR	Regular	115	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1341	MANKA TO GADAULI ON NH 344(RHS SAHA TO JAGADHARI)	YAMUNANAGAR	Regular	160	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1342	MEHMUDPUR ON SH1 (LHS FROM JAGADHARI TO BILASPUR)	YAMUNANAGAR	Regular	110	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1342		PANCHKULA	Regular	170	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1343	RAMGARH ON NH 7 (OLD NH 73) (LHS PANCHKULA TO BARWALA) FROM RAIPUR RANI TOWARDS NARAINGARH ON SH-1	PANCHKULA	Regular	140	Open	DC	35	35	1225	25	60	DRAW OF LOTS DRAW OF LOTS	15	5
1344		YAMUNANAGAR	Regular	140	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1345	WML SADHAURA (ON SADHAURA KAPALMOCHAN ROAD) DHAND ON SH-9	KAITHAL	Regular	115	Open	DC	35	35	1225	25	60	DRAW OF LOTS DRAW OF LOTS	15	5
1346	BETWEEN CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (RHS FROM CHANDNI	PANIPAT	Regular	110	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1347	BAGH POLICE CHOWKI TO BABAIL NAKA) BETWEEN VILLAGE PIPLI MAJRA AND GULABGARH ON NH-73A	YAMUNANAGAR		156	OBC PH	DC	35	35	1225	25	75	DRAW OF LOTS DRAW OF LOTS	15	4
			Regular											
1349	FROM MOHNA TO TEONTHA ON SH 8, KAITHAL	KAITHAL	Regular	105	Open	DC DC	35	35 20	1225	25 25	60 45	DRAW OF LOTS DRAW OF LOTS	15	5
1350	RAM NAGAR COLONY, WML KARNAL	KARNAL	Regular	145	Open	DC	35	45	1575	25	45 75	DRAW OF LOTS	15	4
1351	VILLAGE PADHANA ON NH-44 (OLD NH-1)	KARNAL	Regular	170	OBC	DC	35	45	15/5	25	/5	DRAW OF LOTS	15	4

1352	BETWEEN KM STONE 48 TO 52 ON SH-1 (NARAINGARH TO RAIPUR RANI)	AMBALA	Regular	110	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1353	GOLPURA ON NEW NH-7(OLD NH-73) (LHS YAMUNANAGAR TO BARWALA)	PANCHKULA	Regular	185	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1354	BETWEEN KMS 34 TO 38, RHS ON NH-709	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1355	BETWEEN TAU DEVI LAL CHOWK TO SUGAR MILL ON NH-709A, LHS (KARNAL - SHAMLI ROAD)	KARNAL	Regular	182	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1356	NEW BYEPASS FROM NH-44 (OLD NH-1) TO KACHHWA ROAD, KARNAL	KARNAL	Regular	147	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1357	VILLAGE BICHPARI ON SH-11	SONIPAT	Regular	100	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1358	BETWEEN MILESTONE 15-17 ON RHS ON SH-7, NORTA (FROM KARNAL TO INDRI ROAD)	KARNAL	Regular	151	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1359	MODEL TOWN KARNAL CITY	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1360	FROM OLD BUS STAND, KURUKSHETRA TO KURUKSHETRA UNIVERSITY GATE 3, KURUKSHETRA (WML)	KURUKSHETRA	Regular	129	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1361	WITHIN MUNICIPAL LIMIT KURUKSHETRA	KURUKSHETRA	Regular	130	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1362	SECTOR-29, PART 1, OPP. POWER HOUSE ,PANIPAT (BETWEEN CHANDNI BAGH POLICE POST AND NH-1 JUNCTION)	PANIPAT	Regular	160	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1363	LHS FROM BHRAMSAROVAR TO NEW GRAIN MARKET, KURUKSHETRA (WML)	KURUKSHETRA	Regular	128	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1364	SONIPAT WITHIN MUNICIPALITY LIMIT	SONIPAT	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1365	FROM OLD ANAJ MANDI CHOWK TO VILLAGE AMIN ON KURUKHETRA-AMIN ROAD	KURUKSHETRA	Regular	108	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1366	BETWEEN MEERUT ROAD AND ANSAL CHOWK, SECTOR 4 HUDA KARNAL (WML)	KARNAL	Regular	140	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1367	ON NEW BYPASS JOINING NH-152 TO SH-8. KAITHAL WML	KAITHAL	Regular	108	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1368	GOHANA WML	SONIPAT	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1369	MOHRI ON NH-1	KURUKSHETRA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1370	BETWEEN KM STONE 47 TO 50 ON SH9 (RHS ON DHAND TO PEHOWA ROAD)	KURUKSHETRA	Regular	112	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1371	UDYOG MARG, KAITHAL WML	KAITHAL	Regular	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1372	VII LAGE JAWAHRI ON NH 352A	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1373	JYOTISAR NOT ON SH (WML)	KURUKSHETRA	Regular	108	Open PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1374	BETWEEN DEVIGARH CHOWK TO UDYOG MARG, KAITHAL WML	KAITHAL	Regular	119	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1375	WITHIN 2 KM OF BRAHMA MANDIR CHOWK IN KURUKSHETRA WML	KURUKSHETRA	Regular	119	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1375	LHS FROM PEHOWA CHOWK TOWARDS KAITHAL, WML	KURUKSHETRA	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1376	LES FROM PEHOWA CHOWK TOWARDS KAITHAL, WML BETWEEN KM STONE 76 TO 80 ON NH152 (OLD NH 65) (RHS AMBALA TO KAITHAL)	KAITHAL	Regular	170	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1377		KURUKSHETRA		118	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1379	ON LHS FROM B R CHOWK TO BRAHMA SAROVAR ON KDB ROAD	KAITHAL	Regular	187	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1379	LHS BETWEEN KHARAK PANDWA AND BATTA ON NH152 (NARWANA - KAITHAL)		Regular			DC		45		-			15	5
1380	BETWEEN KM STONE 50 TO 56 ON NH152 (OLD NH65) (RHS ON AMBALA TO KAITHAL ROAD)	KURUKSHETRA	Regular	170	Open	DC	35 20	20	1575	25	75	DRAW OF LOTS	15	5
	FROM SUBHASH CHOWK SONIPAT TOWARDS ATLAS ROAD SONIPAT	SONIPAT	Regular		Open	DC DC				25	45	DRAW OF LOTS		4
1382	WITHIN 2KMS FROM MEHAM CHOWK GOHANA ON GOHANA MEHAM ROAD	SONIPAT	Regular	100	OBC		20	20	400	25			15	
1383	BETWEEN KM STONE 89 TO 95 ON NH152 (OLD NH 65) (LHS AMBALA TO KAITHAL)	KAITHAL	Regular	170	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1384	BETWEEN CAPITAL CHOWK AND VILLAGE KALARHERI ON STAFF ROAD	AMBALA	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1385	BETWEEN KM STONE 17 TO 22 ON NH-444A (SAHA TO SHAHABAD)	AMBALA	Regular	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1386	MODEL TOWN, OPPOSITE ICICI BANK, NEAR MALIK HOSPITAL	PANIPAT	Regular	115	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1387	BETWEEN CAPITAL CHOWK AND BRAHMKUMARI CHOWK ON JAGADHARI ROAD	AMBALA	Regular	150	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1388	BETWEEN KM STONE 15 TO 19 ON NH-152 (OLD NH-65) (LHS AMBALA TO PEHOWA)	AMBALA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1389	AMBALA CANTT WML BETWEEN HUDA SUB STATION AND CHANDNI BAGH POLICE CHOWKI, HARIDWAR BYE PASS ROAD (RHS FROM NH-1 T	AMBALA	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1390	JUNCTION TO CHANDNI BAGH POLICE CHOWKI)	FAINIFAI	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1391	BETWEEN KM STONE 123 TO 127 ON NH-344 (OLD NH-73) (RHS JAGADHARI TO PANCHKULA)	AMBALA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1392	SECTOR 25, PART 1, INDUSTRIAL AREA, PANIPAT	PANIPAT	Regular	110	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1393	BETWEEN KM STONE 107 TO 111 ON NH-344 (OLD NH-73) (RHS JAGADHARI TO PANCHKULA)	AMBALA	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1394	BETWEEN SURAIPUR AND SUKHOMAJRI (RHS ON NEW BAYPASS TOWARDS BADDI) NH21A	PANCHKULA	Regular	185	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1395	BETWEEN KM STONE 23 TO 27 ON NH-152 (OLD NH-65) (RHS AMBALA TO PEHOWA)	AMBALA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1396	VILL-RULAKHERI ON NEW BYPASS (NH 344) (LHS FROM AMBALA TO YAMUNANAGAR)	YAMUNANAGAR	Regular	160	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1397	KHOKHRA ON NH-21A (RHS PINJORE TO BADDI)	PANCHKULA	Regular	185	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4

1398	DANCHKII A CITY (NOT ON ANI/CI))	PANCHKULA	Regular	190	0	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1399	PANCHKULA CITY, (NOT ON NH/ SH) KM STONE 11 TO 14 ON NH-152 (OLD NH-65) (LHS AMBALA TO PEHOWA)	AMBALA	-	150	Open Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1400		KURUKSHETRA	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1400	BETWEEN KM STONE 40 TO 44 ON NH-152 (OLD NH-65) RHS AMBALA TO PEHOWA BETWEEN KM STONE 31 TO 35 ON NH-72	AMBALA	Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1401		KURUKSHETRA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1403	BETWEEN KMS STONE 650 TO 652 ON NH-44 (OLD NH-1) LHS AMBALA TO DELHI TIPRA, NEAR RAMBAGH(ON TIPRA KALKA ROAD)	PANCHKULA	Regular	115	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1404		PANCHKULA		115	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1404	PINJORE (NOT ON NH/SH)	AMBALA	Regular Regular	150	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1405	BETWEEN KM STONE 15 TO 18 ON NH72	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1407	BETWEEN KM STONE 39 TO 42 ON NH-352A (NOT UNDER FLYOVER) BETWEEN KM STONE 152 & 154 ON NEW NH-7 (RHS YAMUNANAGAR TO PANCHKULA)	PANCHKULA	Regular	170	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1407	BETWEEN KM STONE 152 & 154 ON NEW NH-7 (KHS YAMUNANAGAK TO PANCHKULA) RADAUR WITHIN MNICIPAL LIMITS NOT ON SH	YAMUNANAGAR	Regular	120	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1409		PANCHKULA	Regular	170	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1410	VILLAGE BILLA ON NH7 (OLD NH-73), LHS RAMGARH TO BARWALA)	SONIPAT	-	160	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
	BETWEEN KM STONE 43 TO 47 ON NH-352A (NOT UNDER FLYOVER)	-	Regular											
1411	BETWEEN AGARSEN CHOWK AND BUDIYA CHOWK ON NH73A	YAMUNANAGAR	Regular	157	OBC	DC DC	20	20	400	25 25	75 45	DRAW OF LOTS DRAW OF LOTS	15 15	5
1412	WML LADWA NOT ON SH	KURUKSHETRA	Regular	157	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
_	VILL - CHHAPAR MANSOORPUR ON NH 344 RHS FROM JAGADHARI TO AMBALA	YAMUNANAGAR	Regular	-	Open			-		0			0	
1414	BETWEEN SADHAURA CHOTA BUS STAND & SADHAURA TEHSIL(ON CHOTA BUS STAND-TEHSIL ROAD)	YAMUNANAGAR	Regular	115	SC	CFS	20	20	400	-	0	DRAW OF LOTS		3
1415	MDR UPTO 1 KM FROM BUBKA CHOWK TO MUSTFABAD,	YAMUNANAGAR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1416	MANAK MAJRA ON NH-44 (OLD NH-1) RHS FROM KARNAL TO KURUKSHETRA	KARNAL	Regular	196	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1417	WITHIN 3 KMS FROM AGARSEN CHOWK TOWARDS KALANAUR ON JHOTA ROAD (WML)	YAMUNANAGAR	Regular	140	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	
1418	SARAWAN ON SH-4 (SADHAURA TO BARARA)	YAMUNANAGAR	Regular	115	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1419	BETWEEN KM STONE 29 TO 33 ON NH352A	SONIPAT	Regular	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
1420	PANCHKULA (EITHER SIDE ON SECTOR 20-21 DIVIDING ROAD)	PANCHKULA	Regular	400	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1421	KAUL ON SH33 KAITHAL	KARNAL	Regular	105	Open CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1422	CHAGNAULI ON SH-1 (JAGADHRI TO BILASPUR ROAD)	YAMUNANAGAR	Regular	110	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1423	GANNAUR WML	SONIPAT	Regular	100	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1424	BETWEEN KM STONE 23 TO 25 ON SH-1 (BILASPUR TO SADHAURA)	YAMUNANAGAR	Regular	115	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1425	GOURI SHANKAR LINK ROAD (GAURI SHANKAR MANDIR TO PARKASH CHOWK) WML, JAGADHARI	YAMUNANAGAR	Regular	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1426	BETWEEN MILESTONE 667 TO 670 LHS ON NH-44 (OLD NH-1) (DELHI TO AMBALA ROAD)	KURUKSHETRA	Regular	212	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1427	BETWEEN JAGADHARI BUS STAND TO AGGARSEN CHOWK ON NH	YAMUNANAGAR	Regular	125	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1428	DHIN ON N73 (NH344)	YAMUNANAGAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1429	THANESAR (WML), ON JHANSA ROAD	KURUKSHETRA	Regular	115	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1430	FROM CHEEKA CHOWK TOWARDS PATIALA ON LHS (WML)	KURUKSHETRA	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1431	VILL- TIGRI, LHS FROM AMBALA TO YAMUNANAGAR ON NEW BYPASS NH344	YAMUNANAGAR	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1432	BETWEEN MILESTONE 684 TO 686 RHS ON NH-44 (OLD NH-1) (DELHI TO AMBALA ROAD)	KURUKSHETRA	Regular	175	SC -	CFS	35	45	1575	-	0	DRAW OF LOTS	-	
1433	RHS ON KURUKSHETRA JHANSA ROAD (WML)	KURUKSHETRA YAMUNANAGAR	Regular	107	Open	DC DC	20	20	400	25	45	DRAW OF LOTS	15	5
1434	KAMI MAIRA ON RAIPUR ROAD		Regular	110	OBC		20	20		25			15	4
1435	BETWEEN KHERI BRAHMAN TO KURUKSHETRA CITY ON SALARPUR ROAD	KURUKSHETRA	Regular	129	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1436	OPPOSITE SEC-7, HUDA, KURUKSHETRA ON PIPLI -KURUKSHETRA ROAD	YAMUNANAGAR	Regular	210 150	OBC	CFS DC	20 35	20 45	400 1575	25	0	DRAW OF LOTS DRAW OF LOTS	15	3
1437	CHHACHHRAULI ON NH73A		Regular	150		DC	35	45	1575	25	75 75	DRAW OF LOTS DRAW OF LOTS	15	5
	MANDEBARI ON NEW BYPASS (FROM BHAMBHOLI TO KALANAUR) NH344	YAMUNANAGAR	Regular		Open					25	75 45			
1439	SHADIPUR TO TODARPUR ON KHUJURI RD	YAMUNANAGAR	Regular	140	Open	DC	30	30	900	·		DRAW OF LOTS	15	5
1440	BETWEEN CHEEKA CHOWK TO GUHLA ON CHEEKA- GUHLA ROAD	KAITHAL	Regular	112	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1441	KHANDWA ON NEW BYPASS (FROM BHAMBHOLI TO SAHARANPUR) NH344	YAMUNANAGAR	Regular	150	sc	CFS DC	35	45	1575	0	0 45	DRAW OF LOTS DRAW OF LOTS	15	3
	VILL-TAJAKPUR WML JAGADHARI	YAMUNANAGAR	Regular	150	Open					25			-	
1443	OLD CHHACHROULI ROAD (BETWEEN HARYANA ENGG COLLEGE TO KALI MANDIR) WML JAGADHARI	YAMUNANAGAR	Regular	145	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5

1444		KURUKSHETRA		108	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
	LHS FROM PEHOWA CHOWK TOWARDS AMBALA WML		Regular							-			-	
1445	FROM UMRI CHOWK TOWARDS KURUKSHETRA, ON UMRI ROAD	KURUKSHETRA	Regular	108	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1446	BETWEEN KM STONE 76 TO 80 ON NH152 (OLD NH 65) (LHS AMBALA TO KAITHAL)	KAITHAL	Regular	170	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1447	BETWEEN KM STONE 50 TO 53 ON NH152 (OLD NH-65) (LHS ON AMBALA TO KAITHAL ROAD)	KURUKSHETRA	Regular	170	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1448	ON CIVIL LINE ROAD, JAGADHARI	YAMUNANAGAR	Regular	100	OBC PH	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1449	NILOKHERI TOWN (WML)	KARNAL	Regular	174	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1450	ON CHOTI LINE FROM MATKA CHOWK UPTO 2KMS	YAMUNANAGAR	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1451	BETWEEN POLICE STATION SADHAURA AND SADHAURA CHOWK	YAMUNANAGAR	Regular	115	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1452	VILL- PANJETO ON NH73A ,	YAMUNANAGAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1453	BETWEEN KM STONE 89 TO 95 ON NH152 (OLD NH 65) (RHS AMBALA TO KAITHAL)	KAITHAL	Regular	170	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1454	VILLAGE SASAOULI (WML)	YAMUNANAGAR	Regular	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1455	BETWEEN THANA TO GUMTHALA GARHU ON NH-152 (OLD NH-65) (RHS AMBALA TO KAITHAL)	KURUKSHETRA	Regular	155	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1456	WML KANSAPUR	YAMUNANAGAR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1457	LHS FROM KEORAK TOWARDS PEHOWA ON NH 152 (AMBALA - HISSAR ROAD), WITHIN KAITHAL DISTRICT LIMITS	KAITHAL	Regular	155	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1458	BETWEEN KM STONE 661 TO 664 ON NH-44 (OLD NH-1), LHS AMBALA TO DELHI	KURUKSHETRA	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1459	BETWEEN RAMNATH SHARMA HOSPITAL AND MAHAVIR EYE HOSPITAL TRUST ON RAMBAGH ROAD, AMBALA CANTT	AMBALA	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1460	BETWEEN KM STONE 662 TO 666 ON NH-44 (OLD NH-1), RHS AMBALA TO DELHI	KURUKSHETRA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1461	BETWEEN JANDLI PUL AND GALAXY MALL, AMBALA CITY	AMBALA	Regular	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1462	FROM INTERSECTION OF NH-44 (OLD NH-1) TOWARDS DHULKOT RAILWAY STATION ROAD VIA MOTOR MARKET, AMBALA CITY	AMBALA	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1463	VILLAGE LARSAULI ON NH-44 (OLD NH-1), LHS PANIPAT TO DELHI	SONIPAT	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1464	BETWEEN KM STONE 40 TO 45 ON NH72	AMBALA	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1465	BETWEEN NARAINGARH TO KALAAMB ON NH72	AMBALA	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1466	AMBALA CITY WML	AMBALA	Regular	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1467	BETWEEN AGGARSAIN CHOWK AND PARSHURAM CHOWK, NARAINGARH	AMBALA	Regular	100	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1468	BETWEEN KM STONE 6 TO 9 ON NH-152 (OLD NH-65) (RHS AMBALA TO PEHOWA)	AMBALA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1469	BETWEEN RAILWAY UNDERPASS AND RAILWAY CROSSING ON PINJORE KALKA ROAD	PANCHKULA	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1470	BETWEEN SHAMBHU BORDER AND KINGFISHER RESORT ON NH-44 (OLD NH-1) (LHS AMBALA TO DELHI)	AMBALA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1471	BETWEEN KM STONE 129 TO 132 ON NH344 (OLD NH-73) (RHS JAGADHARI TO PANCHKULA)	AMBALA	Regular	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1472	VILL- MANDAULI, RHS FROM AMBALA TO YAMNANAGAR ON NEW BYPASS NH344	YAMUNANAGAR	Regular	150	SC CC 1	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1473	BAGWALI, ON NEW NH-7 (OLD NH-73) (RHS YAMUNANAGAR TO BARWALA)	PANCHKULA	Regular	185	Open PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1474	BETWEEN KM STONE 20 TO 24 ON NH-152 (OLD NH-65) (LHS AMBALA TO PEHOWA)	AMBALA	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1475	WML JAGADHARI (NOT ON SH & NH)	YAMUNANAGAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1476	VILLAGE- KALANUR ON NH 344 (NEW BYPASS)	YAMUNANAGAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1477	BETWEEN SAHA CHOWK TO KALPI CHOWK (AMBALA TO JAGADHARI ROAD)	AMBALA	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1478	FROM CHEEKA CHOWK TOWARDS KAITHAL ON RHS (WML)	KURUKSHETRA	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1479	BETWEEN KM STONE 646 TO 649 ON NH44 (OLD NH1), RHS AMBALA TO DELHI	KURUKSHETRA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1480	BETWEEN KM STONE 46 TO 49 ON NH-152 (OLD NH-65) (LHS AMBALA TO PEHOWA)	KURUKSHETRA	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1481	FROM PEHOWA CHOWK TOWARDS KURUKEHTRA ON RHS (WML)	KURUKSHETRA	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1482	BETWEEN KM STONE 56 TO 60 ON NEW PEHOWA BYPASS ON NH152 (LHS ON AMBALA KAITHAL ROAD)	KURUKSHETRA	Regular	170	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1483	ONE KM FROM GOGDIPUR FLYOVER CHOWK TO NSC CHOWK	KARNAL	Regular	116	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1484	TEJALI (WML)	YAMUNANAGAR	Regular	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1485	BETWEEN KM STONE 35 TO 39 ON NH-152 (OLD NH-65) (RHS AMBALA TO PEHOWA)	KURUKSHETRA	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1486	GADHAULI (WML)	YAMUNANAGAR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1487	BETWEEN PINJORE KALKA JUNCTION AND RAIWAY CROSSING ON NH21A	PANCHKULA	Regular	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1488	BETWEEN KM STONE 64 TO 67 ON NH152 (LHS AMBALA TO HISSAR ROAD)	KURUKSHETRA	Regular	164	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1489	LHS FROM SAMPLA CHOWK TO SONIPAT CHOWK ON NH334-B (KHARKHODA BYPASS)	SONIPAT	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
	and the second s	1	0		000									

1490	VILLAGE MEHRAMPUR ON NEW BYPASS (NH344)	YAMUNANAGAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1491	BETWEEN MALLA MORH AND RAILWAY CROSSING ON PINJORE KALKA ROAD	PANCHKULA	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1492	WML ON SASAOULI ROAD STARTING FROM WARKSHOP ROAD	YAMUNANAGAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1493	INDUSTRIAL AREA PHASE II	YAMUNANAGAR	Regular	150	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1494	VILLAGE BHOOT MAIRA ON NEW BYPASS (NH344)	YAMUNANAGAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1495	DEOBAN TO RAJOUND ON SH11	KAITHAL	Regular	105	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1496	RHS BETWEEN AGGARSEN CHOWK TO MADHU HOTEL	YAMUNANAGAR	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1497	JODIAN NAKA TO HARNAUL ROAD UPTO 2 KM WITHIN MUNCIPAL LIMIT	YAMUNANAGAR	Regular	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1498	VILLAGE GOLLANPUR ON NEW BYPASS (NH344)	YAMUNANAGAR	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1499	JANESRO, KARNAL LADWA ROAD, SH-7, TEHSIL INDRI	KARNAL	Regular	151	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1500	VILLAGE SUKHPURA ON NEW BYPASS LHS FROM BHAMBHOLI TO KALANAUR (NH344)	YAMUNANAGAR	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1501	BETWEEN FIRE BRIGADE STATION AND DOON VALLEY INSTITUTE OF ENGG. TECHNICAL COLLEGE, BAJIDA ROAD	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1502	(WML) MANAK MAJRA ON NH-44 (OLD NH-1) LHS FROM KARNAL TO KURUKSHETRA	KARNAL	Regular	196	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1503	VILLAGE SUKHPURA ON NEW BYPASS RHS FROM BHAMBHOLI TO KALANAUR (NH344)	YAMUNANAGAR	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1504	VILLAGE- BHATAULI ON CANAL ROAD	YAMUNANAGAR	Regular	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
1505	BADI MAJRA WML	YAMUNANAGAR	Regular	117	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1506	IN BETWEEN LIBERTY CHOWK TO ITI CHOWK ON NH-44 (OLD NH-1), RHS- FROM DELHI TO AMBALA ROAD, KARNAL CITY	KARNAL	Regular	155	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1507	MODEL TOWN, YAMUNANAGAR	YAMUNANAGAR	Regular	100	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1508	WML ON NH73 FROM VISHKARMA CHOWK TO PANSARA	YAMUNANAGAR	Regular	155	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
1509	BETWEEN SHAHEED UDAM SINGH CHOWK TO NOOR MAHAL CHOWK, SECTOR-32, KARNAL CITY (WML)	KARNAL	Regular	147	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1510	MANSA DEVICOMPLEX (WML)	PANCHKULA	Regular	115	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1511	DHAKOLI ROAD (WML)	PANCHKULA	Regular	115	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1511	BETWEEN FOUNTAIN CHOWK AND MADHU HOTEL	YAMUNANAGAR		120	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
			Regular									DRAW OF LOTS		
1513	BETWEEN MILESTONE 674 TO 677 LHS ON NH-44 (OLD NH-1) (DELHI TO AMBALA ROAD)	KURUKSHETRA	Regular	100	Open	DC DC	35 35	45 35	1575	25 25	75 60	DRAW OF LOTS DRAW OF LOTS	15	5
1514	BETWEEN KM STONE 36 TO 38, SH-7, LHS FORM LADWA TO SHAHBAD	PANCHKULA	Regular		Open	DC	20	20	400	25	45	DRAW OF LOTS	15	4
	HUDA SECTOR 27 & 28 DIVIDING ROAD (WML)		Regular	115	OBC					-				
1516	VILLAGE TOKA (WML ON RAIPUR RANI LINK ROAD)	PANCHKULA	Regular	115	SC -	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1517	BETWEEN JYOTISAR AND LOHAR MAJRA ON SH-6 (LHS)	KURUKSHETRA	Regular	112	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1518	BETWEEN MILESTONE 23 TO 26 ON PEHOWA CHEEKA ROAD (SH6)	KURUKSHETRA	Regular	112	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1519	BETWEEN PEHOWA COURT AND PEHOWA BYPASS ON SH6	KURUKSHETRA	Regular	122	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1520	VILL- KARERA KHURD ON NEW BYPASS LHS FROM KHAJURI TURN TO KALANAUR	YAMUNANAGAR	Regular	150	Open	DC	45	45	2025	25	75	DRAW OF LOTS	15	5
1521	BETWEEN RAMGARH CHOWK AND KOTBILLA CHOWK ON NH-7 (OLD NH-73), RHS RAMGARH TO BARWALA	PANCHKULA	Regular	170	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1522	SHAM NAGAR KARNAL CITY	KARNAL	Regular	105	Open CC 2	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1523	BETWEEN KM STONE 19 & 23 ON SH-1 (BILASPUR TO SADAURA)	YAMUNANAGAR	Regular	115	OBC CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1524	PEERUWALA ON SH-1 (JAGADHARI TO BILASPUR)	YAMUNANAGAR	Regular	115	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1525	VILL. KHANPUR, SH-11	KAITHAL	Regular	112	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1526	BHADAR, UTLA BYE PASS TO DAHAR CHOWK ON SH-14	PANIPAT	Regular	105	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1527	BETWEEN NEELKANTH CUP & GLASS FACTORY AND BHARI CHOWK SH12 (ASSANDH-JIND)	KARNAL	Regular	105	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1528	BADHERI ON SH-7 (INDRI- LADWA ROAD)	KARNAL	Regular	151	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1529	WITHIN 3 KM FROM BALDI BYEPASS (NEAR NEW KARNAL BUS STAND) ON EITHER SIDE ON SH-7 (KARNAL - LADWA ROAD)	KARNAL	Regular	140	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1530	BABAIN ON SH-7 (SHAHABAD - BABAIN)	KURUKSHETRA	Regular	100	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1531	BETWEEN MANGAL PUR CHOWK & VILL NEWAL ON SH-8 ON EITHER SIDE (KUNJPURA ROAD)	KARNAL	Regular	104	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1532	VILL. PATANPURI ON SH-33	KARNAL	Regular	120	Open	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1533	WITHIN 4 KM FROM AUCHANDI BOADER TOWARDS KHARKHODA ON SH-18	SONIPAT	Regular	100	OBC	DC	35	35	1225	25	60	DRAW OF LOTS	15	4
1534	BETWEEN ITI CHOWK & MANGAL PUR CHOWK ON SH-8 ON EITHER SIDE (KUNJPURA ROAD)	KARNAL	Regular	141	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1535	CHANDOLI ON BARSAT ROAD PANIPAT (WML)	PANIPAT	Regular	115	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
· · · · · · · · · · · · · · · · · · ·				· ·						· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	

1536	WELLING THE CONTROL OF THE CONTROL O	SONIPAT	Regular	100	Open CC 1	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1537	WITHIN 3 KMS FROM MURTHAL FLYOVER TOWARDS SONIPAT ON SH-20 (LHS) BETWEEN SANJAY CHOWK TO SABJI MANDI ON SANOLI ROAD PANIPAT	PANIPAT	-	154	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1538		SONIPAT	Regular	100	SC	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1539	WITHIN 3 KMS FROM VISHWA KARMA CHOWK GOHANA ON SH-16A TOWARDS MEHAM ROAD	PANIPAT	Regular Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1540	BETWEEN KM STONE 77 TO 83 ON NH-44 (OLD NH-1) LHS DELHI TO PANIPAT (NOT BELOW FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1540	BETWEEN KM STONE 54 TO 58 ON NH-44 (OLD NH-1) RHS DELHI TO PANIPAT (NOT BELOW FLYOVER)		-	150		DC	35	45	1575	25	75	DRAW OF LOTS	15	4
	BETWEEN KM STONE 68 TO 71 ON NH-44 (OLD NH-1) LHS DELHITO PANIPAT (NOT BELOW FLYOVER)	PANIPAT	Regular		OBC									
1542	BETWEEN KM STONE 59 TO 61 ON NH-44 (OLD NH-1) RHS DELHI TO PANIPAT (NOT BELOW FLYOVER)	SONIPAT	Regular	150	Open SC	DC CFS	35	45 45	1575	25	75	DRAW OF LOTS	15	5
1543	BETWEEN KM STONE 54 TO 58 ON NH-44 (OLD NH-1) LHS DELHI TO PANIPAT (NOT BELOW FLYOVER)	PANIPAT	Regular	150	-	-				-			15	5
	BETWEEN KM STONE 80 TO 84 ON NH-44 (OLD NH-1) RHS DELHI TO PANIPAT (NOT BELOW FLYOVER)		Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	-	4
1545	BETWEEN KM STONE 68 TO 72 ON NH-44 (OLD NH-1) RHS DELHI TO PANIPAT (NOT BELOW FLYOVER)	PANIPAT	Regular	150	OBC	DC	35	45	1575	25	75 75	DRAW OF LOTS	15	5
	BETWEEN KM STONE 112 TO 120 ON NH-44 (OLD NH-1), (LHS DELHI TO AMBALA)	KARNAL	Regular	189	Open	DC	35	45	1575	25		DRAW OF LOTS	15	
1547	WITHIN MUNICIPAL LIMITS IN KARNAL RHS OF NH-44 (OLD NH-1) (LHS DELHI TO AMBALA) BETWEEN MADHUBAN GATE HARYANA POLICE ACADEMY & NAMASTE CHOWK KARNAL ON NH-44 (OLD NH-1) (RHS	KARNAL	Regular	105	SC PH	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1548	FROM DELHI TO AMBALA)	KARNAL	Regular	175	OBC PH	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1549	WITHIN MUNICIPAL LIMITS IN KARNAL RHS OF NH-44 (OLD NH-1) (RHS DELHI TO AMBALA)	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1550	KARNAL CITY MAIN ROAD (BETWEEN NAMASTE CHOWK & MEERA GHATI CHOWK)	KARNAL	Regular	130	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1551	KARNAL CITY MAIN ROAD (BETWEEN TAU DEVILAL CHOWK & MAHARANA PRATAP CHOWK)	KARNAL	Regular	130	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1552	BETWEEN KM STONE 76 TO 79 ON NH-44 (OLD NH-1) RHS DELHI TO PANIPAT (NOT BELOW FLYOVER)	PANIPAT	Regular	150	SC	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1553	BETWEEN KM STONE 42 TO 45 ON NH-44 (OLD NH-1) (LHS DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1554	BETWEEN KM STONE 35 TO 38 ON NH-709 (LHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1555	BETWEEN VILLAGE JHAROTH TO ROHAT ON NH-334B (LHS)	SONIPAT	Regular	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
1556	BETWEEN KM STONE 37 TO 40 ON NH-44 (OLD NH-1) (RHS DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1557	BETWEEN VILLAGE JHAROTH TO ROHAT ON NH-334B (RHS)	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1558	BETWEEN KM STONE 34 TO 37 ON NH-44 (OLD NH-1) (LHS DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1559	RHS BETWEEN SAMPLA CHOWK TO SONEPAT CHOWK ON NH-334B (KHARKHODA BYPASS)	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1560	HUDA SECTOR 24 (WML)	PANCHKULA	Regular	115	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1561	BETWEEN KM STONE 34 TO 38 ON NH-352A (NOT UNDER FLYOVER)	SONIPAT	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1562	BETWEEN KM STONE 29 TO 32 ON NH-44 (OLD NH-1) (RHS DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1563	BETWEEN KM STONE 38 TO 42 ON NH-709 (LHS FROM PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1564	VILLAGE KURAR IBRAHIMPUR ON NH352A	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1565	BETWEEN KM STONE 42 TO 46 ON NH-44 (OLD NH-1) (RHS FROM DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	180	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1566	BETWEEN KM STONE 25 TO 28 ON NH 352A (SONIPAT TO GOHANA, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1567	PIAU MANIHARI TO NARELA, KUNDLI	SONIPAT	Regular	100	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1568	BETWEEN KM STONE 62 TO 66 ON NH-352A (GOHANA TO JIND)	SONIPAT	Regular	150	Open	DC	35	35	1225	25	75	DRAW OF LOTS	15	5
1569	BETWEEN KM STONE 34 TO 38 ON NH -709 (RHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1570	SECTOR 18 JAGADHARI	YAMUNANAGAR	Regular	100	SC CC 1	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3
1571	BETWEEN KM STONE 42 TO 46 ON NH-709 (LHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1572	NOVELTY ROAD KARNAL (WML)	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1573	TRANSPORT NAGAR KARNAL (WML)	KARNAL	Regular	105	Open PH	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1574	BETWEEN KM STONE 99 TO 103 ON NH-44 (OLD NH-1) (LHS PANIPAT TO AMBALA)	KARNAL	Regular	191	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1575	BETWEEN GHARAUNDA AND VILLAGE FURLAK , WML GHARAUNDA	KARNAL	Regular	126	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1576	PANIPAT CITY WML	PANIPAT	Regular	107	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1577	BETWEEN KM STONE 1 TO 3 ON CHAUTALA ROAD (ROAD CONNECTING NH-1 TO SH-16)	PANIPAT	Regular	107	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1578	KUTANI ROAD WML,PANIPAT	PANIPAT	Regular	110	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1579	DAYA NAND COLONY KARNAL CITY	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1580	BETWEEN KM STONE 45 TO 48 ON NH-44 (OLD NH-1) (LHS DELHI TO PANIPAT, NOT UNDER FLYOVER)	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1581	BETWEEN KM STONE 38 TO 42 ON NH -709 (RHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	SONIPAT	Regular	160	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
		•												

Manus Manu	1582	DETINETAL MARTANE AS TO AC ON AN TAO (DUE DANIDAT TO DOUTAK MOST INDED ELVOVED)	SONIPAT	Regular	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
Marie Mari		BETWEEN KM STONE 42 TO 46 ON NH-709 (RHS PANIPAT TO ROHTAK, NOT UNDER FLYOVER)	-	-							-				
Mathematical Section (1985) Math							-								
Part						•	-								-
Part				-			-								-
Mathematical Processing Conference Mathematical				-										-	
Second		·	-								-				
Page						-	-								
Seminarian seminaria				-			-				·				-
STATESTANDERS AND PROSESSION AND PROSESSION ASSESSION AS A STATEST PROPERTY AND PROSESSION AS A STATEST PROPERTY AND PROPER							+								
Mathematical Processing State of the Company of t		,													
Part		·		_							-			-	-
Part				-			-								
1909 1909				100							·				
Part		WITHIN 2 KMS FROM KHARKHODA ON KHARKHODA-ASSAUDHA ROAD	-				-								
No. 1		· ·	-	Regular							-				-
No.		· · ·		_			-				-				
MINE PRESERVE DEL MASCAL CHURCAS SCIUNTATION ASSOLUTION ASSOLUTI		WITHIN 2 KMS FROM AMBEDKAR CHOWK GOHANA TOWARDS GOHANA JIND ROAD		Regular	100	Open	-		20				DRAW OF LOTS	15	
WITHER SAME FROM MARKAMEN INTOVER TOXINGS SOUNT (INFO ON MISSAM) SOUNT Major 130	1599	JATTU RAM CHOWK, JAWAHAR NAGAR, TESHIL CAMP, WML PANIPAT	PANIPAT	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
NUMBER OFFICE ON INFORM PROPERTY OR COMMAN PANISH Page 130 Comman Comman Page		FROM KALUPUR CHUNGI SONIPAT TO MISSION CHOWK SONIPAT	SONIPAT	Regular							25			15	4
MINISTAND Major	1601	WITHIN 5 KMS FROM BAHALGARH FLYOVER TOWARDS SONIPAT (RHS ON NH334B)	SONIPAT	Regular	150	sc	CFS	35	35	1225	0		DRAW OF LOTS	0	3
MINE NO. M	1602	VILLAGE KAITH ON NH-709 (OLD NH-71) RHS FROM PANIPAT TO GOHANA	PANIPAT	Regular	157	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
Second S	1603	ARJUN NAGAR, WML PANIPAT	PANIPAT	Regular	103	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1066 WASH MAGAN, MUM. PARRET MAINT Major Maj	1604	VIKAS NAGAR, TEHSIL CAMP, PANIPAT	PANIPAT	Regular	103	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
STATE STATE COLONN, WILL PAIRWATE MAIRWATE Major Maj	1605	BHAGAT NAGAR, WML PANIPAT	PANIPAT	Regular	103	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
CAPTAN MAGAS, SALAR GAUB BAZAR, CLD HOUSING BOARD COLONY PAIRBAT	1606	VIRAK NAGAR, WML PANIPAT	PANIPAT	Regular	103	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
Part	1607	BATRA COLONY, WML PANIPAT	PANIPAT	Regular	103	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1810 OHANDER CHOWK, DESHIRAL COLONY, WHILE PANINAT	1608	CAPTAIN NAGAR, SALAR GANJ BAZAR, OLD HOUSING BOARD COLONY PANIPAT	PANIPAT	Regular	103	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
PANIPAT PANI	1609	BETWEEN KM STONE 49 TO 51, (LHS FROM DELHI TO PANIPAT) NH-44 (OLD NH-1), MURTHAL	SONIPAT	Regular	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1512 DR. MIX SCHOOL ROAD, MODEL TOWN ANIPAT	1610	CHANDER CHOWK, DESHRAJ COLONY, WML PANIPAT	PANIPAT	Regular	103	sc	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1613 ST ROAD, KISHAN PURA ROAD NO.78, GANNAUR 50NIPAT Regidr 103 Open CC 20 20 400 25 45 DRAW OF LOTS 15 1614 SETWEEN KM STONE 49 TO \$1, (RIS FROM DELHI TO PANIPAT) NH-44 (OLD NH-1), MURTHAL 50NIPAT Regidr 110 OBC CC 33 35 45 1575 00 0 0 DRAW OF LOTS 0 LAGE MALIK LIGRA KHERI, WILL PANIPAT ON UHA ROAD, OPPOSITE TOLI APARTIMENT PANIPAT Regidr 110 OBC CC 35 35 45 1575 00 0 0 DRAW OF LOTS 15 5 15 0 DRA	1611	PARKASH NAGAR, WML PANIPAT	PANIPAT	Regular	103	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
STATE STAT	1612	DR. MKK SCHOOL ROAD, MODEL TOWN	PANIPAT	Regular	103	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1615 VILLAGE MALIK UGRA KHERI, WML PANIPAT ON UHA ROAD, OPPOSITE TOI APARTMENT PANIPAT Regular 110 OBC DC 35 35 1225 25 45 DRAW OF LOTS 15 4	1613	BST ROAD, KISHAN PURA ROAD NO.78, GANNAUR	SONIPAT	Regular	103	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1516 NISHANPURA, NEAR KHADI ASHARAM PARIPAT Regular 110 Open DC 20 20 400 25 45 DRAW OF LOTS 15 5 1617 BETWEEN SUBZI MANDI AND BABAIL NAKA ON SANQLI ROAD, ON NH 79AD PANIPAT Regular 110 SC CFS 20 20 400 25 75 DRAW OF LOTS 15 5 1618 BETWEEN HUDG SUB STATION AND CHANDANI BAGHIPOLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1T PANIPAT Regular 110 SC CFS 20 20 400 25 45 DRAW OF LOTS 15 4 1619 BETWEEN HUDG SUB STATION AND CHANDANI BAGHIPOLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1T PANIPAT Regular 110 OBC DC 20 20 400 25 45 DRAW OF LOTS 15 4 1619 BETWEEN HUDG SUB STATION AND CHANDANI BAGHIPOLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1T PANIPAT Regular 110 OBC DC 20 20 400 25 45 DRAW OF LOTS 15 4 1620 BETWEEN HUDG SUB STATION AND SUB STATION AND CHANDANI BAGHIPOLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1T PANIPAT Regular 110 OBC DC 20 20 400 25 45 DRAW OF LOTS 15 4 1621 BETWEEN HUDG SUB STATION AND SUB STATION AND CHANDANI BAGHIPOLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1T PANIPAT Regular 110 OPEN DC 20 20 400 25 45 DRAW OF LOTS 15 5 1621 BETWEEN HUDG SUB STATION AND SUB S	1614	BETWEEN KM STONE 49 TO 51, (RHS FROM DELHI TO PANIPAT) NH-44 (OLD NH-1), MURTHAL	SONIPAT	Regular	150	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1617 BETWEEN SUBZI MANDI AND BABAIL NAKA ON SANOLI ROAD, ON NH 79AD PANIPAT Regular 1618 BETWEEN SUBZI MANDI AND BABAIL NAKA ON SANOLI ROAD, ON NH 79AD PANIPAT Regular 1619 BETWEEN HUDA SUB STATION AND CHANDANI BAGHPOLICE CHOWKI, HARIDWAR BYPASS (ILHS FROM NH-1 T) JUNCTION TO CHANDANI BAGH POLICE CHOWKI) BETWEEN HUDA SUB STATION AND CHANDANI BAGHPOLICE CHOWKI, HARIDWAR BYPASS (ILHS FROM NH-1 T) PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGHPOLICE CHOWKI, HARIDWAR BYPASS (ILHS FROM NH-1 T) PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYPASS ROAD (ILHS FROM CHANDANI PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT Regular 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT REGULAR 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT REGULAR 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT REGULAR 1610 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI TO BABAIL NAKA, HARIDWAR BYE PASS ROAD (ILHS FROM CHANDANI PANIPAT REGULAR 1610 BETWEEN HUDA SUB STATION AND AND AND AND AND AND AND AND AND AN	1615	VILLAGE MALIK UGRA KHERI, WML PANIPAT ON UJHA ROAD, OPPOSITE TDI APARTMENT	PANIPAT	Regular	110	OBC	DC	35	35	1225	25	45	DRAW OF LOTS	15	4
1618 BETWEEN BMARLA CHOWK AND OLD CANAL, MAIN JATAL ROAD, PANIPAT Regular 110 SC CFS 20 20 400 0 0 0 DRAW OF LOTS 0 3 3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1616	KISHANPURA, NEAR KHADI ASHARAM	PANIPAT	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1619 BETWEEN HUDA SUB STATION AND CHANDANI BAGH POLICE CHOWKI, HARIDWAR BYPASS (LHS FROM NH-1 T JUNCTION TO CHANDANI BAGH POLICE CHOWKI) 1620 BETWEEN CHANDANI BAGH POLICE CHOWKI TO BABALL NAKA, HARIDWAR BYE PASS ROAD (LHS FROM CHANDANI BAGH POLICE CHOWKI TO BABALL NAKA, HARIDWAR BYE PASS ROAD (LHS FROM CHANDANI BAGH POLICE CHOWKI TO BABALL NAKA). 1621 BETWEEN DAMLA - VISHWAKARMA CHOWK, SH 6, LHS ROM DAMLA TO YAMUNA NAGRA 7AMUNANAGRA 7AMUNANAGRA 7AMUNANAGRA 7ARANL 7AR	1617	BETWEEN SUBZI MANDI AND BABAIL NAKA ON SANOLI ROAD, ON NH 79AD	PANIPAT	Regular	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
100 100	1618	i i i i i i i i i i i i i i i i i i i	PANIPAT	Regular	110	SC	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
BAGH POLICE CHOWK! TO BABALI NAKA) 1621 BETWEEN DAMILA - VISHWAKARMA CHOWK, SH 6, LHS ROM DAMILA TO YAMUNA NAGAR 7 AMUNANAGAR 7 AMUNANAGAR 7 Regular 110 Open CC 2 110 Open CC 3 11	1619	JUNCTION TO CHANDANI BAGH POLICE CHOWKI)	PANIPAT	Regular	110	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1622 RAM NAGAR KARNAL CITY KARNAL CITY KARNAL Regular 100 OBC CC 1 DC 20 20 400 25 45 DRAW OF LOTS 15 4 1623 2 KM STRETCH ON RHS FROM MAHATMA JYOTIBA PHULA HANSI CHOWK TOWARDS KARNAL HANSI ROAD KARNAL Regular 126 SC CC 1 CFS 20 20 400 0 0 0 DRAW OF LOTS 0 3 1624 SHIV COLONY KARNAL CITY KARNAL CITY KARNAL Regular 105 Open DC 20 20 400 25 45 DRAW OF LOTS 15 5 1625 BETWEEN JUNDLA AND JALMANA ON NH709A KARNAL Regular 187 Open DC 35 45 1575 25 75 DRAW OF LOTS 15 5 1626 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B) SONIPAT Regular 150 OBC DC 35 35 1225 25 75 DRAW OF LOTS 15 4	1620		PANIPAT	Regular	110	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1623 2 KM STRETCH ON RHS FROM MAHATMA JYOTIBA PHULA HANSI CHOWK TOWARDS KARNAL HANSI ROAD KARNAL Regular 126 SC CC 1 CFS 20 20 400 0 D RAW OF LOTS 0 3 1624 SHIV COLONY KARNAL CITY KARNAL Regular 105 Open DC 20 400 25 45 DRAW OF LOTS 15 5 1626 BETWEEN JUNDLA AND JALMANA ON NH709A KARNAL Regular 187 Open DC 35 45 1575 25 75 DRAW OF LOTS 15 5 1626 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B) SONIPAT Regular 150 OBC DC 35 35 1225 25 75 DRAW OF LOTS 15 4	1621	BETWEEN DAMLA - VISHWAKARMA CHOWK, SH 6, LHS ROM DAMLA TO YAMUNA NAGAR	YAMUNANAGAR	Regular	110	Open CC 2	DC	35	35	1225	25	60	DRAW OF LOTS	15	5
1624 SHIV COLONY KARNAL CITY KARNAL CITY KARNAL Regular 105 Open DC 20 20 400 25 45 DRAW OF LOTS 15 5 1625 BETWEEN JUNDLA AND JALMANA ON NH709A KARNAL Regular 187 Open DC 35 45 1575 25 75 DRAW OF LOTS 15 5 1626 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B) SONIPAT Regular 150 OBC DC 35 35 1225 25 75 DRAW OF LOTS 15 4	1622	RAM NAGAR KARNAL CITY	KARNAL	Regular	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
1625 BETWEEN JUNDLA AND JALMANA ON NH709A KARNAL Regular 1.87 Open DC 35 45 1575 25 75 DRAW OF LOTS 15 5 1626 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B) SONIPAT Regular 150 OBC DC 35 35 1225 25 75 DRAW OF LOTS 15 4	1623	2 KM STRETCH ON RHS FROM MAHATMA JYOTIBA PHULA HANSI CHOWK TOWARDS KARNAL HANSI ROAD	KARNAL	Regular	126	SC CC 1	CFS	20	20	400	0	0	DRAW OF LOTS	0	3
1626 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B) SONIPAT Regular 150 OBC DC 35 35 1225 25 75 DRAW OF LOTS 15 4	1624	SHIV COLONY KARNAL CITY	KARNAL	Regular	105	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
	1625	BETWEEN JUNDLA AND JALMANA ON NH709A	KARNAL	Regular	187	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1627 WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (LHS ON NH334B) SONIPAT Regular 150 SC CFS 35 35 1225 0 0 DRAW OF LOTS 0 3	1626	WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (RHS ON NH334B)	SONIPAT	Regular	150	OBC	DC	35	35	1225	25	75	DRAW OF LOTS	15	4
	1627	WITHIN 5 KM FROM SONIPAT CHOWK TO KHARKHODA TOWARDS SONIPAT (LHS ON NH334B)	SONIPAT	Regular	150	sc	CFS	35	35	1225	0	0	DRAW OF LOTS	0	3

1628	CHIRAO ON NH709A (KARNAL-ASSANDH)	KARNAL	Regular	187	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
1629	ON WORKSHOP ROAD BETWEEN KAMANI CHOWK TO FOUNTAIN CHOWK	YAMUNANAGAR	Regular	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
1630	PEONT ON NH709A (KARNAL-ASSANDH)	KARNAL	Regular	187	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
1631	PINJORE TO PARWANOO ON NH-5 (LHS PINJORE TO PARWANOO)	PANCHKULA	Regular	190	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1632	SHEIKHUPURA MANCHURI ON NH709A (KARNAL-ASSANDH)	KARNAL	Regular	159	sc	CFS	35	45	1575	0	0	DRAW OF LOTS	0	3
1633	WML ON AMADALPUR ROAD FROM BUDIYA CHOWK	YAMUNANAGAR	Regular	110	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
1634	PINJORE TO PARWANOO ON NH-5 (RHS PINJORE TO PARWANOO)	PANCHKULA	Regular	190	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership

along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Office at the address

mentioned below. It is also hosted in the Corporation website www.iocl.com / www.petrolpumpdealerchayan.in and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular							
ROs	CFS	SC/ST	3000		CFS	SC/ST	2500
	cc	овс	5000		сс	ОВС	4000
	cc	Open	10000		cc	Open	8000
	DC	ОВС	5000		DC	ОВС	4000
	DC	Open	10000	Rural ROs	DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail.

Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

- 1. Gurgaon Divisional Office, Indian Oil Corp. Ltd. 83, Institutional Area, Sector 18, Gurgaon 122 015 / Contact No.: 0124-2342250 For locations mentioned in Sr. nos. 1 to 28, 81 to 273, 691 to 737, 799 to 1121
- 2. Hissar Divisional Office, Indian Oil Corp. Ltd. 83, First Floor, SCO 40-41, Sector 13P, Tosham Road, Hisar 125 005 (Haryana) / Contact No.: 01662- 246602 For locations mentioned in Sr. nos. 29 to 57, 274 to 436, 738 to 770, 1122 to 1309
- 3. Panipat Divisional Office, Panipat Marketing Complex, Vill-Baholi, PO Panipat Refinery, Panipat 132140 Haryana / Contact No.: 0180 2578633 For locations mentioned in Sr. nos.58 to 80. 437 to 690. 771 to 798. 310 to 1634